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--- Upon commencing at 9:31 a.m.


MR. KAISER:  Please be seated.  Mr. Stevens.


PRELIMINARY MATTERS:


MR. STEVENS:  Thank you, Mr. Chair.  Just before we begin, one administrative matter.  As the panel was ‑‑ the witness panel was looking at these spreadsheets, Exhibit K2.6 yesterday, they noticed one item in the notes that they would like to speak to a correction on.  Perhaps I could have Mr. Kacicnik speak to that.


MR. KAISER:  Thank you.


MR. KACICNIK:  Yes.  We would like to correct the formula for column 7.  If you look at the Exhibit K2.6 under "Notes", column reads as:  Column 7 equals column 2, plus column 6.  That should actually read as:  Column 7 equals column 4, plus column 6.


I would like to emphasize that the values in the table above are correct, as well as our testimony yesterday does not require any corrections.


MR. KAISER:  Thank you.


MR. STEVENS:  With that note, Mr. Chair, the panel is ready for cross‑examination.


MR. KAISER:  Thank you.  Mr. Shepherd.


ENBRIDGE GAS DISTRIBUTION INC. - PANEL 2; RESUMED


Anton Kacicnik; Previously sworn.


Jackie Collier; Previously sworn.


MR. SHEPHERD:  Thank you, Mr. Chairman.


MR. KAISER:  Is Mr. DeRose going first?


MR. DeROSE:  Sorry, Mr. Chair, I just indicated to Mr. Shepherd that I suspect that my short clarifications are going to be closer in line with the company's evidence, so he may want to go after me, just for the appropriateness of the order.


CROSS‑EXAMINATION BY MR. DeROSE:

MR. DeROSE:  Panel, my name is Vince DeRose.  I am here on behalf of IGUA and I have a few clarification questions about your K2.6.  And if I can start with -- on my copy, I have called it page 2 of 2.  It is the analysis of revenue-to-cost ratios for Rate 6.  


I will start just by reference with that one.  I think my questions will be applicable to both.


First of all, would you be able to confirm that the change in upstream cost allocation that occurred in 2005, part of the rationale for that change was to bring the revenue-to-cost ratios closer to zero -- or, sorry, closer to 1; is that correct?


MR. KACICNIK:  Like, the main driver for the upstream cost allocation change was to accurately reflect cost causality.


MR. DeROSE:  Okay.  To the extent ‑‑ well, let me put it this way.  If you look at 2001 to 2003 for Rate 6, in column 8 you have 1.06, 1.06 and 1.05.  Do you see that?


MR. KACICNIK:  Yes.


MS. COLLIER:  Yes.


MR. DeROSE:  And that revenue-to-cost ratio, did that indicate to you, because of it being 1.06, that it was ‑‑ that it required an adjustment?


MS. COLLIER:  I think historically, because that previous cost allocation methodology had been in place for a number of years, we were aware that the general service customers, Rate 1 and Rate 6, were over-contributing as it related to the allocation and recovery of the upstream transportation costs. 


So I wouldn't say it was the driver, as Mr. Kacicnik 

-- as to why we changed.  Certainly it was a benefit or a fallout after we did make the change, but there was a number of factors that came into play as to why we proposed that change in 2005, change in operating characteristics of the utility, you know, things that changed since the last ten, 15 years since that methodology had been put in place.


So there was a number of factors that led to us proposing that change, and certainly one of the fallouts or the benefits of that was bringing revenue-to-cost ratios for both Rate 1 and Rate 6 closer to 1.


MR. DeROSE:  Okay.  In terms of ‑‑ I know rate design and cost allocation, it is -- I take it you would agree with me it is not a science.  It is a little bit of an art; is that fair?


MS. COLLIER:  Yes, that is a fair statement.


MR. DeROSE:  Has Enbridge ‑‑ you as a company have never had revenue-to-cost ratios all at exactly 1, have you?


MS. COLLIER:  No, I don't believe so.


MR. DeROSE:  And is it fair to say that unless you had 100 percent fixed charges, that it would be impossible to have revenue-to-cost ratios of exactly 1?


MS. COLLIER:  I'm not sure of the comment regarding fixed charges.  You know, you can certainly try and set your revenue-to-cost ratios at 1 for all rate classes.


The fallout of that is significant rate impacts for certain rate classes, while other rate classes would potentially get a rate decrease in that, and really our object is not to set everyone at 1.  We want it in or around 1, because when you set them at 1, you are relying solely on the results of your cost allocation study, and, as we indicate in our evidence, there are other objectives that we are trying to achieve in rate design, that we think it is appropriate that some rate classes would be slightly above or below 1.


MR. DeROSE:  Okay.  Again, if I can take you to K2.6 on the Rate 6 spreadsheet, you have ‑‑ that class has gone from a revenue-to-cost ratio of 1.06 in 2001 to -- if I follow it to the bottom, in 2007, if we consider the 26 million, it is not 1; correct?


MS. COLLIER:  That would be the result if we didn't have the phase-in anymore.  I mean, currently the actual revenue-to-cost ratio is what you see in column 5.  For column number 8, where you are quoting the 1.06 number, if we had ‑‑ if we moved that impact of the cost allocation phase-in, that indeed is where they are at, but actually they're still paying for the phase-in.  So the revenue-to-cost ratio is actually column 5 for at least the next year.


MR. DeROSE:  Correct.  And the phase-in will be complete in October of this year; is that right?


MS. COLLIER:  That's right.


MR. DeROSE:  Okay.  And for Rate 1, again, if I take you to that spreadsheet, that is K2.6.  I have it as page 1 of 2, and, again, just the same comparison.  That revenue-to-cost ratio has moved from 2001 -- sorry, in fiscal 2001 from 1.02 to 1.01 in 2007.  


That 1.01 is both their revenue-to-cost ratio without considering the phase-in adjustment, as well as with the phase-in adjustment?


MS. COLLIER:  Yes, that's correct.


MR. DeROSE:  When you mentioned before that one of the ‑‑ that you will look to see whether the revenue-to-cost ratios are in or around 1, would you consider 1.01 as in or around 1, in your experience?


MS. COLLIER:  Yes, I think it is within the tolerance boundary, if you will.  Again, you know, the fallout of that is looking at the resulting rate impact as it relates to the Rate 1 rate class.


MR. DeROSE:  In terms of tolerance boundaries within your industry in the areas of rate design and cost allocation, are there generally accepted tolerance boundaries?


MS. COLLIER:  I mean, certainly from my experience, I'm not sure ‑‑ I'm not aware of any utility that has revenue-to-cost ratios of 1 for all of their rate classes, so there is definitely tolerance levels between the rate classes.  I'm not sure ‑‑


MR. DeROSE:  And 1.01, in your experience, is not outside of those boundaries?


MS. COLLIER:  No, it is not.


MR. DeROSE:  Thank you.  Those are all my questions.


CROSS‑EXAMINATION BY MR. SHEPHERD:

MR. SHEPHERD:  My button is being uncooperative here, Mr. Chairman.  I just have a few questions trying to clarify page 2 of this K2.6.  You have that in front of you?


MS. COLLIER:  Yes, we do.


MR. SHEPHERD:  Let's start with column 3.  Column 3 is labelled "Costs".  That's the costs you've allocated each year to that class using your standard cost‑allocation methodology; correct?


MR. KACICNIK:  That's correct.


MR. SHEPHERD:  And for the years 2001 through 2003, those costs are allocated on a different basis than years 2005 through 2007; correct?


MR. KACICNIK:  Correct.


MR. SHEPHERD:  The reason is that those first three years, you have the upstream transportation package allocated on the basis of volumes; right?


MR. KACICNIK:  No.  In 2001 through 2004, we allocated the upstream transportation costs based on peak demand.


MR. SHEPHERD:  Sorry, peak demand.


MS. COLLIER:  And annual.


MR. SHEPHERD:  That's right.  Then you changed it, starting in 2005, to volumes?


MR. KACICNIK:  Correct.


MR. SHEPHERD:  Okay.  So if we wanted to have column 3 describe costs consistently, we would deduct from column 3 in 2001 through 2003 the amount in column 7.  Is that right?  No.  Sorry.  In column 6.  


MS. COLLIER:  Yes.  


MR. KACICNIK:  Yes.  


MR. SHEPHERD:  Then if we did that, then that column 3 would be a consistent allocation of costs to class 6 for those years; right?  


MR. KACICNIK:  Yes. 


MS. COLLIER:  Assuming there was no other cost allocation changes. 


MR. SHEPHERD:  Of course. 


MS. COLLIER:  But, yes.  


MR. SHEPHERD:  That is the big one; right?


MS. COLLIER:  Yes, hmm-hmm.  


MR. SHEPHERD:  All right.  So the obvious question is, the first question is:  Why is there a big jump between the first three years and the next three years in terms of the cost costs allocated to that class?  Can you just give us a quick summary of what that big delta is?  


[Witness panel confers]


MR. KACICNIK:  There would be some growth in the volume, I guess, in Rate 6 customer rate classes, and there could be a change in TCPL tolls that could drive the total costs up.  I think those two would be maybe the two main drivers to see –- 


MS. COLLIER:  Well, sorry.  


MR. SHEPHERD:  Let's deal with both of us.  The first one which is growth, is more than offset by a drop in the normalized average use per customer, right which has been trending down over the last several years, that's in your evidence; right?  


MS. COLLIER:  No.  I think you need to look at it, a couple of things.  Certainly there's been, you know, the company has a revenue deficiency in each of those years which has needed to have been recovered from all rate classes.  So you naturally would see a trending up in the costs for all rate classes.  Because you are looking at costs to be recovered in 2001, relative to 2007.  That's six years of growth and cost recovery.  That has been increased year over year.  Part of that, I mean, my growth in the rate class, I mean not all of costs are driven on volume.  Some are driven on volume.  Some are driven on peak-day consumption for that rate class.  Others are driven on customer numbers.  So there would be a number of varying factors that would increase the costs to any class over the six year period.  As well as any other cost allocation changes, certainly that were made in the company.  


MR. SHEPHERD:  So this, it looks like it is by a 10 or 15 percent increase in costs allocated to class, that's just the normal factors?  There is no specific thing that happened?  You understand from the point of view of customers in that class, there was supposed to be a reallocation that would result in the costs going down for that class; instead, they jumped up.  So you have to wonder why.  


MS. COLLIER:  Again, I think you need to look at all changes that have happened.  I mean these costs also include other gas cost components - not commodity costs of the gas, but things like, as Mr. Kacicnik alluded to, TransCanada -- any upstream transportation costs, any peaking supplies that we had.  All of our load balancing costs which certainly swing year over year, depending on the price of gas.  Storage costs are also included in there.  


So it is not just the distribution costs of the utility.  It is also our load balancing and total transportation portfolio, which can swing significantly year over year.  


MR. SHEPHERD:  You have used the same example TCPL tolls but they have actually gone down in that period; right?


MS. COLLIER:  Yes. 


MR. SHEPHERD:  So that can be the reason, can it? 


MS. COLLIER:  Right, yes.  


MR. SHEPHERD:  All right.  Now then the other thing that is striking here is from 2006 to 2007, when you are collecting a deficiency which, as you say, is one of the factors, it is dropping again.  Why is that?  A big drop. 


MS. COLLIER:  Yes.  I have looked into that.  That is specifically because of a reduction in upstream transportation costs.  If you look at our 2006 portfolio relative to 2007, there's been quite a significant reduction in the level of those costs for the utility. 


MR. SHEPHERD:  So that is everybody?  


MS. COLLIER:  That is everybody, yes and you see that in the Rate 1 analysis as well.  Sorry, that's what I mean by the magnitude, how much things can swing from one year to the next and why I can't really pinpoint to you why you might see Rate 6 significantly increase.  But I mean like your question says why has it significantly decreased now?  There's no change in methodology or anything else.  


This particular one is driven by the total dollars or pool of costs for upstream transportation that the utility is forecasting to occur. 


MR. SHEPHERD:  Now, that particular item, the upstream transportation, is that in load balancing or is that in distribution charge?  


MS. COLLIER:  It is in the -- for our Rate 6 customer, they would see that, it is rolled up into -– sorry, it is in the load balancing/transportation charge.  We itemize it at various point in the evidence so I don't want to confuse you at all.  But load balancing and transportation are summed together to be called load balancing.  


MR. SHEPHERD:  Can you turn to, then, to column 6.  Now, column 6 for the first three years is, it is labelled phase-in adjustment, but for the first three years that's not phase in adjustment, right, because there was no phase-in. 


MR. KACICNIK:  No.  That number represents the dollar value that was over-allocated to Rate 6 due to the way we were allocating upstream transportation costs.  


MR. SHEPHERD:  Okay.  Then from 2005 onward you have this negative number which is the phase-in adjustment.  Can you describe just how that works?  Is it fair -- let me give you a suggestion.  


Is that the component of the over-contribution that still remains driven by upstream transportation?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  Okay. 


MS. COLLIER:  What that is saying in 2005, Rate 6 customers contributed an additional $8.7 million as a result of the phase-in.  


MR. SHEPHERD:  So of that, 10.3 million over-contribution, 8.7 million was because you weren't fixing upstream transportation right away, you were phasing it in over four years; right?


MS. COLLIER:  Yes.  


MR. SHEPHERD:  Then the next year, 2006, you phased in some more.  It looks like, if I understand this correctly, you phased in $3.5 million more.  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  Okay.  Then from 2006 to 2007, you phased in only 290,000 more, why is that?  


MS. COLLIER:  Because each year, as you do the phase-in, the level of phase in for each of the large volume rates was in a consistent number across the rates.  So most of the large volume rates are fully phased in now and we only have three classes that remain that are not phased in.  So the pool that you need to phase in shrinks as the large volume rates -- because the phase-in was a cap that we had to adhere to, it had to be nine percent increase on their total T service bill.  So some – 


MR. SHEPHERD:  For each class. 


MS. COLLIER:  For each class.  So some large-volume customers we could increase it five percent and they became fully phased in.  Other large-volume rates, you know, you were starting off with a 40 percent increase, so we had to phase in roughly 10 percent for four years so that is why that number is not consistent.  


It also, year over year, the phase in is in a static amount.  It is a function of, again, what the TCPL toll is at the time.  So when we were here in 2005, for example, that was based on our portfolio of transportation costs at the time.  Each year we've rebased that portfolio as the starting place and then added in the phase-in.  


MR. SHEPHERD:  But that should mean that you can phase in more, shouldn't it?  


MS. COLLIER:  In some years, yes, we have been able to. 


MR. SHEPHERD:  If the TCPL tolls go down, that means that the classes that are getting the additional allocation have more room for additional allocation; right?  


MS. COLLIER:  No.  How the step works is you first -- you have a weighted average transportation cost of say four cents, right.  And then everyone gets rebased down to what the new level would be, maybe it is 3.8 cents.  So that is what everyone should pay across the Board.  Then from that, you add in the phase-in.  So it is not -- 


MR. SHEPHERD:  That is not what I'm asking.  I'm asking about the nine percent test.  


MS. COLLIER:  Yes.  The nine percent would be on a smaller base, is that what you mean?  


MR. SHEPHERD:  No.  The nine percent was supposed to be year-over-year rate impact.  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  Right?  So if class 145, let's, say has a reduction in their upstream transportation costs because of lower TCPL tolls, and so their rates go down 10 percent, then you have 19 percent of room to get up to the cap; correct?  


MS. COLLIER:  I'm not sure the math would work that way.  I'd have to -- 


MR. SHEPHERD:  Close enough?  


MS. COLLIER:  Yes, yes.  


MR. SHEPHERD:  Okay.  Now, that figure of 5,181,000 in 2006, that is the amount left over at the end of the year?  No, I guess that is the total amount over-allocated --


MS. COLLIER:  For that year.


MR. SHEPHERD:  ‑‑ to Rate 6 for 12 months; right?


MS. COLLIER:  That's right, hmm‑hmm.


MR. SHEPHERD:  Then in 2007, you have 4,892,000, but the phase-in is complete as of September 30th; right?


MS. COLLIER:  Of this year, yes, it will be.


MR. SHEPHERD:  So that four-eight-ninety-two can only be nine months of over-allocation; right?


MS. COLLIER:  No, because rates are designed on a 12-month process, so when we put our evidence together back in July or August of last year, we were only at the second year of the phase-in.  So we calculated, then, what the third year of the phase-in would be, which occurred in October 1, 2006, and we assumed that would be in place in all of 2007, when in reality we know October 1, 2007 will be yet another phase-in, the final phase-in adjustment.


MR. SHEPHERD:  So I'm now completely lost.  Let me try it again.


This adjusting for the years is difficult for some people. 


MS. COLLIER:  Well, you have to remember our rates are always designed on a 12-month basis, regardless of the starting point.  So even when we look at the October 1, 2007 phase-in adjustment that we'll do, that will be reflected over a 12-month period, even though we know we will have a rate change January 1, 2008 because of the QRAM and again April ‑‑ so we can only design rates on a 12-month process.


MR. SHEPHERD:  I understand that, but this is not a chart of rates.  This chart is a chart of over- and under-contributions for a calendar year; right?


MS. COLLIER:  Yes.


MR. SHEPHERD:  So for the calendar year 2007, you are projecting, if I understand this correctly, that Rate 6 will over-contribute, due to upstream transportation, 4,892,000, right, for that calendar year?


MS. COLLIER:  Yes.


MR. SHEPHERD:  But that over-contribution will only take place in the first nine months; correct?


MS. COLLIER:  Yes.


MR. SHEPHERD:  Okay.  So then I should gross that up to see what the annual impact is.  If the nine-month over-contribution is 4,829,000, doesn't that mean the 12-month over-contribution is 6-1/2 half million?


MS. COLLIER:  Part of that four-eight-ninety-two we have been recovering in October, November, and December of 2006.


MR. SHEPHERD:  So that is the question I asked you.  The first question I asked you was:  That 4,892,000, is that the 12 months this ‑‑ the over-contribution for calendar 2007?  You said yes.  That is not correct, is it, because you collected some of it already in 2006?


MS. COLLIER:  But I am saying that ‑‑ I don't mean to confuse you or confuse the record -- is that when we filed evidence in the October 1, 2006 QRAM, that is when the actual number that went into your customers' rates was reflected.


We have to -- when we come up with our gas cost portfolio for 2007, it's based on a calendar year.  What happens in each QRAM, of course, varies depending on which quarter, but it is always a 12-month forecast going forward.


MR. SHEPHERD:  I understand that.  I'm not asking about the rates.  I am asking about the over-contribution in 2007; right?  So January 1st, 2007, you have certain rates in place.  It doesn't matter what they are.


MS. COLLIER:  Yes.


MR. SHEPHERD:  And you are allocating certain costs for the year.  As I understand it, you are proposing to allocate $368.8 million to Rate 6; right?


MR. KACICNIK:  Yes, that's correct.


MR. SHEPHERD:  For calendar 2007.


MS. COLLIER:  Hmm‑hmm.


MR. SHEPHERD:  You are planning to collect 373.8 million from that class in calendar 2007?


MS. COLLIER:  Yes.


MR. SHEPHERD:  The difference is $5 million?


MS. COLLIER:  Yes.


MR. SHEPHERD:  So for nine months, you are going to still be phasing in upstream transportation?


MS. COLLIER:  Hmm‑hmm, yes.


MR. SHEPHERD:  You are not going to collect in those nine months 4,892,000, are you, on the phase-in amount?  How much are you going to collect in those nine months?


MS. COLLIER:  I guess I'm obviously not making myself clear.


The rates and the gas costs that will show in the 2007 filing, with is a reflection of this number here, don't actually go into place, because they're always superseded by the next QRAM.  So I would have to ‑‑ I think maybe it would be easier if I try to undertake and try to understand what you are asking.


But I am just saying that this number would not be identical, come ‑‑ for the month of -- or for the year of 2007.


MR. SHEPHERD:  I actually get about $3.5 million.  Does that sound about right to you?


MS. COLLIER:  I'm not sure.  Did you just prorate volume?  I'm not sure where that number came from.


MR. SHEPHERD:  I prorated volumes.  Your volumes for the first nine months of the year would typically be about 70 percent.  Multiply it out, it's about $3.5 million; is that right?


MS. COLLIER:  If that's the math, yes, hmm‑hmm.


MR. SHEPHERD:  Is that roughly correct?  I mean, am I in the right range?


[Witness panel confers]


MS. COLLIER:  Sorry.  I think I am misinterpreting, perhaps, what you are asking.


[Witness panel confers]


MS. COLLIER:  Sorry, we were just conferring about ‑‑ in October 2007, the 4.8 million will become zero; right?


MR. SHEPHERD:  Yes.


MS. COLLIER:  So you're asking, then, from January to October, and theoretically I would recover something less than the 4.8, but because it was agreed in the settlement agreement in 2005 that we would actually make the change in the October start of our old fiscal year versus our calendar year, I'm saying that that number is going to be something less.


And perhaps it is easiest for me to try to undertake a time line for you as to how that would work, as opposed to trying to come up with some numbers.


MR. SHEPHERD:  Let me tell you what I am driving at, because I looked at this chart and it looked like the over-contribution of Rate 6 is, you know, $1.95 or something -- $172,000.  And even I can't get excited about that.  


But if the real number in column 6 is 3-1/2-million dollars, then, in fact, the over-contribution is a million-and-a-half dollars for other purposes.  If it is a million-and-a-half dollars, then I have questions.


MR. KACICNIK:  Just a clarification.  Column 8 shows the situation as it will be as of October 1st, 2007.  So we are backing out the phase-in adjustment for 2007 and we are showing revenue to costs as they will be on October 1st, 2007.


MR. SHEPHERD:  What I am telling you is your numbers don't produce that result.  So I am trying to figure out how you get there if some of that $4.8 million has already been collected before the year started.  


That means that adjustment is not correct.  That's what I am trying to understand.


MR. STEVENS:  I wonder if it might be best at this stage, rather than going back and forth and back and forth, I think it is understood - and a review of the transcript will make it understood - what it is it you are looking for, Mr. Shepherd.  And I wonder whether this might be most appropriately followed up by way of undertaking.


MR. SHEPHERD:  Well, the difficulty is that if I am incorrect on this, on my assumption, then I have no further questions.  But if I am correct and there is a million-and-a-half dollars of over-contribution, I have questions about that.


I mean, if it is not possible ‑‑


MS. COLLIER:  Your revenue line is going to come down by the 4.8 million; right?  Your costs will stay the same.


MR. SHEPHERD:  I don't see how that could be.  I don't see how your revenue line could come down.  You have told us what your revenue is for the year, what you expect the revenue to be for the year from that class.  If that is not the revenue for the year, then clarify it.


MR. KAISER:  I understood that the 4.8 was recovered in the October-to-October period, not in the calendar period.


MS. COLLIER:  It is recovered that way, yes, but all I'm saying, in October ‑‑ the 4.8 might be a slightly different number because it just depends on what your gas cost portfolio is at the time.  That's all.  It is not a static number.  It moves as your level of TCPL tolls change or your level -- well, your forecast, sorry, pardon me, would be the same because it is your volumetric forecast.  But to the extent TransCanada tolls change, for example, with this next QRAM this number is going to change. 


MR. KAISER:  That is not Mr. Shepherd's question.  He is not worried about the fact that this is a forecast and he is dealing with the forecast. 


MS. COLLIER:  Yes. 


MR. KAISER:  His question is:  Is this amount getting recovered in the calendar year or October to October?  I thought you said October to October.  


MS. COLLIER:  Yes.  


MR. KAISER:  Even though you misspoke and said to Mr. Shepherd initially it was recovered in the calendar year.  It is not recovered in the calendar year; isn't that right?  


MR. KACICNIK:  That's correct.  


MR. SHEPHERD:  I wonder if I could get at this a different way, Mr. Chairman.  I think you clarified it well, so let me ask this.  


The figure of 5,064,000 in column 4, that figure is calendar 2007; correct?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  We have now established the figure of 4,892,000 is not calendar 2007; correct?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  I take it that means that that 172,000 in column 7 is not the correct calendar figure for 2007.  Is that right?  


MS. COLLIER:  Yes.  But for each of the years, then, that would have been the case, because we started to recover from October to October, for each of the phase-in years.  And what we are trying to show and depict with this is that, you know, everything is based on the 12-month forecast at the time.  And regardless of when the rate gets implemented, it is $5 million that your class is overcontributing for which will be gone as of October 1, 2007.  


And I think -- 


MR. SHEPHERD:  If that that 172,000 is not correct. 


MS. COLLIER:  Yes.  


MR. SHEPHERD:  -- then the overcontribution will not be gone October 1st.  That is what I am after.  


If that 4,892,000 is actually 3.5 million which is what I think it is -- 


MS. COLLIER:  But then we were collecting it -- we were overrecovering in 2006, what we are depicting on the exhibit as the 5.1 million.  Because you can't just slice it for the one year.  You have to go back then and look at what it was a year ago as well.  And that is where I think I am drawing the confusion here is, is you can't just look at it in isolation.  When we began this, then, you know, you undercontributed, if you will for those first three months.  


MR. SHEPHERD:  I am going to ask you to undertake then, as your counsel suggested, to provide the numbers for this chart on a straight calendar year basis.  


MS. COLLIER:  Okay, we can do that.  


MR. STEVENS:  We will do that for Rate 1 and for Rate 6, I think, to be fair.  


MR. SHEPHERD:  That's fine.  


MR. MILLAR:  That's undertaking J3.1, Mr. Shepherd, if you could, I think you have already done this but provide a pithy one liner to summarize the undertaking.  


UNDERTAKING NO. J3.1:  PROVIDE DATA IN EXHIBIT K2.6 ON 


A STRICT CALENDAR-YEAR BASIS


MR. SHEPHERD:  The pressure is on to be pithy?  


MR. KAISER:  Pithier.  


MR. SHEPHERD:  Now I am tongue tied.  Can you provide the data in Exhibit K2.6 on a strict calendar-year basis.  


Then I just have a couple of other brief questions.  You indicated, when you were answering Mr. DeRose's questions, that you have other objectives in rate design other than strict cost causality; right?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  That's not true of cost allocation, is it?  Cost allocation, the only objective is to get the cost allocation correct.  


MR. KACICNIK:  Yes, I would agree.  


MR. SHEPHERD:  Then in rate design, although you have other objectives such as minimizing rate impacts, your goal is to get everybody to 1.0, if you can.  Is that right?  


MS. COLLIER:  No, I wouldn't say our goal is to necessarily do that.  I think you are always going to have some adjustments to make.  One example I can give is, we need to always bear in mind that some of our customers are interruptible customers and they have the abilities to switch to alternative fuels.  


So if their rate increases are significant or the costs that they have are significant, then they would always have that ability to switch.  So that is one of sort of the objectives we look at in the package of things that, you know, what is the cost of gas relative to alternative fuel?  What is their total distribution bill, et cetera.  


The other thing is -- 


MR. SHEPHERD:  Let me just ask about this first. 


MS. COLLIER:  Yes.  


MR. SHEPHERD:  So an interruptible customer, you have a sort of a market test as well.  What's the market for competing fuels; right?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  And the way you respond to that is that the other classes, in effect, subsidize the rate for that customer sufficiently to make sure they don't switch.  


MS. COLLIER:  I'm not sure if "subsidize" is the word but I think that you have to look at it, if those customers are to switch and leave the system, then all customers' rates will go up as a result of that because we don't really shed costs because these customers have left the system.  So that is one thing we -- that is one of the interplays of many that we look at as we design the rate.  


MR. SHEPHERD:  I am coming to that.  But the point is that, if you have other customers pay more than their fair share of costs, in order that that particular class, an interruptible class pays less, that is a subsidy; but it is a subsidy because the incremental costs is still much lower, of having those interruptible customers.  


So everybody else is better off -- 


MS. COLLIER:  Yes, yes.  


MR. SHEPHERD:  -- because of that; right?  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  Okay.  How do you decide, then – it is the general service classes you will generally overallocate a bit to; right?  If you have to get some additional, put some costs somewhere or – sorry, recover some extra revenue somewhere, for a subsidy like what you are talking about, you are generally going to get that from the general service classes, because that is where the bulk of your revenues come from; right?  


MS. COLLIER:  Not necessarily.  I mean certainly, the general service class can absorb - when I say "absorb" - a lot more of some sort of shift in costs or in revenues, it's just the general size and nature of the general service customers, relative to the large volume.  


So to cause a one percent rate impact or shift to a residential customer or Rate 1 class is, you know, would be sort of a six to seven percent shift to an industrial class.  So it can absorb, in that sense, more of a shift in costs.  But I wouldn't say that it is necessarily always put to the general services.  It is spread amongst all customer classes, again bearing in mind rate impacts, et cetera.  


MR. SHEPHERD:  So, see that leads me to, and this is the thing that I didn't understand when I looked at this, one of the things I didn't understand.  Your as-filed information for 2007 shows that you were planning to get an overcontribution of 15.5 million from Rate 1, and only 2.7 million from Rate 6.  


In fact, with the upstream transportation you were actually going to get an undercontribution from Rate 6.  Why is that?  


MS. COLLIER:  Again, that was just one of the -- when we initially set the rates with our filing, one of the many factors that we looked at for the class.  As well, we were looking at what some of the drivers of the deficiency were when our deficiency was set at 167 million relative to 26 million or 82 million, that you are looking at today with these updated exhibits.  


So, again it wasn't a conscious dollar amount level.  It was more looking at rate impacts, revenue-to-cost ratios, rate stability for the classes, things of that nature.  


MR. SHEPHERD:  Sorry.  That doesn't help me a whole lot.  You made a decision, presumably you made it consciously, to have Rate 1 overcontribute and Rate 6 undercontribute.  Why?  


MS. COLLIER:  Again, I think it was just one of the -- again, that was one thing that was looked at.  It wasn't a conscious decision of over- or under-contribution.  


Again, we were trying to recover a deficiency of $167 million and bearing in mind a number of other different factors as well -- I don't have a definite answer as to why that occurred.  


MR. SHEPHERD:  But when you reduce the deficiency that you are allocating to 26 million, you got them more in line.  


MS. COLLIER:  Yes.  


MR. SHEPHERD:  So you've got Rate 6 back to 1.0, according to your numbers.  


MS. COLLIER:  Yes.  Primarily the result of that was the rate impacts as well, Rate 6, in the ‑‑ this proposal has a very minor rate impact, I would say, as does, in our view, the residential rates.  So we had that ability to make some adjustments there.


MR. SHEPHERD:  Well, your as-filed had the delivery rates for residential going up 21 percent and delivery rates for Rate 6 going up 16 percent.  So presumably you had already decided that Rate 6 could handle less than Rate 1 in a rate increase; is that right?


MS. COLLIER:  Yes.  Again, it was looking at some the drivers of the deficiency in the initial filing.  I mean, some of it just comes from the cost allocation study itself, certainly, and what are some of those drivers of the deficiency and how to recover it.


MR. SHEPHERD:  Thank you, Mr. Chairman.  Sorry to take so long.


MR. KAISER:  Thank you, Mr. Shepherd.  Ms. Girvan, do you have questions?


CROSS-EXAMINATION BY MS. GIRVAN:

MS. GIRVAN:  Yes, thank you, Mr. Chairman.  I have just a couple of questions.  


Ms. Collier, just in terms of the upstream transportation fees, I just want to be clear I understand.  If 2007 forms the base for an incentive regulation, the phase-in will be complete in those base rates, is that correct, so that there won't be any need for any outstanding adjustments?


MS. COLLIER:  Yes.  Well, yes.  The October 1, 2007 is the final period for the phase-in adjustment, so everyone should be fully phased in.  So that would not be a factor in incentive regulation rates.


MS. GIRVAN:  Okay, thank you.  When I look at schedule K2.6, the spreadsheets that everyone has been referring to, the final line sets out the revenue-to-cost ratios assuming a reduction in the filed deficiency of 26 million; is that correct?


MS. COLLIER:  Yes.


MS. GIRVAN:  So it is likely that, or possible that the 26 million will change as a result of this proceeding and the Board's ultimate decision; is that correct?


MS. COLLIER:  Yes.


MS. GIRVAN:  So can you just explain, briefly, what process the company will go through to set rates based on the final Board decision?


MS. COLLIER:  Certainly.  Pardon me.


MS. GIRVAN:  I guess my point is, really, these numbers are all going to change at the end of the day?


MS. COLLIER:  Yes.  Certainly they will change bearing the outcome of the Board's final decision.


As I stated yesterday in my opening remarks, that we will try and maintain similar to revenue-to-cost ratios as we set the final rates from the Board decision.


MS. GIRVAN:  Okay.


MS. COLLIER:  But the process would be to take the Board decision, see where they have made adjustments.  That gets factored into the cost allocation study, and then we begin the rate design process again.


MS. GIRVAN:  So the first process is to take the Board's decision and feed it into your cost allocation study --


MS. COLLIER:  Hmm‑hmm.


MS. GIRVAN:  -- using the allocators that are embedded in that cost allocation study, and then you come up with your final rates.  But beyond that, there may be some need for adjustment.  Can you explain how you would go through that?


MS. COLLIER:  Again, we would look at what the results of the cost allocation study yielded for each of the rate classes, and then we would potentially need to make some adjustments to bring the revenue-to-cost ratios in line to what we are proposing today.  So there may be adjustments to each of the rate classes upward or downward.  


It is difficult to know the level or the magnitude, because I am not sure how the Board is going to rule on certain types of costs, and different costs have different cost drivers that allocate costs.


MS. GIRVAN:  An example might be that all of the adjustments sort of flow to Rate 1 or all of the adjustments flow maybe evenly across, depending on what the allocator is; is that how it works?


MS. COLLIER:  Yes, that's correct.


MS. GIRVAN:  I just wondered if you can maybe take this away or possibly answer it now, but would Enbridge be willing to file details on the process you followed when the draft order is filed with the Board, just so that intervenors can get a sense of potentially what you've done in order to set final rates, what kind of adjustments you've made so that we can potentially comment on that?  Would you be willing to do that when you file the rate order?


MS. COLLIER:  Certainly.


MR. KACICNIK:  Yes, certainly.  And we do that every year.


MS. GIRVAN:  I realize that.


MR. KACICNIK:  Yes.  When the final Board order comes out, we will show tables explaining where we made the adjustments and you can follow those adjustments and compare them to the original filing.


MS. GIRVAN:  Okay.  I realize that.  It is just I think we are looking for maybe a little bit more in terms of sort of ‑‑


MS. COLLIER:  I don't think we explicitly ‑‑ certainly I know Mr. Kacicnik is right up and talks about where he has made adjustments to his costs.  On the rate design, we depict what the new revenue-to-cost ratios are.  I don't think we typically say what the adjustments are.


MS. GIRVAN:  That is really what I am asking for, if you could be more explicit when you do the final rate order.


MS. COLLIER:  Yes.


MS. GIRVAN:  Thank you.  Those are my questions.


MR. MILLAR:  Ms. Girvan, did you want an undertaking for that?


MS. GIRVAN:  It is up to Enbridge.


MR. STEVENS:  I'm not sure, Mr. Millar, that an undertaking would work, since it won't be filed during the course of the proceeding.


MR. MILLAR:  No, I think you are right.  So no undertaking?


MS. GIRVAN:  I think I believe her when she says she will make an effort to do that.  Thank you.


MR. KAISER:  Thank you.  Mr. Buonaguro.


CROSS‑EXAMINATION BY MR. BUONAGURO:

MR. BUONAGURO:  Thank you, Mr. Chair.


I would like to start with what I hope is a simple clarification.  I am looking at the appendix number 2 - B, I guess it is called - that was filed with the settlement proposal, which sets out the revenue-to-cost ratios for a number of rate classes based on a $26 million deficiency, and also based on an $82.1 million deficiency.


MS. COLLIER:  Yes, we have that.


MR. BUONAGURO:  I was doing the math on the over-/under-contribution by rate class, and under the $82.1 million scenario, when you look at the pluses and minuses in the over-/under-contribution for 2007 column, I get a surplus of $1.82 million.  So there is a total over-contribution, it appears, of $1.82 million.


I was wondering where that ‑‑ is there somewhere where that gets offset?


MS. COLLIER:  What you don't see here, and I think it was just an oversight, is you don't see Rate 125, which we now have customers in that rate class.  So I think that is probably why the numbers aren't adding to zero, which is what you would expect.


MR. BUONAGURO:  And I guess the same goes for the $26 million?


MS. COLLIER:  Yes.


MR. BUONAGURO:  Because there is a surplus there of 1.69?


MS. COLLIER:  Yes.


MR. BUONAGURO:  So I guess in theory, then, Rate 125 should be in there, and right now it is at minus 1.82 and minus 1.69, and then it adjusts slightly based on how many customers there are?  That's how I should take that?


MS. COLLIER:  Yes.


MR. BUONAGURO:  Okay, thank you.


What about Rate 300, the 300 series?  They're also not there.


MS. COLLIER:  Yes.  That would be a very small dollar amount, but, I mean ‑‑


MR. BUONAGURO:  So it is probably ‑‑ even if they were in, they would be at 1.0, basically?


MS. COLLIER:  Yes, yes.


MR. BUONAGURO:  Okay, thank you.  I can close that on my computer, now.  


Now a general question.  Mr. Shepherd took you through the Rate 6 schedule.  I have an unlabelled copy here, the K2.6.


MS. COLLIER:  Yes.


MR. BUONAGURO:  He took you through the Rate 6 part of it and he went through some of the interrelationships between the columns, and, for example, he suggested that a proper way to read or one way to read it was to deduct the phase-in adjustment from the costs in 2001, 2002 and 2003 to get the actual costs for 2001, 2002 and 2003, as an example of an adjustment you would make in terms of viewing it?


MS. COLLIER:  Yes.


MR. BUONAGURO:  I am going to assume that everything he talked about applies equally to the Rate 1?


MS. COLLIER:  Yes.


MR. BUONAGURO:  So that I don't have to try to recreate that conversation.


MS. COLLIER:  Yes, that is true.


MR. BUONAGURO:  The one thing that he mentioned specifically, though, in the Rate 6, you talked about from 2006 to 2007, in Rate 6 it goes from a deficiency of ‑‑ sorry, an over-contribution adjusted from 987 to 2,207 -- minus 987 to minus 2,207.  I believe your explanation for that was that there was a drop in transportation charges or tolls, or something like that?


MR. KACICNIK:  That comment related to the level of costs in column 3.


MR. BUONAGURO:  Okay.


MR. KACICNIK:  Column 7 is just backing out the amount of phase-in.


MR. BUONAGURO:  All right.  Okay, I may have misinterpreted, then.  


Now, I would like to take a short stab at trying to understand the phase-in adjustment question that the panel and Mr. Shepherd were trying to help you with or trying to help themselves with and I will be very short, if I can get the Board's indulgence.  


So as I understand it, for Rate 1 the phase-in adjustment for 2007 is $5 million.  


MS. COLLIER:  That's correct.  


MR. BUONAGURO:  And part of that was recovered October, November, December of 2006.  Right?  


MR. KACICNIK:  That's correct.  


MR. BUONAGURO:  So the remaining to be recovered in 2007, in rates, is I guess three quarters of – well, about $4 million?  No.  $3.5 million?  


MS. COLLIER:  If you take just a quarter of the volumes, yes. 


MR. BUONAGURO:  The $3.5 million to be recovered in 2007 is to be recovered in theory by October but in reality over the 12 months?  Or no?  


MS. COLLIER:  No.  Because the Rate will change on October 1, 2007.  


MR. BUONAGURO:  Okay.  So up to October, setting aside the fact there is some adjustments because of prices and such -- 


MS. COLLIER:  Yes. 


MR. BUONAGURO:  Of the 3.5 remaining to be recovered in 2007, something less than 3.5 will be recovered up to October.  Or 3.5 will be recovered. 


MS. COLLIER:  3.5 should be recovered then from January to September. 


MR. BUONAGURO:  So from September 29th, 2007, the balance will be zero. 


MS. COLLIER:  Hmm-hmm. 


MR. BUONAGURO:  Then the rates won't be recovering anything else. 


MS. COLLIER:  That's right.  


MR. BUONAGURO:  And you have an undertaking to show that?  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  Okay.  All right.  I think I understand.  Now, I sent by e-mail a document which unfortunately I only have two copies.  I have a copy for myself that I got from the Board because I had a printing problem at home last night and the Board Staff, I think, has a copy to put up on the projector.  Other people may have my e-mail.  I believe the panel has it. 


MS. COLLIER:  Yes, we received a copy this morning. 


MR. BUONAGURO:  I don't think the Board has a copy, unless they got it by e-mail.  


MR. MILLAR:  Exhibit K3.1, Mr. Chair.  


EXHIBIT NO. K3.1: VECC INTERROGATORY NO. 73 


FROM EB-2005-0001  


MR. KAISER:  Thank you.  


Do you copies for any of the other parties?  Do you need a copy, Mr. Shepherd?  


MR. SHEPHERD:  I have this actually, Mr. Chair.  


MR. KAISER:  All right.  


MR. BUONAGURO:  I apologize.  It is a two megabyte PDF file and my printer didn't like it.  


Now, part of the reason I put it in or we put it in is because I believe -- maybe you can confirm this -- and I can describe it first.  It is an interrogatory from last year's Enbridge case, and it includes, as part of the response, a number of the schedules, the revenue to cost schedules, Board-approved from 2001 to 2005.  I suspect a filed for 2006.  


MS. COLLIER:  That's right.  


MR. BUONAGURO:  Which formed the basis or at least some of them formed the basis for your analysis in the case 2.6.  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  Can you confirm that? 


MS. COLLIER:  Yes, that's correct.  


MR. BUONAGURO:  As I understand it, I don't want to get into the excruciating detail, but the ones that you used were the Board-approved revenue-to-cost ratio excluding gas supply commodity.  


MS. COLLIER:  That's correct.  


MR. BUONAGURO:  All right.  Which are labelled at the top of each schedule.  So if I want to go through and figure out what you are working from, those are the ones you are working from?  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  Right.  Then the other ones that are included are revenue-to-cost ratios for I guess you would call it everything?  Including commodity and including transportation and -- 


MS. COLLIER:  That's correct.  Of the attachment A, yes. 


MR. BUONAGURO:  Plus delivery.  So for example on page 1 of 8, that is one of them for 2005?  


MS. COLLIER:  Yes.  That would represent our total revenue requirement, including commodity cost to gas.  


MR. BUONAGURO:  Then what is simply marked as attachment B to the interrogatory is simply the delivery part, the distribution part of that equation.  Right?  


MR. KACICNIK:  It does appear so, yes.  


MR. BUONAGURO:  Right.  And I just point out that the revenue-to-cost ratios for the distribution aspect of it for, I guess this is filed 2006 and then Board-approved 2005, 2003, 2002 and 2001 for Rate 1 at least vary from a revenue-to-cost ratio of 102, 101, 1, 101 and 101.  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  Right.  So from a delivery point of view, the revenue-to-cost ratio has always been at 1.0 or above. 


MS. COLLIER:  That is what the schedules indicate, yes.  


MR. BUONAGURO:  I think this ties into Mr. Shepherd's point about reviewing -- looking at the over and under contribution based on the phase-in.  


Then if you -- part of the reason that you were just showing a 0.99 here in your table, K6 -- sorry, K2.6 has to do with the fact that you are looking -- you excluded the commodity but you haven't excluded the transportation. 


MS. COLLIER:  That's right.  You would need to look at the far column, column 8 to, I think, have a comparable number, if my assumption is what is into the distribution revenue here is same, but I think it is, yes.  


MR. BUONAGURO:  Okay.  Now, I am looking at Exhibit H1, tab 1, schedule 1.  


MR. STEVENS:  Excuse me just before we move on.  Would it be possible to give this an exhibit number.  Just so we keep track of it later on. 


MR. BUONAGURO:  I'm sorry you're right.  I thought he did actually. 


MR. MILLAR:  It is K3.1.  


MS. COLLIER:  Sorry, the exhibit was H1 -- 


MR. BUONAGURO:  H1, tab 1, schedule 1.  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  I am looking, in particular, at page 4 over to 5.  It talks about the three stages that you go through when you are determining the final proposed revenue-to-cost ratio.  


MS. COLLIER:  Hmm-hmm, yes.  


MR. BUONAGURO:  I think I understand it, but maybe I can ask you some questions about it.  


MS. COLLIER:  Sure.  


MR. BUONAGURO:  It looks like you take -- I am looking at the second stage where it says, at page 5: 

"At the second stage, the distribution deficiency/ sufficiency is allocated to the rate classes based on their allocated rate base."  

MS. COLLIER:  Hmm-hmm. 


MR. BUONAGURO:  Can you explain that a little bit more to me?  


MS. COLLIER:  Yes.  The process is we look at the total deficiency or sufficiency.  As it is indicated in step 1 and step 2, you set, then, your gas supply commodity, your load balancing and transportation charges, and pending the outcome of the cost allocation study.  What is left then is what we've called our distribution deficiency.  The first allocation of that is on the rate base allocator to the rate class and from there, then, adjustments are made.  


MR. BUONAGURO:  Is the rate base allocator based on pure allocation ab initio, as it were?  


MS. COLLIER:  Yes. 


MR. BUONAGURO:  So you allocate it and, in theory, it would be -- you would try to get a 1.0 across the board?  


MS. COLLIER:  Well, as I explained what our objective is not to get to 1.0 across the board.  But the first stage of allocating that deficiency is on the rate base allocator, and then the second step is to look at a number of factors, revenue-to-cost ratios rate impact, rate stability, et cetera, and then we would make adjustments deemed necessary.


MR. BUONAGURO:  Sorry I didn't mean to interrupt.  But the first step is using the cost allocation?


MS. COLLIER:  Yes.


MR. BUONAGURO:  And it doesn't care about market.  It doesn't care about rate shock.


MS. COLLIER:  That's right.


MR. BUONAGURO:  It doesn't care about any of those things.  It just cares about a proper allocation by rate class based on your methodology.  Therefore, you are starting at 1.0?


MS. COLLIER:  Oh, I see.  You are starting at 1.0, yes.


MR. BUONAGURO:  Which I think answers my follow-up question.  Does that mean that there is, in each time ‑‑ each time that you do a year's allocation, is it tied to the allocation of the previous year, from this point of view?


When you are talking about based on their allocated rate base, your answer or your agreement with me that you end up with a 1.0 at least to start with, and then you make adjustments after, doesn't mean that there is adjustments already built in based on the previous year's allocation?


MS. COLLIER:  Actually, sorry.  I think I might have misspoke myself.  When we use the rate base allocator, you don't get 1.0 across the board for everyone.  There are over- or under-contributions, because the 1.0 is looking at -- at that point, we are looking at our revenue at existing rates, because we haven't designed the rates relative to the allocated costs.


So at that point, we don't see 1.0 for each of the rate classes.  It is not until we then add the deficiency in at a rate class level that you see the overall revenue-to-cost ratios.


MR. BUONAGURO:  So there is a tie-in to the previous year's final allocation or final revenue-to-cost ratio?  Let me give you an example.


MS. COLLIER:  Yeah, okay.


MR. BUONAGURO:  You're saying that how far off it is from 1.0 this year, at least at the second stage, depends on how much you allocated or how much revenue you were trying to collect from them last year.  I think that is what you are telling me.


MS. COLLIER:  It could carry forward; is that what you mean?


MR. BUONAGURO:  Yes.


MS. COLLIER:  Yes.  It doesn't naturally correct itself, if that is what you mean.


MR. BUONAGURO:  Right, right.


MS. COLLIER:  Because what is embedded, then, in your existing rates is how you've set those rates from the previous year; right?


MR. BUONAGURO:  Right.  So there is an element of embedding under-collection or over-collection year to year, unless you make a conscious choice to adjust it at the third stage?


MS. COLLIER:  Yes.


MR. BUONAGURO:  Right.  I will move on to the third stage, then.  I take it from your answers today and in answers -- in your evidence and I think it is actually in an answer to one of our interrogatories that you make adjustments, and it is even in this paragraph.  They are based on various objectives, market acceptance, continuity, avoidance of rate shock, maintaining competitive position and improvement of the revenue-to-cost ratios.


I think Mr. DeRose suggested that this part of it, at least, as part of the whole, is an art rather than a science?


MS. COLLIER:  Yes, I agree with that.


MR. BUONAGURO:  Which suggests to me that there is some discretion involved.


MS. COLLIER:  Yes.


MR. BUONAGURO:  So people at Enbridge are exercising their discretion to depart one way or another from what the cost allocation tells me to do?


MS. COLLIER:  Yes, I would agree with that.


MR. BUONAGURO:  Right.  Now, the problem for me is that every time we talk about this discretion, we get the general, market sensitivity, rate shock, stability, but we don't get specific examples of when and who makes decisions and based on what evidence or what factors.


So at some point, somebody decides that they're going to send $5 million; in this year, they're going to send $5 million to Rate 1, presumably take $5 million of allocation from somebody else.


MS. COLLIER:  Yes.


MR. BUONAGURO:  Presumably based on one of these factors, but that is the end of the story.  We don't actually have the analysis in front of us.  I think this ties in to what Ms. Girvan asked you about, to do -- down the road I suspect -- I understood that to mean that you are going to give that kind of detail when you do the final analysis in this case.


MS. COLLIER:  Hmm‑hmm.


MR. BUONAGURO:  What I am interested in is how you exercise that discretion and on what basis you did it for this year.  Is there anything you can help me with, in terms of specific examples where -- for example, the one that I think you did give was Rate 170, where you said ‑‑ I think it is 170, the interruptible.


MS. COLLIER:  Yes.


MR. BUONAGURO:  Where you said, We end up with the cost allocation based on the model.  There may be some embedding, because they're always under-recovering because of market sensitivity, and then you take a look at it and you decide to adjust it to maintain market compatibility, I guess I will call it.


MS. COLLIER:  Hmm‑hmm, yes.


MR. BUONAGURO:  I expect that is your answer for Rate 170?


MS. COLLIER:  Yes.


MR. BUONAGURO:  Do you have examples, for all of the other under-recovery classes, of the types of decisions you made and on what basis?


MS. COLLIER:  Again, I think it is purely judgment on the part of the individuals in the rate design group, and it is based on our experience, what we feel is happening in the market place, et cetera.


I'm just leery of trying to isolate, like, you know, 100,000 was because of this or 2 million was because of that.  It is not quite down at that macro level.  It is more looking at the big picture, as I mentioned before, overall rate impacts for everyone, these objectives that are mentioned here, without mentioning them again.


So it is not quite that fine-tuning exercise that you are sort of leading.  It is more of a larger overall scoping, if you will, of the overall impacts and bearing in mind what is happening in the industry, cost allocation changes, some drivers of the deficiency.  


So it is a number of factors that interplay and balance it, really, because, you know, large volume rates are very sensitive to adjustments, as I indicated to Mr. Shepherd, versus, you know, general service rates.  The impact overall can bear a bit more.  


So it is really a balancing of a number of variables.  I just can't say it is one versus the other or the magnitude of one versus the other.  It's really looking at the overall results and sort of working backwards as to, you know, why has the revenue-to-cost ratio changed for one customer group versus another?  Is it a factor of a shift in cost drivers and that?  So it is analyzing it.  


We sort of do the results first, and then back into -- or, sorry, we see the results, and then we sort of try and understand why it has occurred, if it is appropriate that it has occurred, because in some instance it may be appropriate that its under-recovering or it's over-recovering, and we take it from there.


So I'm not sure if I answered your question, but that's sort of the process I'm leading to.


MR. BUONAGURO:  Okay.  I understood that to mean that we give you the general answer because it is sort of a general process.  I take that mean you don't have any ‑‑ there's no threshold principle for what constitutes rates you offer for any particular customer class, for example, which triggers a shifting of costs?


MS. COLLIER:  Yes.  I mean, we are conscious each year of the rate impacts and what we feel would be considered rate shock in one year versus another.


But, I mean, that is also -- you know, the other interplay of what happens is the impact on the customer's total bill versus the impact of what we see here as T service, because what we've shown as a T service impact on a residential customer's bill, in fact, you know, when you add in the commodity portion of their bill and you look at the overall impact, it is less than 1 percent on their total bill versus ‑‑ so there is a number of variables that are looked at.


MR. BUONAGURO:  In terms of bill impact, you're saying it is one of the factors.


MS. COLLIER:  Hmm‑hmm.


MR. BUONAGURO:  You actually look at industrial customers and say they can't afford it?


MS. COLLIER:  Well, not that ‑‑ I mean, I can't speak as to what they can afford or ‑‑ but certainly we look at the overall impact on all customer rate classes and on their bills, yes.  It is not isolated to just, What is the residential impact?


[Witness panel confers]


MR. BUONAGURO:  Did you want to ‑‑


MS. COLLIER:  Mr. Kacicnik was just saying an example of where we had to look at the overall impact on the rate classes is when we did the cost allocation change and the phase‑in adjustment, and some significant rate impacts, double digit rate impacts, were happening to our large volume, and then we felt it was appropriate to phase in those adjustments.


So he was just giving one of those examples.


MR. BUONAGURO:  And that is a good example, because one ‑‑ well, from my perspective, it is a good example, because, one, that is actually tied to a change in cost allocation.


MS. COLLIER:  Yes.


MR. BUONAGURO:  Right?  So in terms of attributing the cost to the industrial customers, it was as a result of a change in cost allocation methodology as opposed to an exercise in discretion; correct?


MS. COLLIER:  Yes.


MR. BUONAGURO:  Second, it was phased in as a result of the settlement, as I understood it.


MS. COLLIER:  That's correct.


MR. BUONAGURO:  Presumably all of the people representing the various rate classes agreed to what would be a reasonable burden for, for example, Rate 1 and Rate 6 to bear over the course of four years in order to avoid rate shock for the other classes. 


MS. COLLIER:  Hmm-hmm. 


MR. BUONAGURO:  But for the rest of the -- for the rest of the overcollection, I guess, overallocation to Rate 1 or Rate 6 or whoever it is being allocated, that is not the case.  In this case we have $5 million, which is being allocated above a revenue-to-cost ratio of 1 to Rate 1, based on the various factors but nobody has agreed to it.  


MS. COLLIER:  Yes.  


MR. BUONAGURO:  It isn't because of any particular change in cost-allocation methodology that you proposed this year; right?  


MS. COLLIER:  That's right.  


MR. BUONAGURO:  Right.  Now, tied to this embedding problem or what I perceive to be a problem, in terms of embedding, to some extent, an overcontribution one year and how it affects the next year, in terms of how you do revenue-to-cost analysis in stage 2, I have a concern about going into the incentive regulation regime in the next X number of years, having an additional $5 million embedded in the revenue-to-cost ratio for Rate 1.  


Can you address that, my concern?  


MS. COLLIER:  Sorry, just one moment.  


[Witness panel confers]  


MS. COLLIER:  I think there has been no -- to my knowledge, we haven't had a discussion as to how incentive regulation will play out as it relates to revenue-to-cost ratios and rates, and that.  So I am not sure how this overcontribution is set for 2007.  I'm not sure how that's going to play on, in the incentive regulation regime.  So I haven't given it thought, in that sense as to whether this $5 million will continue, if it will, or -- if there will be some revenue-to-cost ratio analysis during incentive regulation.  I really don't know.  I haven't heard any details on the rate design aspect of it.  


MR. BUONAGURO:  So my concern is -- could be a real one, because you don't know what's going to happen.  


MS. COLLIER:  That's correct.  


MR. BUONAGURO:  Okay.  


MS. COLLIER:  On the same token, I guess, you know, depending where some of the cross-drivers may be for a deficiency or an operating change in the company, I mean, they could ultimately be undercontributing.  You just don't know what's going to happen.  Everything else, you are assuming, is going to remain static.  


So I think there is -- there will be a number of drivers and changes in the next couple of years.  


MR. BUONAGURO:  Understood.  


I think I am the last person on this panel.  Would it be okay to take the morning break, just so I can see if I have anything else?  


MR. KAISER:  All right.  We will take 15 minutes. 


MR. BUONAGURO:  Thank you.  


--- Recess taken at 10:50 a.m.


‑‑‑ Upon resuming at 11:10 a.m.


MR. KAISER:  Please be seated.  Mr. Buonaguro.


MR. BUONAGURO:  Thank you.  Those are my questions.


MR. KAISER:  Thank you.  Do you have any questions?


QUESTIONS FROM THE BOARD:

MR. VLAHOS:  Panel, questions in a couple of areas.


There was some exchange about the process that the Board uses to settle the rate order, and, Ms. Collier, you talked about that.


So I understand that you understand that the company files its draft rate order.


MS. COLLIER:  Yes.


MR. VLAHOS:  Which attempts to reflect the Board's findings?


MS. COLLIER:  That's correct.


MR. VLAHOS:  And then there is some analysis that you undertake in your own shop?


MS. COLLIER:  Yes.


MR. VLAHOS:  Before you actually submit those rate schedules, and those would reflect the certain revenue-to-cost ratios?


MS. COLLIER:  That's correct.


MR. VLAHOS:  So, typically, as I understand Ms. Girvan's concern, is that usually there is not a lot of substantiation in that filing in terms of what you have used.  Did I take that discussion correct?


MS. COLLIER:  I'm not sure if that was her concern.  On the cost allocation text, if you will, Mr. Kacicnik gives a detailed write‑up of various adjustments he made which reflect the Board's decision.  


On the rate design side, we also do a written draft, but I don't think I have, in the past, specifically identified what these adjustment amounts are, and I think she has asked me to highlight that.


Certainly the information and the supporting exhibits, the numbers, if you will, are always consistent with what we file in a rate case.


MR. VLAHOS:  Okay.  By "consistent", do you mean that you try to adhere to the revenue-to-cost statistics that you have prefiled?


MS. COLLIER:  Yes.


MR. VLAHOS:  You do?  So there is no deviation from that ratio for each of the rate categories?


MS. COLLIER:  No.  To the extent that ‑‑ I mean, I guess it is one of those implicit ‑‑ it doesn't necessarily always get specifically stated in a decision what the revenue-to-cost ratio should be.  


I mean, potentially it will this year, because it's become an issue, but I think it is implicit that it was in our evidence; therefore, it was accepted.  Therefore, as we design the final rates, we try and bring them as close as we can to those numbers that we were proposing.


MR. VLAHOS:  Yes.  Do you feel, Ms. Collier, that the company would be assisted for the Panel, in every case, in every major rates case, to specify the revenue-to-cost ratios that it wishes to see as part of the draft rate order so that it would avoid another hearing within a hearing?


MS. COLLIER:  My question ‑‑ or my concern, I guess, with that is that that that would relate to that particular year.  As we would bring forth, then, evidence ‑‑


MR. VLAHOS:  I understand that.  I am talking about this test year.


MS. COLLIER:  This test year?


MR. VLAHOS:  Right.


MS. COLLIER:  If the Board were to indicate to us what the revenue-to-cost ratio should be?


MR. VLAHOS:  Correct.


MS. COLLIER:  Certainly we would adhere to whatever, obviously, the Board rules, and our evidence is what it states.  If you do not rule specifically, we would adhere to what we've proposed, would be my comment.


MR. VLAHOS:  Okay.  So even the Board does not specify, you going to repeat those statistics in your filings, and then it is just a question of the parties being satisfied that, what, technically, mathematically, numerically, it is done okay?  There is no exercise of judgment in that exercise by the company?


MS. COLLIER:  No, I don't believe so.


MR. VLAHOS:  Well, maybe I will read the transcript again and see what Ms. Girvan's concern is.


MS. COLLIER:  Okay.


MR. VLAHOS:  But you would not be surprised if I were to tell you that the Board -- it is not unusual for the Board to actually specify those revenue-to-cost ratios?  I don't know whether we have done it recently, but it is not unusual?


MS. COLLIER:  It's not ‑‑ it has been done.  I do recall decisions where ‑‑


MR. VLAHOS:  Okay.  So let me move on, then, to what the company has actually asked for in its -- part of its original filing.  For that, would I be looking at Exhibit N1, tab 1, schedule 1, appendix B?  This is what was ‑‑ I was referred to it today.  That would contain what the company proposed as part of its original filing?  


Would that be of ‑- would that be the source we would go to, or one of the sources?


MS. COLLIER:  Sorry, the N1, appendix B?  Is that what you ‑‑


MR. VLAHOS:  Yes, appendix B of the settlement proposal.


MS. COLLIER:  Yes.  What you see in each of those page, 1 and page 2, is -- the $26 million is on page 1, so that is as the settlement package is before you today.


The 82 million is on what the company, as a result, outside of the settlement.  You don't see a similar exhibit based on the original filing of $167 million.


MR. VLAHOS:  Well, is there one that I can look at that would correspond row by row on those, for those exhibits?


MS. COLLIER:  For the original filing?


MR. VLAHOS:  Yes.


MS. COLLIER:  If you could turn to G3 ‑‑ sorry.  Pardon me.  Do you have a copy of it?  Sorry.


MR. VLAHOS:  Sorry, you said G3?


MS. COLLIER:  Sorry.  G2, tab 2, schedule 1.


MR. VLAHOS:  Just give me a minute, please.


MS. COLLIER:  Pardon me.  Schedule 2 will show the equivalent...

     MR. VLAHOS:  If Staff could be kind enough to show me a copy of it.


MS. COLLIER:  G2, tab 2, schedule 2.


MR. VLAHOS:  All right, thank you.  So if I went to look at ‑‑ compare the revenue-to-cost ratios for 2007, the rate classes, is this the right reference?


MS. COLLIER:  The one that is on the screen is correct, yes.


MR. VLAHOS:  It's landscape, so I will have to turn it around.


MS. COLLIER:  That's what I mean.  It's not laid out exactly the same, but I can sort of direct you to ‑‑


MR. VLAHOS:  In any event, maybe you could tell me, then, what ‑‑ based on the original revenue deficiency, what was the proposed revenue-to-cost ratio?  Let's speak of Rates 1 and 6.


MS. COLLIER:  You will see that in item number 9, columns 1 and 2.  So it was set at 1.02 and 1.01.


MR. VLAHOS:  Right.  Okay.  So then we can look at some of the other classes.


MS. COLLIER:  Yes.


MR. VLAHOS:  Which rate classifications are subject to comparative pressures?  Can you just name them?


MS. COLLIER:  Our interruptible rate classes are Rate 145 and Rate 170.


MR. VLAHOS:  So for those rate classes, then, you had 0.99 for Rate 145 and 0.83 for Rate 170; right?


MS. COLLIER:  Yes.


MR. VLAHOS:  Okay.  So now we can look at the first page of the Appendix B.


MS. COLLIER:  Yes.


MR. VLAHOS:  So for 145, I've noticed that it's gone from 0.99, which was part of the original filing, to 0.97; correct?  


MS. COLLIER:  Yes.  


MR. VLAHOS:  And for 170 it's gone from 0.83 to 0.82, in both cases the revenue to cost ratio is -- based on the $82 million deficiency scenario, it's gone down.  Right?  


MS. COLLIER:  Yes.  


MR. VLAHOS:  Same direction if you look at the $26 million scenario.  $26 million deficiency scenario. 


MS. COLLIER:  That's correct. 


MR. VLAHOS:  Although the revenue requirement has come down from the original one by $78 million or so, based on the settlement proposal –- 


MS. COLLIER:  Yes.  


MR. VLAHOS:  -- those ratios have changed down for 145, 170 and multiple classes which means if there were comparative pressures before, I would think that it would be the other way around.  Wouldn't it?  


MS. COLLIER:  Yes.  I guess one of the things you need to look at is, what were the cost drivers embedded in the 167 million and that resulted in the allocation of costs and then adjustments that needed to be made to the revenue-to-cost ratios versus what are in the cost drivers in the $26 million, because that underlying cost driver shifts the base of which you make the adjustment.  


So even though, you know, the deficiency has come down significantly in that, you see a slight reduction of everyone receiving the lower deficiency amount.  


MR. VLAHOS:  But Ms. Collier, we have not -- the settlement proposal does not contain any adjustments to the cost allocation study itself, does it?  


MS. COLLIER:  No, it does not. 


MR. VLAHOS:  It does not.  It takes it as filed?  


MS. COLLIER:  Yes.  


MR. VLAHOS:  All right.  


MS. COLLIER:  But the make-up of the $167 million deficiency, the drivers of that is quite different than the $26 million deficiency and those drivers are allocated in different ways, to each of the rate classes.  


MR. VLAHOS:  That's fine.  But you do have a target, though.  I mean you have a target.  It doesn't matter what adjustments have been made.  At the end of the day, the revenue-to-cost ratio should follow some kind of a target that you have. 


MS. COLLIER:  Yes, yes.  


MR. VLAHOS:  And that has gone down in reducing the revenue requirement, the revenue cost ratio for the interruptibles has gone down, which I would have thought if there was some comparative pressure concerns, that it would be the other way around because of the reduction of the revenue requirement.  


MS. COLLIER:  Hmm-hmm.  


MR. VLAHOS:  All right.  


Now you mentioned a couple of times with Mr. Buonaguro that -- and Mr. Shepherd -- I believe that the rate will change in October 2007.  Did I hear you correctly on that?  


MS. COLLIER:  Yes.  Our load balancing – well, actually all of our rates change with each QRAM so the rate will change October 1, 2007, to reflect the final fourth year of the cost allocation change as it relates to the upstream transportation. 


MR. VLAHOS:  So what would be the occasion for the October 1st, 2007 rate?  Clearly it's not going to be another rates case.  


MS. COLLIER:  It would be the QRAM application. 


MR. VLAHOS:  So as part of the QRAM process we actually look at cost allocation issues?  


MS. COLLIER:  No, we don't.  Well, not -- I guess if it became an issue we would, but clearly we haven't in the past.  


I think the fact that this has been highlighted in this case and that part of the adjustments that you're seeing for each of the rate classes is a factor of that phase-in, if it happens to be that, that's why it is happening with the QRAM application, because that is our mechanism to change those transportation rates to reflect the final phase-in.  So I wouldn't say revenue-to-cost ratios are an issue with the phase-in.  


Typically -- there's no impact on revenue-to-cost ratios unless you're doing a phase-in adjustment.  


MR. KACICNIK:  I would also like to clarify that the upstream cost allocation changes were fully implemented in 2005 rate case proceeding.  The phase-in is implemented through rate design.  So the revenues for the impacted rate classes are higher by the phase-in amount.  But costs are allocated as per 2005 decision.   


MR. VLAHOS:  So you don't see anything unusual in bringing non-QRAM matters into change in rates on occasions of QRAM changes?   


MS. COLLIER:  I'm not sure this is going to be an issue, come the October 1, 2007 QRAM.  We would consistently follow our approach of implementing the final fourth year of the phase-in, as well as any other QRAM related changes that we would do normally.  And that would be the outcome.  So the revenue-to-cost ratio certainly would change, naturally, from that.  But I am not sure it would be yet a further issue.  


MR. VLAHOS:  And how would -- 


MS. COLLIER:  I hope not.  


MR. VLAHOS:  Sorry.  How would a change in -- let's just take one class, Rate 6.  How would it change in October 2007?  So the rates would have to adjust to recognize, what?  


MS. COLLIER:  Okay.  If you turn to Exhibit K.2.6, which is where we have talked about the phase-in adjustments. 


MR. VLAHOS:  Right. 


MS. COLLIER:  If you want to look at Rate 6 then as the example.  


MR. VLAHOS:  Okay.  


MS. COLLIER:  So assuming all other things being equal, no other change to anything else, what would happen on October 1, 2007 is that revenues would come down by $4.8 million, $4.9 million as is reflected in column 6.  Your costs would stay the same.  That over/under contribution column then essentially becomes what you see in column 7 of $172,000 and your revenue-to-cost ratio would be 1.  


MR. VLAHOS:  Okay.  And I guess the same thing for 

the -- 


MS. COLLIER:  For Rate 1.  


MR. VLAHOS:  For Rate 1.  


MS. COLLIER:  Hmm-hmm.  


MR. VLAHOS:  And you take it that Mr. Buonaguro's problem is not necessarily that the rates may not change in October 1st, but rather if they do change, then this over contribution by Rate 1 would be locked in, in a scenario of this being the last opportunity to set rates before some kind of a -- 


MS. COLLIER:  What you see in Rate 1 is, in column 7, even after the phase-in.  This I think is the number he was concerned with, is you still have five million -- $5.3 million of overcontribution that is occurring.  


MR. VLAHOS:  Right.  


MS. COLLIER:  Because right now we are proposing that they over contribute by 10.3, five million is phase-in.  So even if we eliminate that 5.3 million would still be there in October 1, 2007.  


And I guess just to highlight sort of what we are discussing here.  I mean we are talking about adjustment of -- not to trivialize it or anything but of 5.3 million relative to costs of $844 million.  So I just want to give it some perspective, of the concern that's being drawn here.  


MR. VLAHOS:  Finally, is it fair to say that at least in the case of the interruptible rates they would always undercontribute - I don't want to call it subsidize – but undercontribute, relative to the costs?  Historically that has been the case, hasn't it?  


MS. COLLIER:  I think if that is historical, I would have to look it up, if it has, in fact.  I'm not even sure if it has been the case.  But I think to some degree you would expect to see that with interruptible rate classes. 


MR. VLAHOS:  To the extent there is any deviation from any of the other rate classifications, you would expect to see that in rates 145 and 170?  


MS. COLLIER:  Yes.  


MR. VLAHOS:  What other rates would be subject to comparative concerns?  Just those two?  


MS. COLLIER:  From the ability to switch to alternative fuel, yes, just those two. 


MR. VLAHOS:  What is 115?  


MS. COLLIER:  It's a firm service, a large volume, high load factor customers. 


MR. VLAHOS:  Why is that only 0.9?  Based on the 26 million revenue deficiency scenario.  


MS. COLLIER:  Again, we set that at what it was historically at the 2006 level.  Assuming that it was acceptable and approved.  And we tried to maintain the revenue-to-cost ratios at the 2006 level.  I think historically they've been under 1.0, as well.


MR. VLAHOS:  But is it part of the company's philosophy to approach unity as much as possible unless there are some concerns?


MS. COLLIER:  Yes, as much as -- certainly, as I indicated, not necessarily at 1.0, but you do try and gradually move it up, bearing in mind with, you know, Rate 115 you have a much smaller customer base.  So rate impacts do occur as soon as you shift very small dollars into that rate class.


So you have to weigh that, as well.  A $5 million shift to Rate 115 would be probably a very significant rate impact for them.


MR. VLAHOS:  And I will be able to ascertain what the impact would be somewhere else in the evidence?  I just don't have the weights here by way of volume or costs, or do I, for Rate 115, for example?  I don't have those in this exhibit that we are looking at; right?


MS. COLLIER:  If it were to be set at 1, is that what you mean, or anything ‑‑


MR. VLAHOS:  Well, relative weight of that classification by cost allocated to it vis‑a‑vis the total cost.  Where would I find that?


MS. COLLIER:  I have done a scenario just for my own backup, if you will, where I looked at setting the Rate 1 revenue-to-cost ratios fairly close to 1.


For example, just to bring Rate 15 up to 0.93 as the revenue-to-cost ratio, the rate impact jumps to 3.6 percent.  So that's to give ‑‑ that gives you a little bit of sensitivity of what it is like to try and adjust some of their rates up even just by 0.01 of a revenue-to-cost ratio.  


So they are quite sensitive, just given the size of the base that you are dealing with.  So they're sensitive.


MR. VLAHOS:  All right.  So to the extent that there are -- for reasons that you explained, to have a certain class or classes under-contribute, then someone else has to make that difference?


MS. COLLIER:  Yes.


MR. VLAHOS:  And that someone usually would be Rates 1 and 6, you're suggesting, because that is where the weight is?


MS. COLLIER:  They can certainly contribute more than other rate classes, I would agree there.  I wouldn't say that they're always the ones who bear the contribution, because, you know, we have shown that they've been slightly under 1 historically.  But certainly they can bear the bulk of the cross-subsidization.  


A $5 million impact on Rate 1 is very different than a $5 million impact on any other large volume rates.


MR. VLAHOS:  And the company's position is that 1.01, it is at or around unity?


MS. COLLIER:  Yes.


MR. VLAHOS:  Thank you very much, panel.


MR. KAISER:  Any re‑examination, Mr. Stevens?


RE‑EXAMINATION BY MR. STEVENS:

MR. STEVENS:  Yes, thank you.  It will be short.  Just a few questions.


There's been a lot of discussion this morning about this revenue-to-cost ratio issue, both in terms of the ratios and also in terms of the actual dollar numbers for over- or under-contribution.


In your view, has the Board, in its decisions and guidance in the past, focussed on the actual dollar numbers or on the ratios?


MS. COLLIER:  It's my experience they've focussed on the ratios versus the actual dollar amount.


MR. STEVENS:  Okay.  Why is that?


MS. COLLIER:  I think it's just generally been a benchmark that is used in the industry that you focus on looking at what your revenue-to-cost ratio is, because a revenue-to-cost ratio for the size of Enbridge, there may be an over-contribution of $10 million by Rate 1.  It would be very different for a smaller utility or a larger utility.


So I think they focus more on the principle of the revenue-to-cost ratio versus the ultimate dollar amount, because that would vary depending on the utility.


MR. STEVENS:  I see, thank you.


You spoke a bit about contextualizing this amount that we're discussing in terms of over-contribution for Rate 1.  I was hoping you could do it in a different way.  


I believe we're on the same page that the real over-contribution, once we net out the phase‑in adjustment for Rate 1 that we are talking about, is in the range of $5.3 million.


Can you contextualize that for us in terms of rate impact on Rate 1?


MS. COLLIER:  In terms of ‑‑


MR. STEVENS:  Or cost to Rate 1 customers, to put it a different way?


MS. COLLIER:  Certainly.  I think you are looking at 

-- Rate 1, of course, has a customer base of about 1.6 million.  So if you divide the 5.3 million by about 1.6 million customers, I can't do the math in my head, but I think it is probably about a $3.00 impact over the course of a year, give or take.  So I would say that it's -- in the grand scheme of things, that is very small, because the customer base is so large.


MR. STEVENS:  Thank you.  Just two more questions.  The first, if I could ask you, please, to turn to Exhibit G2, tab 2, schedule 2.  I believe that is the chart we were looking at previously with the as-filed revenue-to-cost ratios for 2007.


When you were talking with Mr. Vlahos, I believe the focus was on the interruptible rates, and you were talking about the reasons why the revenue-to-cost ratios for those rates might be somewhat different from 1.0.


As I look at this chart, I also note that Rates 9 and 125 are significantly different from 1.0.  I was hoping you could just explain the reasons for that.


MS. COLLIER:  Rate 9 represents our NGV class, or our natural gas vehicle.  So to some degree, they are susceptible to competitive pressures, if you will, from the service station.  I must admit I wasn't sort of thinking of them when I was having this discussion, but they would be ‑‑ there would be some competitive pressures with that.


With regard ‑‑ what you see with Rate 125 is that the costs that have been allocated to that class for 2007 are based on -- assumes a full year or ‑‑ a full year of costs to serve the customer that has been forecast to occur.  


What you see on the revenue side is that the customer is not actually coming on line until, I believe it is July of 2007.  So even though the costs represent a full-year allocation of the costs, the revenues represent a half year, because that's when they're coming on stream.


MR. STEVENS:  I see.  Okay, thank you.


Finally, when you were speaking again with Mr. Vlahos, you mentioned that you had done some analysis about the impact of moving Rate 1 to a situation where it was a 1.00 revenue-to-cost ratio.


I thought it might be helpful for everybody if you were willing to file the results of the analysis that you have done.


MS. COLLIER:  Certainly I can do that.


MR. STEVENS:  Thank you.  Those are my questions.


MR. KAISER:  Thank you, Mr. Stevens.  Do you have a number for that, Mr. Millar?


MR. MILLAR:  I'm sorry.  I was distracted.  Is it an undertaking or exhibit?


MR. STEVENS:  It would be an undertaking, I suppose.


MR. MILLAR:  So that will be undertaking J3.2, and if we could have a summary of the undertaking.


MR. STEVENS:  It is simply to file the analysis that Ms. Collier referred to, about the impact of moving Rate 1 to a revenue-to-cost ratio of 1.0 that she discussed when she was examined by Mr. Vlahos.


MR. MILLAR:  Thank you.


UNDERTAKING NO. J3.2:  FILE ANALYSIS OF IMPACT OF  


MOVING RATE 1 TO REVENUE-TO-COST RATIO OF 1.0.

MR. KAISER:  Do you have a problem with that, Mr. Shepherd?


MR. SHEPHERD:  Mr. Chairman, no.  I'm just sort of mentally congratulating Mr. Stevens on being the first counsel to get an undertaking from his own witness.


MS. COLLIER:  I'm not.


[Laughter]


MR. KAISER:  We will call it a directive.  I think that concludes this panel, Mr. Stevens; is that right?


MR. STEVENS:  That's correct.


MR. KAISER:  Thank you, panel.


MS. COLLIER:  Thank you.


[Panel withdraws]


MR. KAISER:  Are you ready to proceed with your next panel?


MR. STEVENS:  We are.  It will take just a moment of reorganization. 


MR. KAISER:  Please proceed.


MR. STEVENS:  Thank you.  I would like to begin by introducing the company's next witness panel.  Starting closest to me is Joel Denomy, in the middle is Tom Ladanyi, and on the far end is Irene Chan.  


This panel is here to speak to issues 2.3 to 2.6 on the issues list.  Those issues relate to forecasts of degree days, contract and general service revenue forecasts, and average use forecasts for Rates 1 and 6.  With your leave, Mr. Chair, I would like to begin with some direct examination.  


MR. KAISER:  Go ahead.

MR. STEVENS: I apologize the witnesses haven't been sworn so I suppose that is the first order of business.  


ENBRIDGE GAS DISTRIBUTION INC. WITNESS PANEL 3:


IRENE CHAN; SWORN. 


TOM LADANYI; SWORN.  


JOEL DENOMY; SWORN. 


EXAMINATION-IN-CHIEF BY MR. STEVENS:   


MR. STEVENS:  Starting with you, Mr. Denomy.  Could each of you, please, briefly describe your title and your role with Enbridge Gas Distribution.  


MR. DENOMY:  I'm the manager of economic and market analysis and, in this capacity, I'm responsible for the forecasts of a variety of economic and other variables used by the company for setting its budgets.  


The forecasting exercise is directly related to the issues include the degree day forecast and the average use models for Rate 1 and Rate 6.  


MR. STEVENS:  Mr. Ladanyi.  


MR. LADANYI:  Yes.  I'm manager of budgets and planning with Enbridge Gas Distribution.  I'm responsible for management of budgets including revenues, gas costs, capital expenditures, operating and maintenance costs.  I'm also responsible for plant accounting, including depreciation of plant assets.  


MR. STEVENS:  Thank you.  Ms. Chan. 


MS. CHAN:  I am manager of volumetric analysis and budgets and I am responsible for the preparation, consolidation and analysis of volume budgets and forecasts. 


MR. STEVENS:  Thank you.  I would also like to ask each of you if you could briefly describe your experience and qualifications that are relevant to the issues under discussion today.  Perhaps starting with you, again, Mr. Denomy.  


MR. DENOMY:  I have a Bachelor's and Master's degree in economics both from the University of Waterloo.  In my academic studies, I have taken numerous courses in statistics, econometrics and forecasting at both the undergraduate and graduate level.  


MR. STEVENS:  Mr. Ladanyi.  


MR. LADANYI:  I have a Bachelor of engineering degree from McGill University and I have a Master of applied science degree from the University of Toronto.  I am a professional engineer and a certified management accountant with over 32 years of experience in the gas utility industry.  


I have been testifying in front of this Board for the past 16 years in various hearings.  


MR. STEVENS:  Thank you.  Ms. Chan.  


MS. CHAN:  I have a Bachelor honours degree in economics from the University of Western Ontario and also a Master and Ph.D. degree in economics from Queen's University.  And I specializing in applied econometrics, monetary and international economics, and I am also a certified management accountant.  


MR. STEVENS:  Thank you.  Turning to the evidence.  First, Mr. Ladanyi and Ms. Chan, can you confirm that the evidence at Exhibits C1, tab 3, schedule 1 titled gas volume budget was prepared by you or under your direction.  


MS. CHAN:  Yes.  


MR. LADANYI:  Yes, it was. 


MR. STEVENS:  And that that evidence is correct.  


MR. LADANYI:  That evidence is correct, except for a few minor corrections which I am going to state right now.  


MR. STEVENS:  Thank you.  


MR. LADANYI:  If I may.  If you can please turn to Exhibit C1, tab 3, schedule 1, page 7.  Okay.  The paragraph 15, you will see the phrase company's utility growth plan in the third line.  It should read "Company's DSM plan."  


I have another small correction, if you can turn to Exhibit C5, tab 2, schedule 7, page 2 of 2.  First, there is a number of small corrections on this page.  Looking at column 1, the number for 2005 at the bottom of column 1 should be:  4,199.2.  


Moving over to column 3 for 2005, the number should read 135, in brackets.  Negative 135.  


Column 4, the number should read negative 3.1 percent, instead of 1.7 percent.  


Also the units in columns 1 and 2 being shown as cubic metres are actually 106m3, they're in millions of cubic metres.  


MR. STEVENS:  Thank you.  Subject to those 

corrections -- 


MR. LADANYI:  I actually have one more and Ms. Chan might have another correction.  Give me a minute.  


MS. CHAN:  Please turn to Exhibit C1, tab 3, schedule 1, page 13, paragraph 20.  If you look at the last sentence.   As a result of the change in the C5, schedule 7 those numbers will also need to be changed.  Please replace 0.3 percent of 13, 106m3 with 0.6 percent or 28, 106m3.  


MR. STEVENS:  Thank you.  Subject to those corrections, do you adopt this written prefiled evidence for the purpose of your testimony?  


MR. LADANYI:  Yes, we do.  


MR. STEVENS:  Thank you.  Mr. Denomy, could you please confirm that the evidence at C2, tab 1, schedule 1, titled “Economic outlook,” as well as the evidence at C2, tab 3, schedule 1, titled “Average use forecasting model for rate class 1,” along with the evidence at C2, tab 3, schedule 2, titled “Average use forecasting model for rate class 6,” and finally the evidence at C2, tab 4, schedule 1, titled “Budget degree days,” were prepared by you or under your direction.  


MR. DENOMY:  Yes.  


MR. STEVENS:  Can you confirm that this evidence and the interrogatories relating to that evidence are correct.  


MR. DENOMY:  Yes.  Except for the following minor corrections that were pointed out in Energy Probe interrogatories 3 and 5.  First, please turn to Exhibit C2, tab 4, schedule 1, paragraph 8, which is on page 3.  The word "temperatures" in the first sentence should be replaced with the words "degree days".


Second, if you could turn to page 5 of the same exhibit and refer to table 4, at the bottom of column 1, the reference to "average 1996 ‑ 2005", should be replaced with "average 1990 ‑ 2005."


At the bottom of column 5, the number 4.2 should be replaced with 3.0.


MR. STEVENS:  Thank you.  Subject to those comments, do you adopt this evidence for the purposes of your testimony?


MR. DENOMY:  I do.


MR. STEVENS:  Thank you.


Mr. Ladanyi, could you begin, please, by describing generally the relief that the company is seeking in terms of the issues that you are speaking to?


MR. LADANYI:  Yes.  Mr. Stevens, the company is seeking approval of the 20‑year trend method of forecasting degree days and the approval of the degree day forecast that result for 2007 from the use of the 20-year trend method.


The company is also seeking approval of the total gas volume budget of 11,757.5 106 m3 as set out in our evidence, table 1 of Exhibit C1, tab 3, schedule 1.


MR. STEVENS:  Starting, then, with the gas volume budget, then, Mr. Ladanyi, can you please describe for me how the gas volume budget is developed?


MR. LADANYI:  The total gas volume budget of 11,757.5 106 m3 is comprised of general service volumes of 7,625.8 106 m3 and contract volumes of 4,131.7 106 m3.


The budget will result in revenues for gas sales and transportation of $3.072 billion.  The general service volumes were derived using the company's developed regression models for Rates 1 and 6, and a forecast for Rate 9.


Rate 1 is the company's rate for residential buildings with no more than six dwelling units.  Rate 6 is the rate for apartment buildings with more than six dwelling units and for small commercial industrial institutional customers.


Rate 9 is the company's rate for NGV filling stations.  Larger customers with annual consumption of 340,000 cubic metres or greater enter into a service contract with the company and are referred to as contract customers.  These customers are in the 100, 200 and 300 series rates, such as 100, 110, 115, et cetera.


The volumes forecast in the contract market were prepared by our account executives in consultation with contract customers.


MR. STEVENS:  Thank you, Mr. Ladanyi.


Now turning to degree days.  Can you begin, Mr. Denomy, by just explaining what degree days are.


MR. DENOMY:  Yes, I can.  Heating degree day for a given day are the number of Celsius degrees that the mean temperature is below 18 degrees Celsius.  For example, if the mean temperature on a given day is equal to or greater than 18 degrees Celsius, then the number of heating degree days on that day will be zero.


If the mean temperature for a particular day is 15.5 degrees Celsius, then the number of heating degree days for that day will be 2.5.  


Heating degree days are used primarily to estimate the heating requirements of buildings.  All else equal, the higher degree days are, the greater the demand for natural gas.  Lower degree days will result in lower demand for natural gas, all else equal.


When I use the term "degree days", I will always be referring to heating degree days.


MR. STEVENS:  And moving from that, how then are degree days used by the utility in the rate‑setting process?


MR. DENOMY:  In order to set its volumes budget for the rate‑setting process, the company requires a point estimate of degree days for the test year.  Since the company's rates are set on a prospective basis, this necessitates a forecast of degree days for the test year.


MR. STEVENS:  Now, the evidence discusses a number of different types of degree days.  Certainly it discusses Environment Canada and gas supply degree days.  What's the difference between those, Mr. Denomy, and which ones are relevant for the issues at hand today?


MR. DENOMY:  Well, as you mentioned, Mr. Stevens, there are two types of degree days that the company is concerned with, Environment Canada degree days and gas supply degree days.  The distinction between the two types of degree days is due entirely to the calculation of the mean temperature for the day.


Environment Canada degree days use a mean temperature calculated as the average of the maximum and minimum temperature for the day.  Gas supply degree days use a mean temperature calculated as the average of hourly temperatures for the entire day.


A more thorough discussion of the differences between the two types of degree days can be found in response to Energy Probe Interrogatory No. 10 at Exhibit I, tab 5, schedule 10.


MR. STEVENS:  Over the last number of years, Mr. Denomy, what methods has the company used for rate-making purposes when it has been forecasting the number of degree days?


MR. DENOMY:  The de Bever method, first introduced by Dr. Leo de Bever on behalf of Board Staff and the company's EBRO 464 rate case, has been used by the company to forecast degree days since the 1991 test year.  This method is the last degree day forecasting method approved by the Board.  


As a result of ADR settlement negotiations, the company has not used the degree day forecast produced by the de Bever method over the past few years.  With the exception of the 2004 test year, the degree day forecasts have been settled for each and every test year from 2003 to 2006.


MR. STEVENS:  Now, I understand from the evidence that the company is not satisfied to continue using the de Bever method to predict degree days.  Can you briefly explain why that is?


MR. DENOMY:  Yes.  If you could refer to Exhibit C2, tab 4, schedule 1, page 11, table 6.


Table 6 contains a comparison of the different degree day forecasting methods the company has examined.  The forecasts produced by the de Bever method tend to be higher than the actual degree day experience, due, in part, to this method's reliance on older and much colder weather.  


In addition, when compared to the forecasting ability of other forecasting methods, the de Bever method is less accurate in its prediction of actual degree days.


MR. STEVENS:  Now, why is the company in this case proposing the use of a new method to predict degree days, rather than simply continuing to settle on a number for degree days as has happened in previous years?


MR. DENOMY:  The company has proposed the use of the de Bever with trend model in recent years.  However, in each year this method was proposed, a settlement was reached with respect to degree days and volumes budget.  


The company is pleased that settlements were reached with respect to these issues.  However, going forward, it is important that the company have a Board‑approved degree day forecasting method that will provide accurate degree day forecasts and better balance the forecast risk inherent in degree day projections.


MR. STEVENS:  So the company is proposing a new method in this case, as I understand it, which is called the 20-year trend model?


MR. DENOMY:  Yes. 


MR. STEVENS:  Can you explain the 20-year trend model that the company is proposing.


MR. DENOMY:  The 20-year trend model is a simple regression equation.  The 20-year trend method uses regression analysis to construct a trend line, a line of best fit, through the last 20 actual data points, the results of the regression equation, with a constant co‑efficient and a slope co‑efficient.  


The trend line produced by this equation is then extended to produce the degree day forecast.


MR. STEVENS:  Thank you.  Turning to you, Ms. Chan, what is the revenue deficiency impact of the company's proposal in this case?


MS. CHAN:  The change in the determination of degree day forecast using the 20-year trend model results in an increase in revenue deficiency of approximately $12.9 million relative to 2006 rates.


The current rates, which are the rates approved in the EB-2005‑0001 decision for the 2006 test year, are based on 3,745 degree days, which was a negotiated number in the settlement agreement for the 2006 test year.


In this rate case, EB-2006‑0034, the company is requesting Board approval of 3,617 degree days for the 2007 test year.


These forecasts represent an increase of 262 degree days relative to 2006 actual degree days of 3,355.


The forecast also represents a decrease of 128 degree days relative to 2006 Board‑approved degree days.


MR. STEVENS:  Thank you.  Now, Mr. Denomy, can I get you to turn to the page that you were referring to in the evidence which is Exhibit C2, tab 4, schedule 1 at page 11.  There is a table 6 there.  


Now, I understand that this table sets out different forecasting methodologies that the company has used as comparisons to the proposed 20-year trend.  I thought it would be helpful and I was hoping you could just walk us through, very briefly, what each of these -- how each of these models works.  


MR. DENOMY:  Certainly.  The company has examined nine different degree day forecasting methods and they are as follows:  The naive model, the naive model is the simplest of all models examined.  With the naive model, the degree day forecast for the test year is simply the last known actual.  


The ten-year moving average uses the average of actual degree days for the last ten years as the forecast of degree days for the test year.  


The 20-year moving average uses the average of actual degree days for the last 20 years as the forecast of degree days for the test year.  


The 20-year trend as discussed previously, the 20 year trend uses regression analysis to calculate a trend line which is used to forecast degree days.  


The 30-year moving average uses the average of actual degree days for the last 30 years as the forecast of degree days for the test year.  It should be noted that many weather services and weather tracking institutions use the 30-year moving average to calculate normal weather, but the 30-year moving average used in this way is not a forecast, but simply a reference value.  


The 50/50 model is the model currently used by Union Gas to forecast degree days.  This model is a combination of the 30-year moving average, and the 20-year trend.  The 50/50 model uses the average of the degree day forecasts from the 30-year moving average and the 20-year trend model as the degree day forecast for the test year.  


The de Bever model is a regression model that features a long-term component and a short-term component.  The long-term component takes the form of the constant in a regression equation, the short-term component is captured by a five-year weighted average of degree days lagged two years and the slope co-efficient of the regression equation.  


The de Bever with trend model is a variation of the de Bever model.  In addition to a long-term and short-term component, a trend is added as an explanatory variable.  


Finally, the Energy Probe model.  This is a variation of the de Bever with trend model; in addition to a long-term component, a short-term component and a trend, this method also includes a five-year average of degree days lagged two years.  


MR. STEVENS:  Thank you.  Now, finally, staying on the same page, could you please explain why the company asserts that the Board should adopt the 20-year trend model.  


MR. DENOMY:  Yes.  The company has examined a variety of different degree day forecasting methods, the ones I just previously mentioned, and ranked each based on accuracy, symmetry and stability.  


Accuracy is concerned with the difference between forecast and actual degree days.  Obviously a more accurate model is preferred to a less accurate model.  


Symmetry is concerned with bias in degree day forecasts.  A symmetrical model will not consistently over- or underforecast and will tend to have an equal chance of over or underforecasting.  


Stability is concerned with the volatility of the degree day forecasts.  A model that produces very stable forecasts is generally preferred, however models that perform well in this regard are typically not as accurate or symmetrical.  Based on the analysis presented in Exhibit C2, tab 4, schedule 1, page 11, table 6, the 20-year trend model ranks the best relative to a variety of other different degree day forecasting methods when ranked in terms of accuracy, symmetry and stability.  


The company is consequently asking the Board to approve the 20-year trend method as the degree day forecasting methodology for EGD.  


MR. STEVENS:  Thank you.  Mr. Chair, those are my questions for this panel.  


MR. KAISER:  Thank you, Mr. Stevens.  At this time we will take the lunch break and we will come back in an hour and proceed with cross-examination.  


MR. STEVENS:  Okay.  


--- Luncheon recess taken at 12:04 p.m.


‑‑‑ Upon resuming at 1:01 p.m.


MR. KAISER:  Please be seated.  Mr. Millar, are you up to bat first?


MR. MILLAR:  Yes, I think so.  Thank you, Mr. Chair.  Mr. Chair, I am going to be trying something a little bit novel today.  With a new technology that the Board has at its disposal, I thought I would try to do largely an electronic cross‑examination.  


So I have provided Ms. Ing and Ms. Mayer-Powell with the evidence references that I will be using, and they will be calling them up on the screen.  I believe all of these are in the prefiled evidence, anyway, so if we really need a paper copy for something, we can pull it up, but I thought I would give this try and we will see how it works.  So people may have to bear with me a little bit if there are any kinks in this, but we will see what happens.  


CROSS‑EXAMINATION BY MR. MILLAR:


MR. MILLAR:  Good afternoon, panel.  My name is Michael Millar.  I am counsel for Board Staff.  If I could start by asking for Exhibit A2, tab 5, schedule 2, page 5 of 6.


I see it pulled up on the screen now.  This is an update to the drivers of the sufficiency or deficiency that was filed I think in January of this year.


Are you familiar with this document?


MR. LADANYI:  Yes, we are.


MR. MILLAR:  If I look at the bottom, under the column "Changes In Volumes and Storage", I see a deficiency driver, I guess, of 16.1 million; is that correct?


MR. LADANYI:  Yes, we see that.


MR. MILLAR:  And in her examination-in‑chief, a question was asked of Ms. Chan asking how much of the revenue deficiency was driven by the new weather forecasting model, and I heard her say $12.9 million; is that correct?


MS. CHAN:  Yes, that's correct.


MR. MILLAR:  Could you help me out by breaking down the balance of that 16.1 million?  What else drives that deficiency?


MR. LADANYI:  Well, there is a number of factors that you see on that table, and I don't think that we can disaggregate them here specifically.  We can tell you roughly that they're -- within those numbers are included a $12.9 million deficiency regarding the use of the 20‑year trend model.  


We also have roughly about $7 million of deficiency due to decline in average use, and approximately $1 million of deficiency due to the loss of industrial volumes.  But these numbers are completely submerged within this column.  You cannot ‑‑ we cannot here disaggregate them.


So if you really want to know how to reconcile those numbers to 16.1, we will have to take an undertaking and have someone else at the office work it out, probably Mr. Culbert.


MR. MILLAR:  I may ask for an undertaking.  Let me just see if I can ask some follow-up questions.  You have given the numbers 12.9 million, 7 million and 1 million.  Obviously that adds up to more than 16.1?


MR. LADANYI:  Yes, it does, but there are some offsetting things in here.  That's what I'm trying to tell you, so you can't tell from here.


MR. MILLAR:  Okay.  Could I ask for that undertaking, then, to have that broken out?  I guess the three categories, correct me if I'm wrong, would be -- the first would be for the new weather forecasting methodology?


MR. LADANYI:  Correct.


MR. MILLAR:  The second would be declining average use?


MR. LADANYI:  Yes.


MR. MILLAR:  The third would be the loss of some contract volume?


MR. LADANYI:  Loss of contract volume customers.


MR. MILLAR:  Would there be any other elements to that?


MR. LADANYI:  There is also the offsetting customer growth.  So it is really depends what your question is, and we will try to answer the best we can.


MR. MILLAR:  I would like to see the breakout for those three variables that I just mentioned.  That will be J3.3, and to the extent I haven't already described this, I am asking for a breakout as between -- a breakout of the 16.1 million as between updated weather methodology, declining average use, and loss of contract volumes.


UNDERTAKING NO. J3.3:  TO PROVIDE A BREAKOUT OF 


$16.1 MILLION AS BETWEEN UPDATED WEATHER METHODOLOGY, 


DECLINING AVERAGE USE, AND LOSS OF CONTRACT VOLUMES.

MR. VLAHOS:  Mr. Millar, the 16.1, what is the reference?  I have that exhibit on the screen here.


MR. MILLAR:  You may actually not have it in your materials, Mr. Chair.  This is an updated exhibit.  It is the summary chart showing the drivers of the deficiency, and you can actually see in the bottom right corner it is turned on its side, the evidence reference.  It is --


MR. KAISER:  It is the bottom of the second column, is it, Mr. Millar?


MR. MILLAR:  Yes, the 16.1 million is at the very bottom of your screen, the second column.


MR. VLAHOS:  Okay.


MR. MILLAR:  Okay, thank you.  The next document I would like to look at is Board Staff Interrogatory 19.  That is Exhibit I, tab 1, schedule 19, starting at page 1.


I guess we're running into our first wrinkles on this, Mr. Chair.  As they're pulling it up, does the witness panel have this document in front of them?


MR. LADANYI:  Yes, we do.


MR. MILLAR:  Is there any chance that the Board Panel has it, as well?  It's not something that I would have normally asked you to pull up, because I am sort of just going to be reading a portion from it.


MR. VLAHOS:  I have it.  That's the ‑‑


MR. MILLAR:  Board Staff Interrogatory 19, Mr. Vlahos, Exhibit I, tab 1, schedule 19.  Here we go.


Okay, sorry about that.  If we could scroll down the page a little bit to show the response portion, I just have a couple of questions about how you prepare your contract volumes budget.  I assume these are questions for you, Mr. Ladanyi.


MR. LADANYI:  And Ms. Chan; together.  We worked on this together.


MR. MILLAR:  I will let whoever wishes answer.  In the second paragraph starting at the second sentence, it reads:  

"As described at Exhibit C1, tab 3, schedule 1, volumes in the contract market are forecast on an individual customer basis by account executives through the consultation with customers during the budget process.  Consequently, the account executives have incorporated the best known information about contract customers in the 2007 budget." 


I guess what I would like to explore a little bit is if I could get a little bit more information from you as to exactly what the account executives consider when arriving at the forecast.  Is it simply a matter of asking all of the contract customers what they anticipate their needs will be for the 2007 year?


MR. LADANYI:  Well, account executives actually don't work in our department, but I will try to answer the question the best I can.  


From what I understand, the account ‑‑ each account executive looks after several large volume contract customers, and they will contact these customers and essentially discuss with them what their planning operations for operating in 2007 are, whether they are planning plant expansion, are they planning to contract, are they going ‑‑ they discuss all of these things with them.


And they take this information and they input it into the data, then, that Ms. Chan will be using to assemble the total budget.


Now, she is going to review the information she gets from them to see if it's reasonable, discusses it with them, and I will then discuss the total with Ms. Chan.  I hope that helps you.


MR. MILLAR:  So it's not simply a matter of asking what their anticipated throughput needs will be and just adding that all up?


MR. LADANYI:  Well, in many ways it is.  It's just what I am trying to say, we're not going to accept some -- any and every number without checking what it is.  If it doesn't make any sense to us, we're going to investigate it further and go back to the account executives and ask them what's going on.


MR. MILLAR:  You will apply -- at least to some extent, you apply your own judgment to these numbers?


MR. LADANYI:  We're not going to adjust them, but we are going to check them, is what I'm trying to tell you.  We are not going to second guess, for example, General Motors.  If they tell us that they're planning a plant expansion or if going to close one of their plants, we're not going to second guess General Motors.  But if the numbers are very different, we are going to ask the account executive to confirm that the numbers are correct.


MR. MILLAR:  Okay, just so I am clear on this, you said you won't adjust, but you will question.


If a number looks wrong to you, are you saying that it won't be changed?


MR. LADANYI:  If the number looks wrong to us, we will ask the account executives to review what they've got, and then perhaps contact the customer again.  That's the extent of how we would do it.  


We are not going to ourselves make any other guess about how General Motors, for example, would be operating, or any -- or Domtar or any large industrial customer.


MR. MILLAR:  Let's imagine the account executives went back and discussed it with the customer again, and a customer stuck with that number.  Then you would accept it?


MR. LADANYI:  We would accept it, yes, we would.


MR. MILLAR:  Finally, I guess the customer's number is going to become your number?


MR. LADANYI:  Yes, it will.


MR. MILLAR:  Now, I know that ‑‑ who do the account executives work for?


MR. LADANYI:  They work for Ms. Sarnofski.


MR. MILLAR:  They don't work for you?


MR. LADANYI:  No, they don't.  She is listed as a witness on this interrogatory but we felt she probably wouldn't have much evidence so we didn't bring her here as a witness. 


MR. MILLAR:  I’ll try these questions of you.  Can you tell me if any portion of the account executives’ compensation is tied to the accuracy of their forecast contract volumes? 


MR. LADANYI:  I don't know that.  


MR. MILLAR:  Could I ask for an undertaking to find that out?    That is J3.4.  The undertaking is to determine if any portion of the account executives' compensation is tied to the accuracy of, I guess, their forecast contract volumes.  


UNDERTAKING NO. J3.4:  to determine if any portion of 


account executives' compensation is tied to the 


accuracy of forecast contract volumes; IF any 


portion of account executives' compensation IS tied 


to beating their 2007 forecast or any forecast 


for any year.


MR. MILLAR:  I guess a similar question or a follow-up question.  Can you tell me if any portion of the account executives' compensation, total compensation is tied to beating their forecast -- beating the forecast volumes?  


MR. LADANYI:  Excuse me, could you repeat the question.  I didn't quite understand it. 


MR. MILLAR:  Yes.  You have a 2007 forecast.  I guess a number of account executives have different portions of that.  


Is it any portion of their compensation tied to beating that forecast for a particular year?  


MR. LADANYI:  We'll just add it to the undertaking.  I don't know.  


MR. MILLAR:  So I guess we can keep the same undertaking, but I will add that:  Is any portion of the account executives' compensation tied to beating their 2007 forecast or any forecast, for that matter, for any year.  


Okay, thank you.  If we could flip ahead two pages in this same document.  So page 3 of 6 table 1.  


If we look at I guess the first row, under major variance factors it says “Weather 2007 versus 2006.”  We see a reduction there of I guess it is, is it 30.5 million cubic metres?  


MS. CHAN:  I would say this is not an error.  It is just a weather impact, part of a major explanation. 


MR. MILLAR:  I wasn't suggesting it was an error, I just wanted to make sure I had the...


MR. LADANYI:  Yes, we see that number.  


MR. MILLAR:  Okay.  So 30.5 million cubic metres, we're talking about the same number.  


I assume that this is based on -- I shouldn't assume.  Is this based on your new weather forecasting methodology?  


MS. CHAN:  Yes.  


MR. MILLAR:  This is the 20-year trend. 


MS. CHAN:  Yes, that's correct.  


MR. MILLAR:  Okay.  Would you agree with me, if the Board approves a different methodology or stays with de Bever, would this number have to be adjusted?  


MR. LADANYI:  Yes, it would. 


MR. MILLAR:  Okay, thank you.  


Still looking at this chart, there's an entry for new customers.  And that's 42.5 million cubic metres in new load.  There is also an added load for an existing customer of 0.7.  So we are looking at just over 43 million cubic metres in growth; is that right?  


MS. CHAN:  That's correct.  


MR. MILLAR:  If my math is correct, and it may not be, that's approximately one percent of the total budget?  I see the total budget is 4,131 -- well 4,131,000,000 and the total new addition, new growth I guess is about 43 million so we are talking about one percent?  


MR. LADANYI:  Yes, that's about right.  


MR. MILLAR:  Is the company generally satisfied with the increase through new customer additions?  


MR. LADANYI:  Well, these are contract customers and if you can see in our description, particularly on the next page, what we're dealing with, which is the lost customers you can see the situation that we are in.  You know, our franchise area has been losing industrial load.  This is a tough economic climate for manufacturers, which most of these customers are in.  And they're having a tough time completing in the global economy with the high Canadian dollar and it is reflected in the fact we're not adding industrial volumes the way we would like to.  We would prefer to be adding those volumes but we're not. 


MR. MILLAR:  I'm not talking about the losses.  I was just talking about the new customer.  There is a separate line item for the customer migration.  But I think you have answered the question.  I guess you would agree with me that you're probably targeting better than one percent growth, that would be preferable to the company; is that fair to say?


MR. LADANYI:  We would like to have as much growth as we can get.  We also believe both from an earnings perspective and also from an environmental perspective, natural gas is really an excellent fuel both for industry, from, you know, high efficiency basis and also from question of emissions.  But, however, there are other factors that affect the use of natural gas and one of them is that the economy is not particularly good for manufacturers in our franchise area.  


MR. MILLAR:  Over time, you would agree with me, you should be adding contract load rather than losing. 


MR. LADANYI:  Well, the word really is "should be".  The fact -- like I said, it is not within our power to do that.  


If our customers are having a hard time competing for other reasons in the worldwide or North American market, there is probably very little we can do about it.  


MR. MILLAR:  Now, the company - I know this isn't necessarily your area - but the company is proposing significant capital investments in infrastructure, is that correct. 


MR. LADANYI:  Yes, it is.  It is actually my area too. 


MR. MILLAR:  Oh, it is?  My mistake. 


How does this tie in with the lack of growth in contract volumes?  Is it appropriate to be spending all of the capital investment money when we're not seeing any growth in contract volumes?  


MR. LADANYI:  Well, contract volumes are only a portion of our total volume, and as you know, we are also adding roughly 46,000 new residential customers, roughly.  So we have to add new gas mains to serve those new subdivisions, for example, and you know services and pressure regulating stations.  As you probably know from looking at our budget, we also have substantial investments in upgrading our system and replacing obsolete assets such as cast iron pipe.  So all of these factors affect the amount of investment we need to make.  A portion of our investment does relate to new industrial customers, and as you are probably well aware, that we are -- currently have a project under construction to provide service to Sithe Goreway project and we will have later on, in 2007, work to provide service to the Portlands Energy project.  So these are two examples.  


MR. MILLAR:  Thank you for that.  I am going to turn to the next exhibit, which is Exhibit A2, tab 2, schedule 1, page 7.  


We see it is called appendix B, “Planning assumptions and guidelines.”  Then it says “Volumetric budget preparation.”  I see there is a row across the top.  In fact if you look at the previous page, there are headers on that and the column on the far right says:  Key factors to consider.  You don't actually see it on this page, but it is on the -- there.  You see key factors to consider.  


If you scroll down -- 


MR. LADANYI:  Yes I see that. 


MR. MILLAR:  -- the far right, the top column the far right row says: “Key factors to consider for contract market volumes,” there is a list of things: “historical consumption," "degree days," "economic activity," "energy prices" and "DSM initiatives.”  


Just a question about the energy prices.  What are the price assumptions that you use that underlie the 2007 forecast?  This is for contract.  For contract volumes.  


[Witness panel confers]  


MR. LADANYI:  Oh, yes.  Well, the customer will be looking at their open prices.  Most of these customers -- in fact I would say probably say 99 percent of these contract customers do not buy their commodity from us.  They are obtaining their commodity separately, through direct purchase arrangement with their own supplier.  


So the price that they will be seeing will be different, probably than the price that we will be experiencing.  They might be provided, getting their gas service on their long-term contract.  They have might have commenced two years before.  We really don't know that.  


So our account executive have to discuss these price impacts on the contract market with the customers themselves.  Because each customer will be under a different contract with their supplier.  


MR. MILLAR:  So why is energy prices listed as an input there?  


MR. LADANYI:  It's more a consideration, I would say, than an input necessarily.  


MR. MILLAR:  So I guess -- is the answer to that question then you don't have a forecast 2007 gas price that you use when considering contract volumes?  


MR. LADANYI:  I think your question is:  Have we taken the numbers that industrial customers gave us through this consultation and adjusted them using our own expectation of gas prices for contract volumes?  And the answer is, no, we have not. 

MR. MILLAR:  Okay, thank you.


Well, just let me stay with that for just a second.  Energy prices obviously fluctuate, and sometimes they're high and sometimes they're low.


Let's imagine you prepare the budget in, say, June, just for example, when ‑‑ these numbers don't correlate to reality, but let's just say you prepare the budget in a month where it looks like gas prices are going to be very high.


Then six months later, we get to right now, and oh, now it looks like gas prices are going to be much lower than you had thought and that everyone had thought six months ago.


Do you then go back to the customers and ask if there have been any updates to their projected volumes for 2007?


MR. LADANYI:  I am not aware that we have gone back to the customers and asked them to update their volume forecasts, as far as this rate case is concerned.  I don't think there was an opportunity to update this information.


MR. MILLAR:  Okay, thank you.


Sorry, you say you're not aware?


MR. LADANYI:  I'm not aware.  Let me give you what my understanding is.  Our key account executives are in regular contact with our major customers.  They go in and discuss a number of issues with the customers and they probably discuss gas prices from time to time, but they have not provided us, on a total basis, a new reforecast of the volumes so we could update the rate case with latest information, because we don't believe that there is an opportunity for the company to update the rate case with the latest information.


MR. MILLAR:  You would agree with me that as gas prices go down, that would tend to increase volumes?


MR. LADANYI:  They might actually increase volumes.  Really, there is a lot of other factors that affect industrial volumes, but all things being constant and if energy is a very large input into the total cost structure of industrial customer, then, yes, they would have a significant impact.  But many of these industrial customers, gas is only a very minor component, gas cost, of their total cost structure, whatever they're producing and whatever business they're in. 


So they probably will not have a very large impact on the total use or output.


MR. MILLAR:  When was the forecast arrived at that you presented for approval before the Board?


MS. CHAN:  It was around -- during March 2006.


MR. MILLAR:  March 2006?


MS. CHAN:  Yes.


MR. MILLAR:  Thank you.


Okay, I am going to move on to the next exhibit, C1, tab 3, schedule 1, page 1.  Specifically, I am looking at table 1, if we could scroll down a little bit on the page.


First, just a housecleaning question.  Are there any updates to this table?  This table is still accurate?


MR. LADANYI:  This table is still accurate.  There are no updates.


MR. MILLAR:  Okay, thank you.


Are you able to add to this table the actual and weather normalized general service throughput volumes for 2006?  Can you do that now?  Do you have that data?


MS. CHAN:  We do have that exhibit, so if you are interested, I can walk you through the exhibit.


MR. MILLAR:  I may just have missed it.


MS. CHAN:  Yes.  So if you are interested in looking at normalized general service impact comparing to 2007, you can turn to Exhibit C3, tab 2, schedule 3, page 2.  So if you look at the column 4, that will be your weather adjustment, adjust to 2006, such that you can compare with 2007 on the same weather normalized basis.  


If you want to ask about in terms of a normalized comparison overall general service, we are predicting 44.7 million cubic metre increase between '07 and '06.


MR. MILLAR:  Sorry, could you repeat that, 44.7 ...


MS. CHAN:  Yes.  If you look at column 5 for general service, item number 1, you can see that there is a 44.7 million cubic metre increase.


MR. MILLAR:  Thank you.


 Could you tell me what the heating degree day forecast underpinning the throughput volumes and revenue forecast for 2007 is?


MS. CHAN:  For 2007, the degree days number are 3,617.


MR. MILLAR:  That is based on the 20‑year trend forecast?


MS. CHAN:  Yes, that's correct.  


MR. MILLAR:  What would the heating degree day forecast underpinnings be for the throughput volumes and revenue forecasts for the bridge year 2006, Board‑approved 2006?


MS. CHAN:  There was a Board‑approved settlement negotiated number, and that one was basically 3,745 degree days.


MR. MILLAR:  What about for the bridge year?


MS. CHAN:  That is the bridge year number.


MR. MILLAR:  Oh, you've kept the same number?


MS. CHAN:  Yes.  As always, as in the past, bridge year degree days are always same as the Board‑approved degree days.


MR. MILLAR:  Okay, thank you.  What were the actual heating degree days in 2006?


MR. LADANYI:  3,355.


MR. MILLAR:  3,365?


MR. LADANYI:  Fifty-five.


MR. MILLAR:  Fifty-five.  I guess we are sort of circling back on a question I asked earlier, but can you tell us what Enbridge's gas commodity price forecast is for 2007 in cents per m3 or...

     MR. LADANYI:  I'm not sure what you are asking specifically.  You're asking what we are charging in the QRAM or asking what this rate case is based on?


MR. MILLAR:  No.  Do you have a forecast for 2007 as to what the gas price will be?


MS. CHAN:  For the general service are you asking?


MR. MILLAR:  Yes.


MS. CHAN:  Using the regression model, we do file that into one of our interrogatories.  If you turn to -- it will be CCC, Exhibit I, tab 2, schedule 27.  It is Exhibit I, tab 2, schedule 27, page 2.


MR. MILLAR:  Yes, thank you.


MS. CHAN:  The item number 1.7, where you see the PIRA Energy Group, and that is the forecast price assumption used in regression model.


MR. MILLAR:  I see 11 percent in column 3.  Does that mean an 11 percent increase over 2006?


MS. CHAN:  Increase, yes.  Correct.


MR. MILLAR:  What is the base number from 2006, or I guess the other question is:  What is the total number for 2007?


MS. CHAN:  In the regression model, we always use year-over-year percentage change.  So if you want to ask for '06 versus '05, that will be consistent with our QRAM schedule, because we already know the QRAM schedule.


MR. MILLAR:  Could you tell us what the price is?


MR. LADANYI:  We will undertake.  We don't have that number with us here.


MR. MILLAR:  That's fine.  That will be undertaking -- we're up to J3.5, and the undertaking is to produce the forecast price for 2007.


UNDERTAKING NO. J3.5:  PRODUCE FORECAST PRICE FOR 

2007.

MR. MILLAR:  While we are on this topic, I see you've got the -- under column 2, you have the date of publication from these.  I guess they're reports.  They run from March through to April of 2006.  Is there more recent data available now?


MR. DENOMY:  Yes, there is more recent data available.


MR. MILLAR:  Are you able to update this table with the more recent data?


MR. DENOMY:  Yes, we could undertake to do that.


MR. MILLAR:  Thank you.  That will be J3.6, and that is to update the table, update table 1 on Exhibit I, tab 2, schedule 27, page 2; update that table to account for the most recent data.


UNDERTAKING NO. J3.6:  UPDATE TABLE 1 AT EXHIBIT I,


TAB 2, SCHEDULE 27, PAGE 2.

MR. KAISER:  While you are on that, can you tell me why you happened to pick this particular estimate from PIRA as opposed to one of the others?


MS. CHAN:  If you turn to page 1, the reason behind is, as always, the one budget wants to incorporate the latest available information, and at the time, when you look at the publication date in column 2 and the PIRA one is the latest one because that one is available on April 25th, 2006.  


The PIRA also offer two different price measure and basically Henry Hub was basically selected because he can be comparable to the other publishers.  


MR. KAISER:  Can we go back electronically, can you scroll back?  


MR. MILLAR:  Yes, we can, Mr. Chair.  You wanted 

the -- 


MR. KAISER:  Yes, thank you.  


MR. MILLAR:  Did you have another question on that table, Mr. Chair?  


MR. KAISER:  I guess it is really related to your question.  If I am understanding the witness, they took the Henry Hub estimate from PIRA as of April 25th, as opposed to Henry Hub estimate by McDaniel of April 1st, because April 25th was the most recent.  


MS. CHAN:  Yes, correct.  


MR. KAISER:  But it would appear there are other estimates, I suppose from these same firms. 


MS. CHAN:  Yes.  


MR. KAISER:  Do these come out every month or every two months or every quarter or...


MR. DENOMY:  These forecasts are generally produced every quarter. 


MR. KAISER:  Every quarter. 


MR. DENOMY:  Yes.  


MR. KAISER:  Why wouldn't you use the most recent one?  


MR. LADANYI:  Because we prepared the evidence months ago.  When we assembled the volume evidence, that was the latest we had.  We had not had an opportunity to update the whole rate case.  That would cause all the interrogatories to be re-answered and everything else.  So it really was not feasible.  So it does appear that these are old forecasts, but unfortunately this process takes quite a few months.  


MR. KAISER:  In the undertaking, I'm not sure -- was the undertaking just to provide an update of this complete table.  


MR. MILLAR:  Yes update the complete table.  If I understood the witnesses correctly, they used the item under 1.7 so I assume that would show their -- 


MR. KAISER:  Anyway, the undertaking will be this data for the latest quarter for which it is available.  


MR. MILLAR:  Yes. 


MR. CASS:  That's right.  


MR. KAISER:  Okay, thank you.  


MR. VLAHOS:  Mr. Millar, I am not sure what we are going to get on J3.5, to produce the forecast gas price for 2007, for what purpose was that?  Is that a company's gas forecast?  Is that a figure used in their regression analysis?  I am not sure what we are going to get. 


MR. MILLAR:  We want to know what price they have forecast for 2007 that underlies their energy price assumptions.  


MR. VLAHOS:  That's why I want to be absolutely clear as to what you will get.  As long as the witnesses are clear as to what that is.  


MR. LADANYI:  Yes, Mr. Vlahos.  We would provide a matching forecast using the latest information.  But we are not about to recalculate all of our volumes and we haven't been asked to do that.  


MR. MILLAR:  No, I didn't ask -- I guess I just wanted to see the price per m3 that correlates to these percentage rises, well, there are always rises, I guess, to see what price we are talking about rather than the percentage change.  


MR. KAISER:  Is there in the evidence somewhere an elasticity calculation as to the effect on the relationship between price and consumption?  


MR. DENOMY:  If you refer to Exhibit C2, tab 3, schedule 1, page 15.  This is just an example.  But this is the regression model that we used to forecast average use for the revenue class 20 metro region.  If you look at this regression equation, you can see that there is a co-efficient called “real” underscore, “CRC,” underscore, “RPG.”  


That's the residential price of gas or the real residential price of gas.  The co-efficient or the number -0.091 there is your elasticity estimate.  


MR. KAISER:  What was the page again?  


MR. DENOMY:  Page 15.  


MR. KAISER:  15?  


MR. DENOMY:  Yes.  


MR. KAISER:  When you derived this elasticity figure, what time period were you running the data over?  


MR. DENOMY:  This would be from 1985 until 2005.  


MR. KAISER:  Thank you.  


MR. VLAHOS:  Mr. Ladanyi, can I ask you again:  For what purposes does the company forecast the price of gas?  Where is it used in its modelling?  


MR. LADANYI:  Is it used as an input into the average use model. MR. KAISER:  Okay.  Where else?  


MR. LADANYI:  For Rate 1 and Rate 6.  That's it.


MR. VLAHOS:  That's it?  


MR. LADANYI:  Yes.  


MR. MILLAR:  Just to ask a follow up question maybe it will add some clarity on this point.  For every one percent change in price, what impact does that have on projected volumes?  


MR. LADANYI:  Well, it depends how exactly you want this answered.  If you want it exactly answered we will have to take an undertaking, but we can discuss, in general, if you turn to Exhibit C1, tab 3, schedule 1, page 8.  If you look at table 3, you can see that the impact of the price change on gas -- on our total volume on the price change, so you can see that there is a reduction in volumes of 48.6 106 m3 due to gas prices.  


Like I said, this is only a general thing.  So if you want the exact number we are going to have to undertake to provide it.  


MR. MILLAR:  Maybe it would be best if we had that undertaking.  


MR. VLAHOS:  Mr. Millar, sorry to interject again.  I thought your question was quite clear in my mind, for every -- given a percentage change or increase, I guess you call it, in the price of gas, you call one percent, let’s call it 10 percent because the numbers would make better sense here.  


So if gas prices increased by 10 percent, what's the anticipated decrease in consumption?  I think that is what Exhibit C2, tab 3, schedule 1 would indicate.  That's the elasticity, the price of elasticity demand; right?  MR. LADANYI:  Yes.  Mr. Vlahos if the question is -- if the question is about change in average use for a typical Rate 1 customer in revenue class 20 which is with residential space heating and water heating -- 


MR. VLAHOS:  Right.  


MR. LADANYI:  -- then we can calculate it, if that is the intention.  But there is other revenue classes which will have other factors.  So I don't know how far this is going to extend so we are trying to understand further what you would like to know and you can tell us, then.  


MR. KAISER:  Do the elasticities vary that much between customer classes?  


MR. DENOMY:  For the residential customers, no, they don't vary that much.  For some of the Rate 6 commercial customers, yes, they do, according to the models.  


That would depend on whether or not they're an industrial customer or whether or not we found that the gas price variable should be included in an equation, or not.  


MR. KAISER:  You are going to go back to the table and update the table where we had the estimates of the differential, you recall the 11 percent increase that you used from PIRA, you are going to update that using data from the latest quarter.  


Could you use in the same elasticities calculate whether there is any significant effect on your forecasted demand using the most recent prices? 


MR. DENOMY:  Yes that would be possible. 


MR. KAISER:  Using the same elasticities. 


MR. DENOMY:  Yes.  

MR. VLAHOS:  Finally, I want to make sure that I read that coefficient correctly.


So on the example, on a 10 percent increase in the price of natural gas, or decrease, if I look at the load, then, it says 0.91.  So that means that it's only less than 1 percent change in demand, is that what --


MR. DENOMY:  That's correct, yes.


MR. VLAHOS:  And that coefficient relates to the price of gas.  What are the other three?


MR. DENOMY:  CDD are central degree days.  "Met 20", underscore, "vint", is a vintage variable that captures increasing energy efficiencies for the residential sector over time.  And "time" is just a time trend.


MR. VLAHOS:  Sorry, the "Met 20", the vintage, is that something ‑‑ is that a dummy variable you put in there?


MR. DENOMY:  No.  Well, there is an explanation of it earlier in the evidence.  If you turn to page 8 of Exhibit C2, tab 3, schedule 1.


MR. VLAHOS:  Go ahead.


MR. DENOMY:  The vintage variable is essentially the ratio of the number of customers that we had in fiscal 1991 to the total number of customers in each subsequent year.


So if you look at table 3, you can see that there is a separate vintage variable for each region for revenue class 20, and you can see that that variable will tend to decline over time.


We use 1991 as the base year, because that's the year when the Energy Efficiency Act prohibited the selling of low efficiency furnaces, so the whole idea there in constructing this ratio is to capture the increasing market share of energy efficient furnaces.


MR. VLAHOS:  Just finally, panel, I am just looking at the metro region central weather zone.  That is the same exhibit we were looking at before.  I'm just trying to understand the magnitude of these things or the relative importance.


It appears that the degree days is by far the largest explanatory variable.


MR. DENOMY:  Yes, degree days --


MR. VLAHOS:  Or influence, okay.


MR. DENOMY:  Yes.


MR. VLAHOS:  With a very large explanatory power.


MR. DENOMY:  Yes.


MR. VLAHOS:  And apart from the time that you talked about, the price is pretty significant, isn't it?


MR. DENOMY:  Yes, it is.


MR. VLAHOS:  That's what it shows, 10 percent change; I get 10 percent impact.


MR. DENOMY:  For price?


MR. VLAHOS:  No, no, 10 percent change in the price of the commodity.  I get, sorry, 1 percent or less than 1 percent impact --


MR. DENOMY:  Yes.


MR. VLAHOS:  -- on the quantity on the demand side.


You would call that inelastic; right?


MR. DENOMY:  Yes.


MR. VLAHOS:  And that would be within sort of the -- your expectations of what the number would be over many other studies that you have done?


MR. DENOMY:  It's my understanding that this sensitivity to gas prices is within the range that's been examined or found in other studies.  I can't give you an exact estimate of what other studies have come up with, but given that demand is -- for natural gas is inelastic, I don't think this is an unreasonable number.


MR. VLAHOS:  What's the highest elasticity I would find if I were to look at the different classifications you have presented in evidence, what is a rate classification itself, or a subgroup of the rate classification?


MR. DENOMY:  The range that you could find?


MR. VLAHOS:  Yes.


MR. DENOMY:  On the order of 0.9 to 0.12.


MR. KAISER:  0.12 for the eastern weather zone.


MR. DENOMY:  Yes.


MR. KAISER:  I suppose that's because there is more industrial customers there than in the metro zone?


MR. DENOMY:  This is strictly residential customers.


MR. KAISER:  Oh, is it?


MR. LADANYI:  I would expect because it is colder in the eastern zone, that people are more sensitive to how much gas they use, and, therefore, would be more sensitive to the price.


MR. VLAHOS:  What about if we move to the cold track classification of the rates that encompass contract -- contracts?  So what would be the elasticity there?  Have you shown those results?


MR. DENOMY:  We don't have elasticity estimates, or at least I have not conducted any regression analysis to estimate elasticity estimates for our contract customers.


MR. VLAHOS:  So you have everything except contract customers?


MR. KAISER:  What percent of volume are the contract customers; 30 percent?


MS. CHAN:  If you turn to Exhibit C3, tab 2, schedule 1, a contract customer will comprise about 35 percent of the total throughput.


MR. KAISER:  Why wouldn't you estimate the elasticity for the contract customers?


MS. CHAN:  The reason why are from a heterogeneous perspective, because each of the customer, they may react to -- basically differently in terms of the prices, unlike residential customers.  For example, you cannot compare a GM customer with apartment building customer, because maybe GM is more sophisticated customer.  They may have a much better price hedging than a typical small apartment customer.  


That is why, from an econometric perspective, you cannot use regression model to estimate a homogeneous price elasticity.


MR. KAISER:  I notice when you discuss new customers, or when you add customers or when you lose customers, you break them out by industry group.  Pulp and paper is one, and tobacco and so on.


MS. CHAN:  Yes.


MR. KAISER:  Surely you could estimate the elasticity by major industry groups, like pulp and paper.


MS. CHAN:  If you use that perspective, we could provide a very general number.  That price impact information are all come from customers and account executives.  But of course, I mean, certainly if you want to use that particular price group and try to come up with price impact, yes, you can come up with an estimate, price elasticity, but that wouldn't be the Enbridge forecast.


MR. KAISER:  No, I understand that.  I understand you haven't done that.


But you must have looked at that, 35 percent of your load.  I mean, would I be right that the elasticities are greater for industrial customers than they are for residential?


MS. CHAN:  Yes, certainly.  Certainly, yes, they are more sensitive.


MR. KAISER:  Probably two to three times more sensitive?


MS. CHAN:  Yes.  More sensitive than residential, yes.


MR. KAISER:  I would have thought so.


MR. VLAHOS:  Sorry.  You cannot do ‑- you can do a regression analysis on anything other than non‑contract because, why, of the ‑‑


MS. CHAN:  Before of a heterogeneous, plus if you look at the customer count, you only have 2,000 customers, so you don't really have much data point.  When you are trying to segregate these contract customers by trade group, you may only have 130 data points, so you may not have enough data point to have a statistically sound regression model.


MR. VLAHOS:  I wasn't even thinking about breaking them into the industry profiles, although that in itself, it gives you 100 observation points.  That may be sufficient.


But I am thinking of the class, the contract class itself.  I am surprised that there have been no attempts to run a regression analysis on the change of the price of gas and the consumption.  


I mean, that is exactly what regression analysis does.  It holds other things constant and changes the price of gas, and with some other sort of variables to capture any other variations.  I am surprised that that has not been attempted by the company.  Do you know if Union Gas has done it?


MR. LADANYI:  We are not aware they have done it, but the issue, as Ms. Chan points out, is that the industrial customers are very non‑homogeneous.  They are in different lines of business.  Some use a lot of space heating.  Some have virtually no space heating.  Some have large process loads; others don't.


It is very difficult to get a reasonable analysis done of these that you can use in any meaningful way.  They are also going to be influenced by many other factors apart from gas prices.  So you can do an analysis on a fairly homogeneous group, like revenue class 20 or residential customers, which is a large population, which all use gas in the same way, for space heating and water heating.  You can do a very accurate analysis of those, but when you get a very non‑homogeneous group like industrial customers, it doesn't really work well. 


You could try doing it, but probably you would get fairly inexact and inaccurate results.  So there is kind of no point in doing it.


MR. QUESNELLE:  Can I explore that?  Just on that point, wouldn't the year-over-year change in mix of the group that makes up that industrial group be the variable?


MR. LADANYI:  Yes, it would be.


MR. QUESNELLE:  Now, with 2000, I would think that would be a fairly steady -- at least the variations year over year of that mix would be immaterial on this type of analysis?  For the contract.  Looking at it as a whole.  And tracking how, as a whole, it has reacted to price.  That with 2,000 points in a year-over-year fairly steady divestiture of uses, you know?  


MR. DENOMY:  If you are looking at the overall volumes for the contract rates, then I think you could probably develop a model that would seek to explain the changes in volumes based on changes in gas prices and maybe a whole host of other economic variables.  


Did I answer your question?  


MR. QUESNELLE:  Well, yes.  It supports the notion that I think that there would be some value to it, to take a look at it as a whole.  Given the purpose of the information, which is to look at a global effect, if you look at it globally to begin with and not have to drill down into the different individual segments of that population.  


MR. KAISER:  Sorry, Mr. Millar.  


MR. MILLAR:  That's okay, Mr. Chair, members of the Panel.  I just want to try to bring us back for a second to where we were.  I was trying to get an undertaking maybe I wasn't clear enough so I will another quick stab at it. 


As I understand it, the average use for customers for these contracts will go up likely if prices go down.  And vice versa; is that fair to say?  


MR. LADANYI:  To some degree.  But let's say if we are talking about the residential customers just to give you conceptually what's going on.  


If a residential customer will, in response to higher gas prices, install insulation in their home and install a higher efficiency furnace just because gas prices are going down, they're not going to remove the insulation or remove the gas -- high-efficiency furnace and bring in the low-efficiency furnace.  So there is a certain A essentially in the elasticity that comes into it.  So that it really is a one-way street.  We're heading towards greater efficiency continuously.  We are not going to suddenly become more inefficient just because the prices have dropped. 


MR. MILLAR:  Fair enough.  But generally speaking, there could be -- you would tend to see price will influence average use per customer; is that fair to say? 


MR. LADANYI:  Yes, they will.  I think you will see situations when there is a sharp increase in price.  We have seen there is going to be a reduction and people turn down their thermostats and they will also wear warmer clothes.  If you look at our exhibit, and we actually have an exhibit dealing with this, Exhibit C - Exhibit C1, tab 3, schedule 1, page 4 you see there a graph of normalized average use versus gas supply charge.  


It is an inverse relationship.  You can see what's going on.  Interesting, when you look at the year 2002 on that graph, you will see that there is actually a reduction in gas prices in 2002, but there is no corresponding increase in average use per customer.  


If you look at the graph also you will see an anomaly or increase in average use per customer around year 2000, and we have always been puzzled by year 2000.  We believe it might have something to do with Y2K phenomenon and a very large amount of industrial activity, but we have never completely explained why there was this continuity around 2000.  But apart from 2000, and the graph is really a continuous decline, as you can see, even though some of the year are showing a decline in prices there is no corresponding increase in average use.  


MR. MILLAR:  Thank you for that background, Mr. Ladanyi.  But I accept there are other factors involved.  But do you accept that price is a factor for average use per customer?  


MR. LADANYI:  Definitely.  


MR. MILLAR:  If we look, to bring us back to Exhibit I, tab 2, schedule 27, page 2, this is a document we were looking at earlier where you got your forecast for 2007 prices.  


I am just trying to lay the background of why I want this interrogatory.  You have stated that you are going to be using item 1.7, that's the forecast of an 11 percent increase, and we have an undertaking that you are going to update that figure and it may be high or it may be lower, I don't know, but what -- the information I want is, I want to know how that helps me when I get that information.  That's why I was asking what impact a one percent change in the price would have on the contract volumes – pardon me, general service volumes.  


Can you undertake to provide that?


MR. LADANYI:  Are you talking about all general service volumes?  Are you discussing only Rate 1 residential?  


MR. MILLAR:  All general service. 


MR. LADANYI:  So this is Rate 1 and Rate 6 volumes.  


MR. MILLAR:  That is J3.7.  


UNDERTAKING NO. J3.7:  TO ADVISE THE impact OF a TEN 

percent change in the price oF general service volumes

MR. MILLAR:  Do you want 10 percent? 


MR. VLAHOS:  Will you accept 10 percent? 


MR. MILLAR:  10 percent is fine with me.  


MR. VLAHOS:  Just explain it to me.  


MR. MILLAR:  That's no problem, Mr. Vlahos.  


I have some questions that have arisen out of this.  If you look again at Exhibit I, tab 2, schedule 27, page 2 I am wondering if we can have it pulled up.  Actually, you know, more important will be the next document, that's where we get the 11 percent, I think everybody remembers the 11 percent.  If I could ask to have pulled up Exhibit C1, tab 3, schedule 1, page 12.  


There is table 1 at the bottom of that page.  When I look at that, the first row that says 2007 budget, under 2007, I see -- maybe I am reading it incorrectly but I see a projected increase of 8.5 percent.  I'm just wondering how that matches with the 11 percent we saw in the previous exhibit.  


MR. DENOMY:  The gas prices that are used in the average use regression models are real gas prices, and the gas prices that are presented in the response to CCC interrogatory are nominal changes in prices.  So the effect of inflation is to reduce the percentage increase in the gas price.  


MR. MILLAR:  You may have to take an undertaking for this, you may be able to answer it.  Can you give us a price per m3 for that, that correlates to that 8.5 percent.  


MR. DENOMY:  Yes.  


MR. KAISER:  Are you saying the difference between the 11 percent and 8.5 percent is inflation?  


MR. DENOMY:  That's our forecast of inflation that would be creating that change, yes.  


MR. MILLAR:  That will be undertaking J3.8.  


UNDERTAKING NO. J3.8:  To provide a price per m3 that 
corresponds to the 8.5 percent under the 2007


MR. MILLAR:  That is to provide the price per meter cubed that corresponds to the 8.5 percent under the 2007 forecast of Exhibit C1, tab 3, schedule 1, page 12.  


Okay, thank you, gentlemen.  I'm sorry if that was confusing.  I'm going to move on to the proposed new weather forecasting methodology.  


Mr. Mukherji, who is sitting beside me, provided me with a crash course in statistics last week so I am going to be testing it out on you.  I think I'm not quite there so I may have a few very basic questions to you but I will ask you to bear with me and help me through this.  


First, just a quick question on the 20-year trend model itself.  It was briefly described in your examination-in-chief.  But am I correct in stating that there are only two variables in this model and that is just the year and the degree days?  


MR. DENOMY:  There is really only one variable in the model.  The dependent variable, in other words, the one that you are trying to forecast is degree days.  The independent variable, the variable that shows up on the right-hand side of the equation is the year.  


MR. MILLAR:  Okay.  But those are the only two?  


MR. DENOMY:  Those are the only two, yes.  


MR. MILLAR:  Okay, thank you.  


If I could ask you to pull up Exhibit C2, tab 4, schedule 1, page 5.  This is table 4.  


Actually, if I could ask Ms. Ing, you could scroll to the top of that page, paragraph 13.  


It says at the top:  

"As a result, in recent years the Board-approved degree days” -- and the result of the using the old forecasting methodology, “the Board-approved degree days have more often than not had been higher than actual degree days.”  

Do you see that? 


MR. DENOMY:  Yes.


MR. MILLAR:  I guess what we would expect from that is, if we are over-forecasting degree days, the danger there is that you will also over-forecast the throughput volumes, the forecast throughput; is that fair?


MR. DENOMY:  That's correct.


MR. MILLAR:  If it doesn't lead to an over-forecasting of throughput volumes, is there a problem?  I mean, that's where the company loses money, if I can break it down to that.  The company loses money because the throughput volumes are off, not because the degree day forecast is off?


MR. LADANYI:  But the two are linked.


MR. MILLAR:  Of course they're linked, absolutely.  So what you would expect to see is, where degree days are over-forecast, in those years you would expect to see throughput volumes were also over-forecast?


MR. LADANYI:  You mean forecast throughput volumes? 


MR. MILLAR:  Yes.


MR. LADANYI:  Yes, you would.


MR. MILLAR:  I'm wondering if you can help me.  If we could ‑‑ this would obviously require an undertaking.  I am hoping we could add a couple of columns to table 4, if we could scroll down a little bit.  


I'm wondering if we could add three columns to that and that would show this.  The three columns would be -- I guess we could have one for actual throughput volumes, weather normalized throughput volumes and Board‑approved throughput volumes for those years.  


Could I ask you to produce a table that would show that?


MR. DENOMY:  Okay.


MR. MILLAR:  It would simply add the three columns.  That will be undertaking J3.9.


UNDERTAKING NO. J3.9:  ADD THREE COLUMNS TO TABLE 4: 

ACTUAL THROUGHPUT VOLUMES; WEATHER NORMALIZED 

THROUGHPUT VOLUMES; BOARD‑APPROVED THROUGHPUT VOLUMES.

MR. MILLAR:  Okay.  Thank you for that.  The next exhibit I would like to look at is Exhibit C2, tab 4, schedule 1, page 27.  Actually, we will be looking at page 27 and 28, but I will start at page 27.  These are figures A1, A2 and A3.


If we could just scroll down to show figure A1?  Thank you.  As I mentioned, I'm new to statistics and I need a little help reading this chart.  Could you start by telling me what an R‑squared is?  What does a R‑squared show?


MR. DENOMY:  R‑squared shows the percentage of the variation in the dependent variable, in this case degree days.  That is explained by the regression model.


MR. MILLAR:  Am I right in saying that an R‑squared value will run from zero to 1?


MR. DENOMY:  Yes.


MR. MILLAR:  And the higher the number, the better the correlation; is that an accurate way of putting it?


MR. DENOMY:  The higher the number, the higher the correlation, yes.


MR. MILLAR:  The higher the correlation.  So zero would show no correlation at all?


MR. DENOMY:  Yes.


MR. MILLAR:  And 1 would show perfect correlation?


MR. DENOMY:  Yes.


MR. MILLAR:  What is an adjusted R‑squared?


MR. DENOMY:  One of the properties of R‑squared is, if you continue to add additional explanatory variables - in other words, variables to the right‑hand side of the equation - you will continually bump up the R‑squared, regardless of whether or not that variable is helping explain the variable you are trying to predict with the model.  


So adjusted R‑squared does just that.  It adjusts for the number of variables that you have on the right‑hand side of the equation.


So it essentially penalizes you for trying to maximize R‑squared by just adding in more variables.


MR. MILLAR:  So an adjusted R‑squared will always be lower than an R‑squared, or never be higher?


MR. DENOMY:  That's right.


MR. MILLAR:  And usually lower?


MR. DENOMY:  Yes.


MR. MILLAR:  Is it possible for an adjusted R‑squared to be less than zero?


MR. DENOMY:  Yes.


MR. MILLAR:  What would that mean?


MR. DENOMY:  That's just a result of the adjustment for the degrees of freedom.  It would be pushing the unadjusted R‑squared to below zero.  It's just a result of the mathematics of the calculation.


MR. MILLAR:  If you saw a negative adjusted R‑squared, I assume that means there is not much of a correlation?


MR. DENOMY:  Yes, that would be true.


MR. MILLAR:  Thank you.  Typically, when looking at either an R‑squared or an adjusted R‑squared, for that matter, what type of number would you be looking at to show a strong correlation, or does that depend on the variables you are looking at?


MR. DENOMY:  That would depend on the variables you are looking at.


MR. MILLAR:  Okay.  If we could maybe just look quickly at the adjusted R‑squared values for tables -- figures A1, A2 and A3.  On A1, the adjusted R‑squared is 0.8591?


MR. DENOMY:  Yes.


MR. MILLAR:  Just so I am clear how the numbers work, a perfect score, a perfect correlation, would be 1.0; is that correct?


MR. DENOMY:  Hmm‑hmm.


MR. MILLAR:  If we look at A2, we see a negative R‑squared of negative 0.015105.  Then looking for figure A3, we see a negative adjusted R‑squared of negative 0.036936963?


MR. DENOMY:  Yes.


MR. MILLAR:  Just so we are clear, what these different tables are showing, I believe, are the equation run for the three different districts that Union has, the central district, eastern district and the Niagara district?


MR. DENOMY:  The three regions that Enbridge has, central, eastern and Niagara, yes.


MR. MILLAR:  Thank you for that correction, yes.  Enbridge, okay.  I am in the right room.  Okay, thank you.  


If I could take you to Board Staff Interrogatory 18, and that is at Exhibit I, tab 1, schedule 18, page 1.  This in fact is an interrogatory on a different subject, but it does have some content about R‑squareds.


If I could ask Ms. Ing to scroll to the bottom of that page, the last paragraph, I guess the last sentence.  It says:

"Despite a slight increase in the variance between actual normalized use per customer and the models' normalized average use per customer, the results of the forecasting, diagnostic and specification tests indicate that the models exhibit a very high R‑squared, low RMSPE and are statistically valid given current and historic information.  It is the company's submission that the models and the models' results are statistically speaking beyond reproach." 


Just so we can reference exactly what table you are talking about there in that interrogatory response, it can be found at C2 -- Exhibit C2, tab 3, schedule 1, and I think it is starting at page 15.


There we see, about halfway down the page, the adjusted R‑squared that you were talking to in that -- that you are speaking to in that interrogatory response was in fact 0.982.  Do you see that?


MR. DENOMY:  Yes.


MR. MILLAR:  Or 98 percent; is that how you would say it if you were a better statistician than I am?


MR. DENOMY:  Yes.


MR. MILLAR:  So if we look at -- in that case, you said you had a very high R-squared, and 98 percent looks pretty high to me.  The values that we are looking at, if I could bring us back to tables A1, -2 and -3, range between -- as we already discussed, it is 8 percent at the highest, and, in fact, for the eastern zone and Niagara zone, we are in fact below zero.  We are in negative territory.


What do those R‑squared values say about the model?  These don't strike me as terribly high R‑squared values.


MR. DENOMY:  No.  They're not high at all.  I think there is one important thing you should note here, and that is that just gauging a regression model based on R‑squared alone will not give you an idea of how well it will actually forecast the variable in question.


In fact, if you look at the R‑squared values for each of the different regression models in Exhibit C2, tab 4, schedule 1, page 11, table 6, which is the table I referred to in direct, which shows the forecasting attributes of each of the models there, you will find that more often than not, the R‑squared values for the 20‑year trend, the de Bever with trend, the de Bever model, and the Energy Probe model, all of which are regression models, are actually quite low relative to the average use models.


MR. MILLAR:  Is that the RMSPE?


MR. DENOMY:  No, I am talking about R‑squared.


MR. MILLAR:  So the R ---


MR. DEMONY:  The R‑squared is not here, but that is going to lead me into my point, which is all of these four degree day regression models have low R‑squareds, but, for example, the 20‑year trend is a much more accurate predictor of degree days.


If you look at table 6 and you refer to example -- for example, the route mean squared percentage error, you can see that the 20‑year trend has the lowest route mean squared percentage error on a forecast basis.


MR. MILLAR:  So I guess what you're saying is although the R‑squareds aren't exactly great for this model, they're even worse for the other models?  


MR. DENOMY:  In some periods they are.  In some periods they aren't.  It depends on the number of years that you used in the equation.  Each of the equations use a different time period over which to estimate.  


MR. KAISER:  Is that the reason why you are getting such a high R-squared for central compared to eastern and Niagara?  You got different time periods or less data?  


MR. DENOMY:  No.  In fact one of the reasons why we have such a high R-squared there is because there is a very strong relationship between degree days and average use and gas prices and average use.  


MR. KAISER:  In the one region?  


MR. DENOMY:  In all of the regions for the average use model. 


MR. KAISER:  Why is the R-squared so different, so much higher in central compared to eastern and Niagara?  You're running the same regression; right?  It is the 20-year trend over the same time period?  This is figure A1, A2 and A3 at C2, tab 4, schedule 1.  


MR. DENOMY:  Okay.  Your question is why the R-squared is so much higher for figure A1. 


MR. KAISER:  The central region and negative in the other two regions.  


MR. DENOMY:  Okay.  Well, the model tends to fit the data better in the central region than it does for -- 


MR. KAISER:  I know.  That is what the R-squared tells us.  But unless there was less data, why would you expect it would be so materially different, in three different regions?  


[Witness panel confers]  


MR. DENOMY:  I guess my answer is the model just isn't fitting as well.  They're three different weather zones and three different weather patterns, so in some cases the 20-year trend may have a higher R-squared for eastern and Niagara it is lower.  


MR. KAISER:  But you were using the same time period    when you ran the regressions for all three zones?  


MR. DENOMY:  Yes, that's right.  


MR. KAISER:  Wouldn't that lead you to question whether this 20-year trend is a good model, if you got such varied results, three different geographical regions?  


MR. LADANYI:  The one thing to consider is the bulk of our customers, about 80 percent of our customers are in the central region.  So the other two are a minor portion of the total.  So if you segment the data, it doesn't fit it as well.  But when you look at the customers altogether it does fit it best, and that is what we were trying to point out.  If you actually look at Niagara on its own or look at eastern region on its own, the fit is not quite as good as it is in the central region. 


MR. KAISER:  If you had the same results for central as you did for eastern and Niagara, you wouldn't be recommending this model.  Would you?  


MR. DENOMY:  Well, I think we are recommending the model based on the forecasting accuracy of the 20-year trend in the central weather zone.  


MR. KAISER:  I understand that.  But it doesn't bother you to get such lousy results for two other zones when you are using exactly the same time frame?  


MR. LADANYI:  I would say what it really is, is the model works best for 80 percent of our customers.  


So the fact it doesn't work quite as well for the other remaining 20 percent, yes, it is a concern, but it is -- you've got to make a decision here and something that is best for 80 percent is probably the best model.  Because it is not a completely the same type of a franchise area.  That is why it is segmented.  One is the greater Toronto area, the other is greater Ottawa area plus the Ottawa valley, and the last is Niagara region, which consists of Niagara Falls, St. Catharines, and the rural areas around there.



MR. KAISER:  I understand all of that.  By definition it is not -- Ottawa is not Toronto.  I understand that.  But it must have puzzled you why you get such dramatically different results.  


MR. DENOMY:  The assumption that we made here was, when we were examining these models, we focussed on the central weather zone because, when we directed to use the de Bever method, there was really only consideration given to the central weather zone at that time.  So we made the assumption like with the application of the de Bever method, whichever is applied for the central weather zone will also be adopted for the eastern and Niagara weather zones.  


MR. KAISER:  All right.  Sorry, Mr. Millar.  


MR. MILLAR:  Okay, thank you, Mr. Chair.  I think I will leave R-squared -- well just one other quick question.  On the tables that you produced, that you referred to, these are the ones ranking - I don't have the page reference in front of me - ranking the different models and you mentioned that those don't have the R-squared, they don't have the R-squared in them.  I won’t to ask you to provide these if you don't have them already, but do you have the R-squared values for the other models?  This is table 6 and 7 at page 11 of C2, tab 4, schedule 1. 


MR. DENOMY:  Yes I do have the R-squared for the other models as well.  


MR. MILLAR:  Could I ask they be provided. 


MR. DENOMY:  Yes.  


MR. MILLAR:  That will be Undertaking J3.10, and it will be to provide the R-squared values for the models described in table 6 of Exhibit C2, tab 4, schedule 1.  


UNDERTAKING NO. J3.10:  TO PROVIDE ADJUSTED R-SQUARE 

VALUES FOR MODELS DESCRIBED IN TABLE 6 OF EXHIBIT C2, 

TAB 4, SCHEDULE 1


MR. DENOMY:  Just to make one quick clarification.  I can only provide that for the regression models.  You can't have a R-squared for a moving average. 


MR. MILLAR:  That’s fine.  Would that be an adjusted R-squared or R-squared?


MR. DENOMY:  I can make it adjusted R-squared if you wish. 


MR. MILLAR:  Adjusted R-squared would be preferable.  


MR. KAISER:  Mr. Millar, would this be a convenient time to take the afternoon break?  


MR. MILLAR:  Oh, yes.  I'm sorry, Mr. Chair, yes.  


--- Recess taken at 2:30 p.m. 


‑‑‑ Upon resuming at 2:52 p.m.  


MR. KAISER:  Please be seated.  Mr. Millar. 


MR. MILLAR:  Thank you, Mr. Chair. 


Continuing a review of things that before last week I had never heard of, if I could bring us back to Exhibit C2, tab 4, schedule 1, page 27.  These are the figures A1, A2 and A3.


Again, we talked about the adjusted R‑squared.  The next line over, I see F statistic.  Could you please help me out and tell me what an F statistic is.


MR. DENOMY:  The F statistic is used to test the overall significance of a regression equation.


MR. MILLAR:  And from what Mr. Mukherji tells me is that -- an R‑squared will show you where the correlation is -- and you can correct me if I'm wrong.  It will show a correlation, but it doesn't necessarily show that there is any relationship between the variables.  


Is it true that the F statistic tries to get at that relationship?


MR. DENOMY:  It tests to see if all of the variables that you've included in the equation, in this case just the trend, are statistically significant.  In other words, the coefficients attached to each of those variables, whether or not they are zero.


MR. MILLAR:  Okay.  So I think we are talking about the same thing here.


Now, the F statistic values that you have presented here for models A1, A2 and A3, are they statistically significant?  Maybe we will just start with A1, and then you can tell me for A2 and A3, as well.


MR. DENOMY:  Can you specify a significance level for me?


MR. MILLAR:  Ninety‑five percent.


MR. DENOMY:  Ninety‑five percent, okay.


At 95 percent, they are not statistically significant.


MR. MILLAR:  Sorry, is that for table A1?


MR. DENOMY:  Sorry, for table A1, A2 and A3.


MR. MILLAR:  Okay, thank you for that.


Again, we are talking about the figures A1, A2 and A3.  These are the -- show the forecasting equation for the three -- Enbridge's three regions.  You presented in your prefiled evidence ‑‑ I don't have the reference here, but the reason you say that you focus on the central region is that the vast majority of your throughput is through the central region; is that correct?


MR. DENOMY:  Yes.  When we were told to adopt the de Bever method, we were told to use that for eastern and Niagara without any examination of whether or not that method was appropriate for eastern and Niagara.  So that is the working assumption here.


MR. MILLAR:  Can you tell me what percentage of your throughput is in the central zone, approximately?


MS. CHAN:  Approximately 80 percent.


MR. MILLAR:  Eighty percent central.  Can you tell me for Niagara?


MS. CHAN:  I cannot tell you, but I can tell you combined eastern and Niagara together 20 percent, approximately.


MR. MILLAR:  That is throughput, not customer numbers?


MS. CHAN:  No.  Just throughput.


MR. MILLAR:  Okay, thank you.


Still looking at figure A1, because it is a good example, I see there's columns, column 2, 3, 4 and 5, showing coefficient, standard error, T statistic, and "prob".  I think that is short for probability?


MR. DENOMY:  Yes.


MR. MILLAR:  Can you just give me -- I want to go through these, just so I understand exactly what they are.  What does coefficient mean?


MR. DENOMY:  Coefficient, that's the value of the constant, which would be C in column 1.  The value of the constant coefficient would be 4,802.  The slope coefficient would have a value of minus 17.434.


MR. MILLAR:  Okay.  What about standard error?


MR. DENOMY:  The standard error is...

     [Witness panel confers]


MR. DENOMY:  The standard error is essentially the variability of the coefficient, and it's used to calculate the T statistic.


MR. MILLAR:  Okay.  What is the T statistic?


MR. DENOMY:  The T statistic is a statistic that you can use to test the statistical significance of each of the coefficients.


MR. MILLAR:  Finally, what is the probability?


MR. DENOMY:  That's the exact level of significance.  So for any given level of significance that you choose, if that P value is -- if the P value in column 5 is less than your stated level of significance, then you can say that that variable is statistically significant.


MR. MILLAR:  Can you use the term "confidence level" as a synonym for probability?  Is that another word you might use?


MR. DENOMY:  You could use ‑‑ maybe I should back up a bit.


A confidence interval can be used to test the statistical significance of a coefficient, and a T statistic can be used to test the statistical significance of a coefficient.


If you use either method, you will end up with the same results.


MR. MILLAR:  Okay.  Just so I understand how you read this column 5, probability, the number you show is 0.1124?


MR. DENOMY:  Yes.


MR. MILLAR:  As I understand it, the way you ‑‑ I am calling it a confidence level, and if I have my terms wrong, you let me know.  But the way you get to what I'm calling a confidence level is ‑‑


MR. DENOMY:  Level of significance would be more appropriate.


MR. MILLAR:  Level of significance, is that a better 

-- okay, thank you.  The level of significance is you take the number 1 and you subtract that number from it.  For this case, you would get 89 percent?


MR. DENOMY:  Yes.


MR. MILLAR:  Okay.  I'm sorry, you called that level of confidence?


MR. DENOMY:  Level of significance.


MR. MILLAR:  Significance, okay.


So just to summarize, for figure A1, the level of significance is 89 percent, approximately.  If I am right, what that means is that 89 percent of the time the standard error will be within ten, plus or minus, of the minus 17; is that the way we look at that?


MR. DENOMY:  I'm sorry.  Can you rephrase?


MR. MILLAR:  Let me run through it again.  The coefficient is showing what you would expect year over year using this model that the degree days will follow?


MR. DENOMY:  Yes.


MR. MILLAR:  So we are anticipating they will fall 17 degrees?


MR. DENOMY:  Yes.


MR. MILLAR:  The standard error is ten there?


MR. DENOMY:  Yes.


MR. MILLAR:  So if we take the level of ‑‑ if we try and work the level of significance into there, what that means is that 89 percent of the time, using this model, you would expect that the degree days will fall within plus or minus ten of minus 17 degree days?  Have I got that right?


[Witness panel confers]


MR. DENOMY:  Just for some clarification, are you trying to construct a confidence interval around the coefficient?


MR. MILLAR:  I don't know.  I guess what I'm trying to see is what this table is showing us.  The way I understood it was it is showing that -- what this model shows is that for next year, I guess for 2007, you would expect that degree days will fall by 17 using this model.


MR. DENOMY:  Yes.


MR. MILLAR:  And that would ‑‑ sorry, you would expect it would fall by plus or minus ten of minus 17, because that is the standard error.  You would expect that to happen ‑‑ you are 89 percent confident that will happen?  


I know this is a bit convoluted, and I apologize.  My lack of knowledge about statistics isn't helping, but I just want to make sure I understand that that is what that table is showing.


MR. DENOMY:  Well, I can't do the calculations on the spot, but I think what you are getting at is you want to get a range around which degree days will fall in the next period, for the following period, based on this equation?


MR. MILLAR:  I'm only looking at the forecasting you've already done.  I just want to make sure I understand what it is showing us.


MR. DENOMY:  Okay.  Well, the equation is showing you that every year you carry the line out, the degree days on average are going to drop by 17 degree days.


MR. MILLAR:  I think we are talking about the same thing.  The standard error means it may be ten degrees on either side of that, plus or minus the minus 17?  That's what the standard error is referring to.  It refers to that minus ‑‑


MR. DENOMY:  Yes.  It refers to the range around which that degree day forecast will ‑‑


MR. MILLAR:  And the level of significance, that means that 89 percent of the time you would expect that to happen, if you followed this model?  


MR. DENOMY:  Eighty-nine percent of the time you would expect the co-efficient to be within a certain band? 


MR. MILLAR:  And the band is ten on either side. 


MR. DENOMY:  Yes.  


MR. MILLAR:  Okay, that's great.  Thank you.  


Is 89 percent considered to be a good level of significance?  


MR. DENOMY:  Actually -- 


MR. MILLAR:  Sorry, did you want to add to that?  


MR. DENOMY:  The confidence band for the co-efficient, which is what you were trying to get, you were calculating it incorrectly.  


It should be minus 17.434, plus or minus the T statistic times the standard error.  So that range would be a little larger than ten.


MR. MILLAR:  Oh, I see.  So it might be 11 or 12. 


MR. DENOMY:  12 or so but...


MR. MILLAR:  Okay.  But with that addition, then, I've got it right?  


MR. DENOMY:  Yes.  


MR. MILLAR:  Okay, thank you.  Again, just to repeat my final question.  Is 89 percent considered to be a good level of significance?  


MR. DENOMY:  Yes.  


MR. MILLAR:  If we look to tables A2 and A3.  Mercifully I won't ask you to explain what all of these mean again because I think we have covered that. 


MR. DENOMY:  Thank you. 


MR. MILLAR:  Am I right in saying that under table A2, this is for the eastern region, the level of significance is one minus .40 which is 60 percent?  


MR. DENOMY:  Yes. 


MR. MILLAR:  Is it fair to say you are probably less satisfied with that level of significance?  


MR. DENOMY:  Yes.  


MR. MILLAR:  Is that a good level of significance?  


MR. DENOMY:  No.  


MR. MILLAR:  Okay. 


MR. DENOMY:  Not relative to the 80, 89 we calculated earlier.  


MR. MILLAR:  Well not just relative to 89.  Just in general, would you be satisfied with 60?  


MR. DENOMY:  In general. 


MR. MILLAR:  Again if we look at A3, if we take one minus .577, you get about 43 percent.  I take it you are probably not happy with that confidence level either?  


MR. DENOMY:  That's correct. 


MR. MILLAR:  Pardon me.  Level of significance. 


MR. DENOMY:  It is not a good level of significance.  


MR. MILLAR:  Okay.  Okay, I am going to move on to the next topic.  If I could ask you to pull up Exhibit C2, tab 4, schedule 1, page 8 and 9 the table is actually on page 9.  Table 5.  


Do you have that?  


MR. DENOMY:  Yes.  


MR. MILLAR:  Okay.  I just want to make sure I understand exactly what this table is showing us.  We see the years on the left-hand side from 1990 to 2005.  Then we have along the columns, first the actual, and then the different possible weather forecasting methodologies.  


MR. DENOMY:  That's correct.  


MR. MILLAR:  And I guess what you've done is, you've run these models, you've run each of the models for the relevant years and the table shows the number that has been spat out?  


MR. DENOMY:  Yes.  


MR. MILLAR:  Just to make sure I understand this, exactly -- sorry if we were to forecast for 2006 or 2007, you do exactly the same thing, right?  


MR. DENOMY:  Yes.  


MR. MILLAR:  You just carry this chart on further?  


Okay.  I want to make sure I understand exactly what you have done.  If we take, for example, the first year, 1990, when you ran these analyses and ignore the actuals -- I guess we’re focussing on the 20-year trend, but when you ran the analysis for each of these models, did you put yourself back in I guess 1989 and take the data set immediately preceding 1989 and then -- or immediately preceding 1990 and then produce these numbers?  


MR. DENOMY:  These tables -- this table is produced under the assumption that the degree day forecast would have always been produced on a two year ahead basis.  


So for example with the 20-year trend, if I was producing the forecast for fiscal year 1990, I would have used data from 1988 to 1970... 1969.  Sorry.  And I would have run the 20-year trend then carried it out two years. 


MR. MILLAR:  Okay.  So for each of the fiscal years on the left hand column you actually put yourself in the position of taking the data set two years previous to the number that we see there?  


MR. DENOMY:  That's correct.  


MR. MILLAR:  Okay, thank you for that.  Again, I don't want to beat the point to death, but you didn't take any other data?  There is no other input into those equations?  


MR. DENOMY:  No.  


MR. MILLAR:   My next reference will be actually looking at an interrogatory that Energy Probe filed, Exhibit 1, tab 5, schedule 4, page 1.  


Do you have that?  


MR. DENOMY:  Yes.  


MR. MILLAR:  Okay, thank you.  Before we look at the actual numbers here, would you agree with me that the more volatile the weather is, the harder it is to predict?  


MR. DENOMY:  Yes.  


MR. MILLAR:  And I think one of the reasons the company has stated that it’s proposing to use the 20-year trend is because it better captures the recent volatility in weather?  


MR. DENOMY:  Yes.  


MR. MILLAR:  And I think you've also stated, if not in examination then in the prefiled evidence, that the volatility in weather has been increasing over the last couple of years. 


MR. DENOMY:  Yes.  That is what this table shows. 


MR. MILLAR:  Yes, thank you.  You are reading my mind.  That as going going to be my next question.  


We see for the years 1996 to 2005 -- 


MR. MILLAR:  Was this one of the tables that was updated?  


MR. DENOMY:  No, I don't believe --


MR. MILLAR:  Never mind. 


MR. DENOMY:  We provided an update to this table. 


MR. MILLAR:  If we look at 1996 to 2005, the standard deviation for the central region is 313, eastern is 291, and Niagara is 282, approximately. 


MR. DENOMY:  Hmm-hmm.  


MR. MILLAR:  And subject to check, would you agree that volatility in the eastern region is about seven percent lower than the central region and in Niagara it is about 10 percent less volatile than the central region?


MR. DENOMY:  Subject to check, yes.  


MR. MILLAR:  Now, if volatile weather is harder to predict than less volatile weather, would you expect that a good model would perform better where there is less weather volatility?  


MR. DENOMY:  I'm sorry, can you repeat that question, please. 


MR. MILLAR:  Well you have stated the more volatile the weather the harder it is to predict. 


MR. DENOMY:  Yes. 


MR. MILLAR:  So, that would lead me to think a good model would be better at predicting weather, where there is less volatility over where there is more volatility.  Does that make sense?  


MR. DENOMY:  I think a good model would better predict whether or not there is more or less volatility.  It is just, in general, on average it's going to produce a more accurate forecast.  


MR. MILLAR:  Okay.  That's fair enough.  But would you expect it would predict better where there is less volatility?  Since it is easier to predict weather where there is less volatility?  


MR. DENOMY:  I would expect it to predict weather better if there is less or more volatility.  


MR. MILLAR:  Okay.  Could we pull up, it is Energy Probe number 8 and that is Exhibit I, tab 5, schedule 8.  I think it is a four-page exhibit.  


This is interrogatories asked by Energy Probe where they asked you to provide the same analysis of the eastern and the Niagara region for the prefiled evidence where you provided that same analysis for the central district.  


MR. DENOMY:  Yes.  


MR. MILLAR:  And would you agree with me that -- first of all we've always discussed the eastern and Niagara regions have less volatile weather.  But when we look at these responses to Energy Probe's interrogatory, and I guess page 2 - Ms. Ing, if we could look at that - it seems that this model doesn't do nearly as well when we look at the eastern and the Niagara regions.  You would agree with that, the model is not as strong in the eastern and Niagara regions?  


MR. DENOMY:  Yes.  It is not as strong in the eastern and Niagara regions. 


MR. MILLAR:  I guess it is somewhat puzzling to me.  I would be interested to hear your thoughts on this, but can you explain to me why this 20-year trend model is more accurate where the weather becomes more volatile and, conversely, less accurate where the weather is smoother.  Do you have an explanation for that?


MR. DENOMY:  It doesn't have anything to do with the volatility.  It's simply to do with the fact that the model works better for the central weather zone.


According to these tables, the 20‑year trend does not rank as high as some of the other models for the eastern and Niagara weather zones.  It works well for the central one.  So I think ‑‑ and I think we already established that.


As I said before, we simply applied the 20‑year trend to eastern and Niagara, because that was the working assumption, what we would have to do.  If we were to have three different weather forecasting methodologies, I think it would be extremely unwieldy for the company.  


In the past, I think it's always been accepted that you have one standard methodology across all of your franchise areas, and, for us, in this particular case, according to our analysis, it is the 20‑year trend.


MR. MILLAR:  That's fair enough.  I am not necessarily suggesting you need three different methodologies, but I guess my question to you is:  Are you surprised to see that the model performs better where volatility increases, because there is only ‑‑


MR. DENOMY:  I am pleased to see that it performs better when volatility increases.


MR. MILLAR:  I'm sorry, I was speaking over you, so could you repeat.


MR. DENOMY:  Sorry.  I am just saying I am pleased to see that the model performs better where there is higher volatility.


MR. MILLAR:  I guess there are two ways to look at it.  One is to say, Well, look, weather is becoming more volatile, and in the central region it is especially volatile.  That is where most of our throughput is, so perhaps it is appropriate to have a model that does well with high volatility.


But I guess not being a statistician myself, I would have thought the opposite would be true, that where you smooth the weather, as we've discussed, it is easier to predict.  This model actually seems to predict better if the weather isn't smooth. 


I have asked this a couple of times.  You have given an answer.  If you wish to add to it, that's fine, but I found it puzzling.


MR. LADANYI:  Maybe I could explain this.  The regression model that we have designed, it was designed to fit the central region data.  That is why it fits it well.  Now, it so happens that the central region data is very volatile, but the model is designed to deal with that, and it deals with it very well.  


The other two regions it was not designed to fit, but actually does fit it reasonably well, not as well as the central region.  Because we can't have three models, because it is going to be very unwieldy and complicated, we have the one that fits 80 percent of our volumes.  


That's been the pattern with this Board ever since Consumers Gas, and now Enbridge has come before you.  It was a central region model that was applied to the whole franchise of the company.  This is what the Board Staff witness Leo de Bever did, and we continued to do the same thing.  It was the way to deal with our franchise.


MR. MILLAR:  Is there any concern to any three of you that it seems to predict less well where weather is smoother, or is that just the way it has worked out?


MR. LADANYI:  That's just the way it has worked out.


MR. MILLAR:  Okay.  Just one final area.  It will just be a minute.  


We talked about the new forecast leads to a $12.9 million deficiency.  That's if you cast your mind back to when my cross‑examination began.  The deficiency resulting from the weather forecast, new methodology is 12.9 million; is that correct?


MS. CHAN:  That's correct.


MR. LADANYI:  That's right.


MR. MILLAR:  Pardon me.  That's 12.9 million over 2006.


MR. LADANYI:  Compared to 2006 rates, that's right.


MR. MILLAR:  2006 was a settled amount.  It wasn't based on -- it might have been based on a methodology, but it wasn't the output, strictly speaking, of the methodology.  It was a settled amount?


MR. LADANYI:  Yes, it was.


MR. MILLAR:  The status quo at that time, had we been following a methodology, would have been the de Bever?


MR. LADANYI:  It would have been the de Bever, if a methodology was followed.


MR. MILLAR:  That was the methodology that was Board‑approved at the time, if you can ‑‑


MR. LADANYI:  The last Board‑approved methodology.


MR. MILLAR:  You may have to take an undertaking on this, but can you tell us what the difference would be in the revenue deficiency compared to what de Bever would have given you in 2006 versus what the 20‑year trend would give for 2007?


MR. LADANYI:  We would have to take an undertaking.  We provided that for 2007, but we don't have that for 2006.


MR. MILLAR:  Could I ask for the undertaking for 2006?  That will be J3.11.


MR. LADANYI:  I have to caution you this might be a lot of work, so -- you know, you have given us an awful lot of undertakings, so I think you should keep in mind that this might take us more than a week to do all of this stuff.


MR. MILLAR:  I promise this is the last ‑‑ that's the last question, so -- it's the last one.  J3.11.


MR. STEVENS:  Could I ask you just to repeat what the undertaking is?


MR. MILLAR:  Yes, I'm sorry.  It would be to provide 

-- the background is the revenue deficiency currently resulting from the 20‑year trend is 12.9 million over Board‑approved 2006.  I am wondering what that deficiency would be had the Board-approved in 2006 been the results of the actual de Bever forecast for 2006.


MR. KAISER:  Mr. Millar, what is the relevance of that?  How is that going to help us decide whether this is a proper methodology or not?


MR. MILLAR:  Well, Mr. Chair, if you don't think it will be of assistance ‑‑


MR. KAISER:  I am happy to listen, but the witness has said it will take him a lot of time.  I don't quite see the relevance myself.


MR. MILLAR:  I thought it would be easier to prepare, Mr. Chair.  If it is not easy, I'm happy to let that one go.


MR. SHEPHERD:  Sorry, Mr. Chairman, I was going to ask for that, anyway.  The question is not so much what the difference is from 2006, but the effect is ‑‑ because the delta that you are given, $12.9 million, is based on an agreed number from last year.


MR. KAISER:  Right.


MR. SHEPHERD:  If the Board's choice this year may be between existing methodology de Bever and the proposed methodology.


MR. KAISER:  That question I understand.


MR. SHEPHERD:  So the delta between those, which I think is what you are going after ‑‑


MR. KAISER:  I thought you were asking what it would have been in 2006.  I understand there may be relevance to what the 2007 figure would be --


MR. SHEPHERD:  That's right.


MR. KAISER:  -- de Bever versus 20‑year average.


MR. LADANYI:  Mr. Chairman, we already answered that in Board Staff Interrogatory 17.


MR. KAISER:  I know that.


MR. MILLAR:  Well, I won't ask.  If Mr. Shepherd chooses to pursue it in his cross, we will let that go.  


Thank you, gentlemen.  Those are my questions.


MR. STEVENS:  Just to follow up on that.  I believe if people did want to turn to Board Staff 17, the information in terms of 2007 is presented there.


MR. KAISER:  You are going to be coming to that, Mr. Shepherd, are you?


MR. DeROSE:  I believe I will be coming to that before Mr. Shepherd.


MR. KAISER:  Somebody will be.  Thank you, Mr. Millar.  Mr. DeRose, are you up to bat?


CROSS‑EXAMINATION BY MR. DeROSE:

MR. DeROSE:  Thank you, Mr. Chair.


Panel, my name is Vince DeRose.  I am here on behalf of the Industrial Gas Users Association.  Let me just start by ‑- so that you understand where we are coming from, our members are concerned about the implications of the new weather methodology proposal, and, in particular, the rate impacts of the new weather method proposed.


So the focus of our cross is really going to be on the regulatory implications of that proposal.


Before I go there, let me just follow up on one comment that -- Mr. Denomy, you've mentioned a number of times that at the time that the de Bever methodology was being looked at ‑ so this is back in 1990 ‑ that you were told to look only at the central region.  Did I hear you right?


MR. DENOMY:  No.  We were not told to look at the central region only.  Dr. De Bever examined the central region, only, at the time and based his recommendation of his methodology on his analysis of degree days in the central weather zone.


MR. DeROSE:  Okay.  Just so that I understand, when you say the central zone, that is Toronto; correct?


MR. DENOMY:  Yes.


MR. DeROSE:  The eastern zone, generally speaking, is Ottawa?


MR. DENOMY:  Yes.


MR. DeROSE:  And when you say that ‑‑ do you accept that Mr. ‑‑ that Dr. de Bever - I believe he was a doctor - that Dr. de Bever ‑‑ I am told he still is ‑‑


MR. DENOMY:  Yes.


MR. DeROSE:  That Dr. de Bever was correct in only using the central?  You seem to just rely on it holus bolus.


MR. LADANYI:  Well, I guess I'm one of the few people who was around who actually heard Dr. de Bever testify.  I believe what he did at that time is that he did what was practical for the Consumers Gas franchise.  It is a franchise that consists of three discrete parts, and the very large -- the largest part, by far, is the Greater Toronto Area, and he used that data.


And he then applied it to the rest of the franchise.  And the proportions of the volumes are probably the same now as they were in 1990, i.e., that is that 80 percent of our volumes are in the Greater Toronto Area, which seemed like a reasonable thing to do, and that was what had continued in subsequent years.


MR. DeROSE:  Well, given that you are here trying to change his methodology, I simply, again, ask just this:  Have you turned your mind to whether it is appropriate to only look at the central region; and, if so, can you provide an explanation as to why you believe it is, other than simply relying on Dr. de Bever?


MR. LADANYI:  Well, the alternative would really be to have three different degree day methodologies, which is going to be unwieldy and hard to manage, and because, as I said before, our largest amount of data, which is the 80 percent of the data, relates to the Greater Toronto Area, to the central region, that is a reasonable solution to this particular problem.


Now, I am sure that you can have segmentation of the data and have many different methodologies applied and have different formulas for each region, but, again, it is going to be a complication, and sometimes you have to make a decision about what is the right approach to a particular problem.


Here, it's been traditionally accepted that essentially 80 percent of the volumes are going to be the ones that are going to drive how these issues are dealt with.


MR. DeROSE:  Okay, thank you.  I will move on.


I would like to now talk briefly about the current Board‑approved de Bever methodology.  That is the only weather methodology, or at least since 1999 that is the only weather methodology that the Board has approved for Enbridge Gas Distribution; correct?


MR. DENOMY:  It's the only ‑‑ did you say 1999?


MR. DeROSE:  Sorry, I meant to say 1990.


MR. DENOMY:  It's the only Board‑approved methodology for EGD since 1990.


MR. DeROSE:  If I could take you to Board Staff Interrogatory No. 17.  This is Exhibit I, tab 1, schedule 17, and if I could turn you to page 3, so page 3 of 3.


Do you have that document, panel?


MR. LADANYI:  Yes, we do.


MR. DeROSE:  Picking up on the impact of the revenue deficiency, this is item 1.5 on table 1.  On column 2, which identifies the de Bever, it shows an impact on the revenue deficiency of 21.2 million.


First of all, that is the number that -- if the Board were to reject the 20‑year trend and reaffirm the current Board‑approved methodology, that would be the impact on your revenue deficiency?


MR. LADANYI:  The way it would work, currently de Bever ‑‑ currently the 20‑year trend has an increase in revenue deficiency of $12.9 million.


MR. DeROSE:  Correct.


MR. LADANYI:  So the resulting revenue deficiency would be 21.2 million minus 12.9.  So the revenue deficiency would actually decrease.


So the application of the 20‑year trend increases revenue deficiency by $12.9 million, and application of the de Bever will decrease it.  So we would get a revenue sufficiency as a result of applying de Bever, but sufficiency will not be $21.2 million.  It would be 21.2 million minus 12.9, which is $8.3 million sufficiency or a rate decrease compared to 2006.


MR. DeROSE:  Okay.  Now, sorry, that ‑‑ I have to tell you that is not intuitively what this chart says.  Are you saying that the impact on the revenue deficiency as applied for would not be 21.2 million, if this Board reaffirmed the de Bever methodology?


MR. LADANYI:  Well, it depends what you are asking for.  If you are asking, What is the total -- the question first is -- what is not shown here is what we have applied for, which is a 20‑year trend.


A 20‑year trend has a revenue deficiency of $12.9 million.  So if it was shown here on this chart, it would be shown as a negative.


All of the other numbers here on this chart are positives, so they have to be subtracted against the other number.


MR. KAISER:  Oh, that's what the chart doesn't show, though?


MR. LADANYI:  Yes.


MR. DeROSE:  Perhaps let me try it this way, Mr. Ladanyi.  If you can keep Board Staff number 17 up and also pull up the settlement agreement.  So this is Exhibit N1, tab 1, schedule 1, page 11 of 47.


MR. LADANYI:  I have that.


MR. DeROSE:  And on the first full paragraph on that page, the parties to that settlement agreement set out the additional revenue deficiency amount, which was 52 million, based on the company's filing, which would require determination by the Board in this hearing.


If we take that 52 million, are you telling us that if the Board were to reaffirm the de Bever methodology, that the impact would not be 52 million subtract 21.2 million?


MR. LADANYI:  Right.


MR. DeROSE:  What would I subtract from the 52 million?


MR. LADANYI:  Well, if you take the 52 million ‑‑ if you were to do nothing - let me start like this - and you remained with the settled degree days from last year, which is 3,745 degree days, that would result in no deficiency due to degree days.  Do you understand that?


So, therefore, if you were to actually then go to de Bever, you would actually go to a higher number of degree days than 3,745, which would actually create a sufficiency, you see.  So what we have ‑‑ whereas what we are applying for is a reduction in degree days, which creates a deficiency.  


So the two numbers are going in opposite directions.  They have to be subtracted from each other.  So the impact, if you were to go to de Bever is, is about $8.3 million, which is 21.2 minus 12.9.


MR. DeROSE:  Okay.


MR. LADANYI:  So 12.9 is completely included within the $52 million remaining deficiency that's discussed on page 11 of Exhibit N1, tab 1, schedule 1.


MR. DeROSE:  Okay.  I'm sorry if I am being thick about this, but what revenue deficiency?  I am back to Board Staff number 17.  When you talk about the $21.2 million impact, what revenue deficiency were you working from in that chart?


MR. LADANYI:  $12.9 million due to the application of the 20‑year trend.


MR. DeROSE:  So it was not a 21.2 million on the total revenue deficiency, but it was 21.2 million only on the 12.9.  That was just assumed into it?


MR. LADANYI:  That's right.  It is a change from what was requested.  That's how we interpreted that interrogatory.  It is not an absolute number that measures it from the last year's settled number, but it is from the requested number.


MR. DeROSE:  Again, if I can now just take you back to N1, tab 1, schedule 1, page 11 of 47, again, same paragraph, but now the last sentence, it says:   

"Based on positions that may be taken by parties in the hearing, the potential outcomes arising from the determination of these unsettled issues by the Board range from incremental revenue sufficiency of approximately 5 million to an incremental revenue deficiency of 52 million."


My understanding was that the sufficiency of approximately 5 million was, in large part, driven by the possibility of the Board accepting de Bever.  Is that your understanding?


MR. LADANYI:  No, it isn't.  I'm not sure what the source of the 5 million is specifically.  But Mr. Culbert is a witness who worked with us on this interrogatory, Board Staff 17, so I am sure that he has calculated the numbers correctly.


MR. DeROSE:  I've ‑‑


MR. STEVENS:  I can speak to this.  I think, generally speaking, the incremental revenue sufficiency of approximately 5 million was meant to denote what could happen if de Bever was adopted.  And it was based -- well I don't want to get into where the numbers came from and where they got to, but that was the idea behind the idea that there could be a sufficiency at one goal post in terms of the outcomes from the rest of the hearing.  


MR. DE ROSE:  Mr. Chair, unfortunately this is getting into an area where it is a grey zone between settlement discussions and cross-examination.  


MR. KAISER:  Why don't we leave it on this basis:  Can you tell us what the sufficiency or deficiency would be in your application if you accepted de Bever?  


MR. LADANYI:  Mr. Chairman, is this based -- as far as it is listed in paragraph, second paragraph on Exhibit N 1, tab 1, schedule 1, I can't answer that.  


I can only answer it with respect to how we responded to Board Staff 17.  With respect to our response to Board Staff 17, if we adopted de Bever, the deficiency will now turn into a sufficiency and it will become a sufficiency of 8.3 million dollars.  Which will be 21 -- essentially we are currently asking for a rate increase based on a 20-year trend of 12.9 million dollars.  If we adopted de Bever, we would be actually going the other way, there would be a rate decrease.  So therefore -- 


MR. KAISER:  To the tune of 8.3 million?  


MR. LADANYI:  That's right.  The difference between the two of them is 8.3 million dollars.  


MR. KAISER:  No.  Not the difference between the two of them.  


If you take your application and you forget about the 20-year trend and instead applied de Bever, is there a sufficiency or a deficiency, and what is it?  


MR. LADANYI:  There is a sufficiency and it is $8.3 million.  


MR. KAISER:  All right.  


MR. DE ROSE:  Okay.  Well, let me then turn to... 


MR. VLAHOS:  Mr. Ladanyi while those two gentlemen confer, can you help me approach this a different way.  


The two models give rise to different degree days, right?  


MR. LADANYI:  Right.  


MR. VLAHOS:  Okay.  For the test year?  And those degree days are linked to volumes as you spoke of before.  


MR. LADANYI:  Right.  


MR. VLAHOS:  All right.  So I would approach it as a check, if you like, from this perspective.  What is the difference, the delta in the revenue requirement based on the two approaches for 2007.  Would that clarify things if that question is asked now? 


MR. LADANYI:  I think we are discussing actually the revenue forecast.  The revenue requirement remains unchanged; it is the revenue forecast that changes, and the deficiency is the difference between the revenue forecast and the revenue requirement.  So what you are doing in the cost of service, you are preparing a revenue forecast at existing rates and then -- but you are using the forecasted volumes.  So the existing rates are based on 3,745 degree days.  Then the deficiency is calculated when you apply our forecast of volumes using last year's rates and that is the deficiency.  


So if you were to use the de Bever methodology, you will forecast higher amount, more units of gas.  So the volume forecast will be greater.  Revenue requirement will remain unchanged but the difference between them - which is the deficiency or sufficiency, as the case may be - will change.  


What happens with de Bever here is that de Bever is forecasting higher number of degree days, so therefore although we are currently showing a deficiency, we are essentially our revenue forecast is lower than our revenue requirement.  


All things being equal, if you apply de Bever we will now -- our revenue forecasts will be excess of revenue requirement and we will be showing a rate decrease rather than a rate increase.  That rate decrease will be $8.3 million.  


Now I believe there are some other things in that paragraph in the settlement agreement that are affecting that number.  So I am not sure why it is $5 million.  We would have to talk to Mr. Culbert who did the calculations we really don't know what it is.  


MR. DE ROSE:  Would we be able to have the undertaking to have Mr. Culbert explain how he calculated that $5 million sufficiency?  


MR. STEVENS:  I am harkening back to a statement you made a few minutes ago, Mr. DeRose, that we are getting into a grey area, the settlement discussions and I am not sure -- I guess I would like to be able to have an off-the-record discussion with you. 


MR. DE ROSE:  I think that is appropriate, Mr. Chair.  I will move on.  Perhaps Mr. Stevens and I can have an off-line discussion at the end, even if my cross is over, if we agree it would be appropriate to put that on I would rely on him to advise the Board.  


MR. KAISER:  Let's proceed in that fashion.  


MR. DE ROSE:  Let me then move on to the Energy Probe method.  If we can stay with Board Staff 17.  In column 1, that shows an impact on the revenue deficiency of 12.3 million.  You see that, Mr. Ladanyi?  


MR. LADANYI:  Yes, I do.  


MR. DE ROSE:  So is my understanding correct, that now -- well, what -- does that mean that if the Board were to accept the Energy Probe methodology, that we would have to take the 12.3 and subtract the 12.9 from that so that, in fact, it would actually be increasing the impact on your revenue deficiency. 


MR. LADANYI:  That's right.  So if you applied the Energy Probe, you subtract 12.9 from that and you would have a deficiency of $0.6 million.  So that would be the rate increase would be all other things being equal, would be $600,000.  


MR. DE ROSE:  Just, again I'm sorry if I'm missing this.  But in 1.5 when you say impact on revenue deficiency, what revenue deficiency were you -- did you have in mind?  


MR. LADANYI:  I had in mind, here we are isolating the impact of applying the 20-year trend model.  So the 20-year trend by itself all other things being equal, produces a revenue deficiency of 12.9 million dollars.  


If, however, one applied some of these other models, that would change, that deficiency the 12.9 will no longer be 12.9.  It will be something else.  This is what it shows.  


MR. DE ROSE:  Well -- 


MR. LADANYI:  12.9 million dollar revenue deficiency is within the total revenue deficiency that the company requested in its application to the Board.  It is one of many items.  


MR. DE ROSE:  So my question is the revenue deficiency that you are referring to, 1.5, was not, as it was revised at one point, the 158 million.  In your mind it was the 12.9?  


MR. LADANYI:  I don't know that it really matters, because what we are dealing here with is the relative change.  


So these are not absolute deficiencies.  These are changes in a deficiency, what you are seeing here.  So whether we start off with 100 million dollar deficiency or $20 million deficiency, it is really, we are dealing with the relative change in the deficiency in this interrogatory.  


MR. DE ROSE:  Okay.  Let me then turn to what has been referred to as the Union methodology.  As you have referred to in your evidence and in your direct today, the Board has, in addition to approving the de Bever for Enbridge -- the de Bever weather methodology for Enbridge Gas Distribution, the Board has also approved a different weather normalization methodology for Union.  


I am going to refer to that just as the Union methodology.  But as you've described it, that is a method whereby - if you could please correct me if I'm wrong - 50 percent weighting to the 20-year trend and 50 percent weighting to the 30-year moving average.  


MR. LADANYI:  That's right.  


MR. DE ROSE:  And again on Board Staff interrogatory number 17, the impact on the revenue deficiency, if this Board were to approve the Union methodology so that both utilities have the same methodology, that would have an impact of 17.6 million on your revenue deficiency.  


MR. LADANYI:  With respect to, again, to $12.9 million deficiency.  So the net impact would be $4.7 million.  


So if the Board applied the Union methodology there would be a sufficiency or rate decrease of $4.7 million.  


MR. DE ROSE:  And in approving the Union methodology, the Board had noted that the 20-year trend will respond more quickly to changes in the short run, but will be more volatile.  Do you agree with that general description of the 20-year trend?  


MR. DENOMY:  Based on the standard deviation of the forecasts of the 20-year trend, it is a more volatile forecast, yes.


MR. DeROSE:  Okay.  Would you also agree with the proposition that the 30‑year moving average reacts more slowly to short run trends, but is not as volatile?


MR. LADANYI:  I think we would agree with that.  However, why don't you keep in mind it is really quite unreasonable to expect that the weather in 2007 will be the average weather that we experienced over the 30 years.  I think there is general agreement that in southern Ontario we have seen an increase in temperatures and a decline in degree days.  


So to really rely and give a lot of weighing to an average of 30 years is really quite unreasonable.  I think it would be worth almost getting headlines in newspapers to say that the Ontario Energy Board believes that the weather in 2007 will be anything similar to average weather for 30 years.


MR. DeROSE:  Isn't that what the Ontario Energy Board did in the recent Union case?


MR. LADANYI:  That was in 2003.  We are now in 2007.


MR. DeROSE:  Okay.  Mr. Ladanyi, sorry, what has changed since 2003 to 2007 in terms of weather?


MR. LADANYI:  There's been a lot of warm weather.


MR. DeROSE:  So you are now basing this on the past three years?


MR. LADANYI:  No, I'm not, but there is more data than we have in ‑‑ than we had in 2003 or that Union Gas had in 2003.  The trend -- if we are looking at a trend, the trend line is going to be pointing in a slightly different way than it would have pointed in 2003.


MR. DeROSE:  Well, I think we can save that for argument, Mr. Ladanyi.


I take it you would agree with me, though, that currently there are only, in Ontario, two approved weather methodologies for the gas utilities.  There is the de Bever method and there is the Union method?


MR. LADANYI:  I believe that is the case.  I'm not sure what methodology NRG uses, so I can't tell you, and I also am not entirely sure, for their own purposes, whether Kitchener or Kingston uses a different methodology.  The Six Nations Reserve, I am not sure what they use.


So if you leave all of those aside, the two large utilities, yes, I would agree with that.


MR. DeROSE:  Okay, fair enough.  Are you aware of any jurisdictions where the 20‑year trend has been accepted by a natural gas regulator?


MR. DENOMY:  No, we are not aware of any.


MR. DeROSE:  Would that include both Canada and the US?


MR. DENOMY:  Yes.


MR. DeROSE:  And what about for the Energy Probe method?  Are you aware of any jurisdictions that have accepted ‑‑ and I realize they wouldn't call it the Energy Probe method, but ‑‑


MR. DENOMY:  That is unique to Enbridge.


MR. DeROSE:  Okay.  Panel, if I could turn you to C2, tab 4, schedule 1, page 6 of 30.


I am just going to ‑‑ if you would look at figure 1, you list the methods that you have described as under consideration.


Can you confirm that ‑- or are you aware of any parties in this proceeding that are advocating either the naive 10‑year moving average, the 20‑year moving average, the 30‑year moving average or the de Bever with trend?


MR. LADANYI:  No, we are not, but there is some historical context for some of these.  Naive I think was presented, or is -- I believe by Mr. Shepherd a couple of years ago, and I see him nodding there.  The 10‑year moving average, in fact, was proposed by the old Consumers Gas Company in 1960 to the OEB, and the OEB, at that time, told Consumers Gas to use a 20‑year moving average in 1960.


The 30‑year moving average was traditionally used by Union Gas.  Another one that is not shown here is what Consumers Gas used from 1979 until de Bever methodology was implemented, which is a five-year weighted average, which actually worked quite well and I kind of wish we had put it there.  But that worked quite well.  


So there is another methodology that had been in play over the years.  So there is a historical context to all of these that are shown here.


MR. DeROSE:  Is there a reason why you wouldn't have put forth the 30‑year trend?


MR. DENOMY:  It's not a method we considered.


MR. DeROSE:  Okay.  Again, just for the Board's assistance, at least on the knowledge ‑‑ on my understanding, and I believe on yours, the only models that have parties advocating for them in this proceeding for the Board to consider are the Union method, which is the average of 20‑year trend and 30‑year moving average; the de Bever, which is the Board approved method from 1990; the 20‑year trend; and the Energy Probe method.  Those are the four options that have advocates currently?


MR. STEVENS:  I think to be fair, Mr. DeRose, we haven't heard from all of the parties, so we are really not in a position right now to know what anybody is going to be advocating.  The record will show what it shows by the end of the piece.


MR. DeROSE:  Okay.  I didn't think that was a secret, but that's fine.


Now, panel, you described in your direct Environment Canada degree days and gas supply degree days.  I am told there is a third called balance point degree days.  Are you aware of balance point degree days?


MR. DENOMY:  Yes.


MR. DeROSE:  What are balance point degree days?


MR. DENOMY:  Balance point degree days ‑‑ I believe we responded to an interrogatory with this explanation.


If you turn to VECC Interrogatory No. 4 at Exhibit I ‑‑ sorry.  Exhibit I, tab 24, schedule 22.  This is an attachment to one of VECC's interrogatories.  


The response to this interrogatory has an explanation of what balance point heating degree days are.  Balance point heating degree days are a transformation of gas supply degree days.


So, for example, for the central weather zone, the balance point is 14.8 degrees Celsius.  For the eastern weather zone, the balance point is 14.6 degrees Celsius, and for the Niagara weather zone, the balance point is 15.3 degrees Celsius.  It's just a different way of measuring degree days.


MR. DeROSE:  Thank you.


Throughout your evidence, in some of your analysis you use Environment Canada degree days and in other aspects of your analysis you use gas supply degree days.  


How do you decide whether to use Environment Canada or gas supply degree days?


MR. DENOMY:  We use Environment Canada degree days because there is a much longer history of Environment Canada degree days available to us, and it's the ‑‑ that's the degree day series that we have traditionally examined and the one that could handle the large data requirements for the de Bever method.  


You need an extensive amount of history to estimate the de Bever model.  So we have had to use Environment Canada degree days to do that, and, in fact, that is why Dr. de Bever did it as well.  There was a much longer history.


The company, for setting its budgets, however, uses gas supply degree days.  So you have to convert Environment Canada degree days to gas supply degree days, and then 

the ‑‑


MS. CHAN:  From the budget, we used balance point degree days, and it was actually Board‑approved.  That was at that time EBRO 487, to properly providing appropriate heating load for general service customers, and at that time Board approved and accepted the company proposed balance point degree days.


MR. DeROSE:  Okay, thank you.  You said you convert Environment Canada degree days to gas supply degree days?


MR. DENOMY:  Yes.


MR. DeROSE:  Is there an accepted formula to do that, or is that something that requires subjective judgment?


MR. DENOMY:  No.  If you refer to Exhibit C2, tab 4, schedule 1 ‑‑ just give me a second to get the page. Page 23.  If you go to the bottom of table 13.


MR. DeROSE:  Yes.


MR. DENOMY:  Does everyone have that?  There is an equation under footnote B.  That's the equation that is used to convert Environment Canada degree days to gas supply degree days for the central weather zone.


There are other equations for eastern and Niagara, as well.  Those are all in evidence.


MR. DeROSE:  Thank you.  Now, let me get back to a higher level approach, in terms of rate making and in terms of the impact on ratepayers of the weather methodology.

Let me start with this.  First of all, if a weather normalization methodology over-forecast degree days, as I understand it the ratepayers are then at risk for unutilized demand charges; is that fair?


MR. LADANYI:  I think you're discussing now ‑‑ are you discussing gas supply planning issues?


MR. DeROSE:  Well, I see them as interconnected.  Is this something that a different panel would discuss, Mr. Ladanyi?


MR. LADANYI:  I would say a different panel.  I didn't realize the gas supply planning was an issue in this hearing.


MR. DeROSE:  Well, let me ‑‑ I'm not looking at your gas supply.  I am trying to set out for the Board the various impacts that weather methodology has on your operations.  

Was I mistaken that you would be able to talk about this at a high level?


MR. LADANYI:  Well, I can tell you, in general terms, the gas supply planning is not done this way.  It is done in a different way.  It is done to design for peak load on a peak day.  So you can have a year with a relatively small number or low number of degree days, but you still have several very cold days and you have to meet your peak load on that day.  

So gas supply planning is done to meet multiple peak loads.  I think that was discussed by the Board in a case several years ago.  I am trying to look it up.  I believe it was EBRO 490 that it came up, that issue on how to do gas supply planning.  This panel is not equipped to discuss that; plus I also don't think it is an issue in this case.


MR. DeROSE:  I guess where I am going with this, Mr. Ladanyi, I'm not suggesting that your gas planning forecasting, once you get your degree days, is it in any way improper.  I am simply attempting to set out what the impacts of a change in weather methodology are to various components.


I will really raise it up to a high level, then.  A change in weather methodology, first of all, will impact what customers pay in rates.  It will either make them go up or down?


MR. LADANYI:  Yes.  If there is fewer units of gas to be sold and you are trying to recover a certain fixed cost over fewer units, obviously the cost per unit is going to be higher.  Conversely, if you have a greater number of units, the cost per unit will be lower.


MR. DeROSE:  Okay.  Mr. Millar took you through some questions with respect to contract customer demand.  So that would be your gas supply planning; correct?


MR. LADANYI:  That would be the ‑‑ what we are actually -- there's two issues one has to discuss.  One is the recovery of company's costs in rates, which is what we are talking about today, and another thing which you are raising, which is:  How are people who supply, who purchase volumes, who contract for transportation on upstream pipelines, how they do their work?  I can't answer that, because I am not a witness for that.


MR. DeROSE:  Well, let me ask this, because I believe you did say this to Mr. Millar, even though it is not explicitly on rates.


My understanding of your discussion with Mr. Millar on the methodology in which the account representatives go out to direct purchase customers and they have a discussion about what their customer contract demand should be, was that weather methodology does not impact that process.


MR. LADANYI:  What it is there is they will get the ‑‑ the account executives will get a forecast of volumes from a particular industrial customer, whether it might be a paper mill or a car manufacturing plant, and so on.  There will be things that impact that, and once -- in consultation, they will find out, for example, it could be that industrial customer is expanding production and will therefore be using more gas, or it could be that they're contracting, and they will get that kind of information.


Now, because ‑‑ once this information is obtained, we will then find out what portion of that customer's volume is going to be weather sensitive.  So it will be impacted by the degree day methodology, to a certain degree.


MR. DeROSE:  Okay.  So let's just take an example.  If we have an industrial in a large volume rate class --


MR. LADANYI:  Right.


MR. DeROSE:  -- and you have the account representatives go out and they have the discussion, and the account representative and the company agree and -- agree on what they believe they will burn for the year.  


If there is a change in the weather methodology, will that change or have an impact on that customer's contract demand?


MS. CHAN:  I want to point out when account executives talk to customers and customers have their own contracted volume and that it will be the volume put on the contract; whereas here in this proceeding, we are asking for the volume budget, and the volume budget based upon resetting will be based upon the company degree days assumption.  


So in some way, you are talking about two different aspects.  One is you are talking about customer's operational side, and here, when we talk about weather normalization methodology, we are talking, from the company, this is the best prediction for 2007 degree days.


MR. DeROSE:  Okay.  So weather methodology will have no impact on any customer's contract volume?


MS. CHAN:  From the volume rate-setting budget, it does have an impact, not on when customer's contract with their own broker.


If you want to look at the volume impact for the large customers, if you can turn to Exhibit C3, tab 2, schedule 3, page 2, and if you look at column 4, if you look at item number 4?


MR. DeROSE:  Yes.


MS. CHAN:  And 30.4 million cubic metre will be the estimated weather impact between the 20‑year term methodology compared to the 2006 Board‑approved settled number.  This is basically the rate‑setting volume budget for contract customers.


MR. DeROSE:  Mr. Ladanyi, if this is beyond the scope, then I will move on, but does this mean that if the 20‑year trend is accepted by this Board and approved, that large volume direct purchase customers ‑‑ well, and let me put one more assumption:  And if that 20‑year trend results in ongoing under-forecasting of degree days, will that have a negative impact on large volume users?


MR. LADANYI:  Well, let me say it will have an impact on large volume users.  I don't like your connotations about under-forecast and negative.


What it is is -- what we are trying to do here is we're trying to have a level playing field, essentially.  That is what it really is.  We want to have a forecasting methodology that is just as likely to over-forecast as under-forecast.


What we have currently is a very tilted playing field, or you can call it a stacked deck or loaded dice, but it is essentially a field that is slanted against us.  And we are asking -- only asking to have something in place that will give us a fair opportunity to recover our costs in the future.  That's all we are looking for here over the 20‑year trend.  


We have looked at different methodologies and different methodologies, and none of them work as well as the 20‑year trend.  If somebody comes up with something better, we can look at it, but nobody has proposed -- none of the intervenors have filed anything else.  


What we have here is we looked at what Union Gas had, which was a 20‑year trend that was proposed in 2003, and it seemed like a reasonable thing to do and it does produce good results on statistical tests.


Now, as far as industrial customers are concerned, it could be, yes, that they will have to pay a little bit more, because there will be fewer units of gas that will be assigned to the industrial customers; therefore, fewer units. 


If you divide the transportation costs per unit of gas, they will pay slightly higher rates.


MR. DeROSE:  And if there is fewer units available, that would also likely increase ‑‑ and if it under-forecast, this would increase the need for load balancing gas?


MR. LADANYI:  The two issues are completely separate, as I explained before.  What is done to provide and purchase upstream transportation will be done based on different decision making than what we are discussing here. 


MR. DeROSE:  Will a change in weather methodology have any impact on storage allocation?


MR. LADANYI:  Storage allocation?  I doubt very much it would have an impact on it, but if you are talking about rate design, I can't answer specifically on rate design and how that would work.  I would expect that in terms of storage allocation for gas supply planning purposes, that it will be absolutely no impact whatsoever.


MR. DeROSE:  Mr. Ladanyi, you are here to testify on change in weather methodology.  It is not simply on the rate impacts of weather methodology.  I mean, you are asking for the change.


So I think it is fair for a question such as that to say:  Is it going to impact storage allocation?  You said you think you do.


Can we leave it that if you go back to the office and you find out that you are wrong and, in fact, it will have an impact on storage allocation, that you will correct the record?


MR. LADANYI:  You have to explain to me what does the phrase "storage allocation" mean to you and I will attempt to answer it then.


MR. DeROSE:  Well, your direct purchase large volume customers, many of them are given, based on what their contract demand is, certain amounts of storage allocated for load balancing purposes.  Are you with me?


MR. LADANYI:  Yes, I am.


MR. DeROSE:  And if the storage that is allocated to those customers is in any way impacted by a change in weather methodology, we would like to know about it now.


MR. LADANYI:  I can definitely tell you it is not impacted by this weather methodology.


MR. DeROSE:  So if the weather methodology changes, it won't either increase or decrease?


MR. LADANYI:  Not the allocation of storage, no.


MR. DeROSE:  Thank you.


Mr. Ladanyi, would you agree that weather normalization methods or weather methodologies will effectively allocate weather risk between EGD's shareholder and its ratepayers?


MR. LADANYI:  I would say yes, but, again, you have to think of what I just said a few minutes ago, that the issue is one of having a level playing field.  So if you want to have a tilted playing field whereby the utility has an unfair amount of risk, then, yes, it will be a change in allocation of risk, if you want to define it that way.  


But what we are asking for is just an opportunity to have a level playing field, as simple as that.


MR. DeROSE:  Okay.  Just in terms of bringing a number to this, we've already gone through the impact of the de Bever, and that was 21.7 million set out in Board Staff 17.


Does this mean that if the Board were to approve the 20‑year trend, then the extent to which EGD's shareholder is exposed to warmer than normal weather risk will be reduced by 21 million?


MR. LADANYI:  Let me explain again.  The utility will still be at the risk for weather, just like it's always been.


The only thing we are asking to have a level playing field, to have an opportunity to have an over-forecast and under-forecast in the methodology, not to be in a situation where the methodology continuously over-forecasts the number of degree days, essentially predicts that the units of gas sold will be greater than they actually are, which means that we are in a situation where we continuously under-recover our costs.  You have to agree with me that that is unfair.


It has to be a methodology that is going to be as likely to be high as low, not one that is continuously over-predicting the number of units of gas that will be sold to customers.


MR. DeROSE:  Sorry.  Is that a "yes" to my question?


MR. LADANYI:  With a very ‑‑ a lot of qualifications.  You will have to read the transcript.


MR. KAISER:  Sir, just on that point, where in the evidence is it that we could see that the forecast that has been used has consistently over-predicted the actual, as you just referred to?


[Witness panel confers]


MS. CHAN:  So if you can turn it Exhibit C5, tab 2, schedule 6, page 2, table 1, these are the degree days that underpin the Board-approved volume budget for the past ten years from 1995 to 2005.  And, as you can see, most of the time the degree days are higher than the actual.


MR. LADANYI:  Also if we put 2006 into that list, we would have a situation of ‑‑ or 2006, we have a settled number.  The number would be ‑‑ the settled amount is 3,745 degree days, and the actual degree days are 3,355.


So we again are over-forecasting there.


MR. KAISER:  But if I look at 2001 - it is under '02 - is under, 2003 it is over, 2004 it is over, 2005 is under.


MR. LADANYI:  No, it's the other way around.  2001 is ‑‑ so the actual degree days are lower in 2001 than the budget degree days, which means that we predicted we will sell more units of gas in 1995 ‑‑ sorry, in 2001.  Sorry.


If you look at 2001, let's look at 2001.  Same thing in 2001.  In 2001, there is an over-forecast.  So the rates were designed to recover our costs over 3,808 degree days, but we actually had 3,766 degree days, so we were short of degree days.  So we ended up having essentially stranded costs or unrecovered costs, because we didn't sell enough units of gas as a result of the degree day methodology.


MR. KAISER:  But you would have to agree, in the last five years, it goes both ways?


MR. LADANYI:  For sure.


MR. KAISER:  In one case, it is under.  In two cases, it is over, or vice versa.


MR. LADANYI:  We are showing here, Mr. Chairman, ten years of data.  So it is ‑‑ so you can ‑‑ the longer the period, you know, the more significant it is.


So I think if you look at some small segment, it will be a little bit different.


MR. KAISER:  All right, thank you.


MR. DeROSE:  Thank you.


MR. KAISER:  Mr. DeRose, is this a convenient time to stop for the day?


MR. DeROSE:  If you were to give me --


MR. KAISER:  How much more do you have?


MR. DeROSE:  If you were to give me five to seven more minutes, I would be done.


MR. KAISER:  Let's do that, then.


MR. DeROSE:  And I would certainly appreciate that.  Panel, I have two last areas of questions.  The first is this:  Union has recently, as we've talked about, had a method approved, and I struggled, to a certain extent, to understand why one utility would have a different weather methodology than the other.


I am wondering if you could set out why you believe you should have a different methodology than Union that would justify one set of shareholders for one of the companies being exposed to greater weather risk than the other utility's shareholders.


MR. LADANYI:  Well, to the extent that we can speak for Union Gas ‑ and they're obviously not here in the room ‑ is that my understanding is that Union Gas applied for a 20‑year trend.  That is what they wanted to have.


What they have now was imposed on them by the Board.  So it is not that they agreed to it.  It was imposed on them.  If you were to speak to Union Gas, I am sure they will tell you the 20‑year trend works a lot better than the 50/50 method that they have right now.


MR. DeROSE:  Well, are you ‑‑ let me rephrase the question, then.  Are you aware of any differences between the companies that would justify this panel approving a 20‑year trend and not the Union methodology, so that both utilities going into incentive regulation have the same weather risk from a weather methodology perspective?


MR. LADANYI:  Let me put it another way.  What you are proposing is you're saying if the playing field is tilted against Union to a certain degree, therefore the Board should ensure that the playing field is tilted against Enbridge exactly the same way.


And what I am saying to you, both playing fields should be even, should be as fair as possible.  And it is unfortunate that the Union methodology is what it is, but it doesn't make it right.  That's one answer.


The second answer is that each methodology has to be based on the data for that particular franchise area.  And it is based on all of the issues that deal with the franchise area, whether it is going to be the housing stock, or the weather in that franchise area.  It will not necessarily work the same, whether it is in the Union Gas which is in south western Ontario and northern Ontario or with us which are in the greater Toronto area, Niagara and Ottawa.  So they will be some inherent differences.   


To some degree there is advantages to having one size fits all approach.  In other cases it isn't.  But I can assure you that Union Gas, I believe, will -- would have preferred a 20-year trend to what they have now.  


MR. DeROSE:  I have no doubt that they would have preferred a 20-year trend, but whether that makes it right or not -- we will leave that for argument.  


This is the last area and it is this.  We've already talked about the fact that the weather methodology is a manner in which this Board can assign or attribute weather risk to shareholders.  


I would put to you, and ask whether you agree, that there are some other components of this rate case which also, to a certain extent effect weather risk.  The first is, equity thickness.  


MR. LADANYI:  That's correct.  


MR. DeROSE:  And that will be dealt with in a separate panel.  The second is this, is the increase of fixed charges.  Does that affect the attribution of weather risk to shareholders?  


MR. LADANYI:  It would affect the absolute amount impact, certainly a fixed charge would have an effect.  


Now coming back to the equity thickness.  If I can comment on it, and I think you will hear about in the equity thickness evidence -- is is that the actual equity thickness that is underlying what is happening now was never based on the premise that they would be essentially a tilted playing field against the utility.  It was based that there would be an even playing field.  What we've got here is really a situation whereby we are facing a situation where the methodology is generally overforecasting units of gas that we will be selling.  


MR. DeROSE:  Mr. Ladanyi, you keep talking about uneven playing fields.  I think that is certainly getting into the realm of argument.  


Chairman Kaiser has already taken you to the fact that there is evidence on the record that shows that you are not consistently overforecasting and I will leave that to argument.  And this would be my -- actually, I will leave it right there.  


Thank you very much for the five minute indulgence.  I appreciate it and it will allow me to go back to Ottawa.  


MS. GIRVAN:  Sorry to intereject.  Is it possible for me to ask one question and then I will be finished?  


MR. KAISER:  Absolutely.  


MS. GIRVAN:  Thanks very much.  


CROSS-EXAMINATION BY MS. GIRVAN:

MS. GIRVAN:  We were talking about the impact of different methodologies earlier.  I think this goes to Mr. Vlahos and I wanted to make sure my understanding was correct.  


Relative to last year, where there were 3,745 degree days, were approved.  Assuming all else being equal, am I right in saying that de Bever would reduce the revenue requirement by 8.3 million?  


MR. LADANYI:  Not the revenue requirement.  It would actually increase the revenue forecast by 8.3 million.  


Revenue requirement remains unchanged.  


MS. GIRVAN:  Okay.  And the 20-year trend would increase it by 12.8 million?  


MR. LADANYI:  The 20-year trend would decrease the revenue forecast by 12.9 million dollars. 


MS. GIRVAN:  So the difference between the two is 21.1 million?  


MR. LADANYI:  The difference between the two?  


MS. GIRVAN:  Two methodologies. 


MR. LADANYI:  That's right.  Between the two is 21.1.  


MS. GIRVAN:  Okay, thank you very much. 


QUESTIONS FROM THE BOARD:

MR. KAISER:  Mr. Ladanyi, one last question you could possibly consider overnight.  


We know, as we have just described, the effect of de Bever and the effect of the 20-year trend.  Could you pull out the same numbers if we applied the Union methodology in this case?  Maybe you already have them.


MR. LADANYI:  Union methodology would be in column 7.  So there would be a 4.7 million dollar sufficiency if we applied the Union methodology.  


MR. KAISER:  Thank you.  


MR. VLAHOS:  Mr. Chairman if I may, before we lose Mr. DeRose.


Mr. DeRose, you were asking that there may be some other issues in this rates case that would affect weather risk.  And you mentioned the sort of fixed versus variable charges.  Then you said thickness of equity.  


MR. DeROSE:  Yes.  


MR. VLAHOS:  And I'm sorry, it must be late in the day I just can't make the connection right now.  What are you referring to?  


MR. DeROSE:  On the fixed charge or on the -- 


MR. VLAHOS:  No, on the thickness of the equity and the effect on weather risk.  


MR. DeROSE:  The fixed charges, I believe, are all settled.  That was simply saying -- 


MR. VLAHOS:  But I understand the principle there, so let's move. 


MR. DeROSE:  The equity thickness is the return on equity cost of capital issue that will be, I believe, either on Friday or Monday of next week.  So this is increasing the capital rate or the equity ratio.  I believe the application is from 35 percent to a 38 percent.  This is the deemed equity ratio.  


MR. VLAHOS:  Yes, sir.  Maybe the transcript is -- didn't pick it up, but you did say that there are some other components of this rates case which also, to a certain extent, affect weather risk.  And one of those, it is the equity thickness.  I'm trying to make the link between equity thickness and the weather risk.  I just can't.  


MR. DeROSE:  Well, first of all I actually believe this will be covered in the next panel.  But my understanding, Member Vlahos, is that when looking at the risk premium and the elements of risk embedded within a deemed equity ratio, one of the -- one of the aspects which is looked at is the exposure of the shareholder to weather risk. 


MR. VLAHOS:  I understand now. You are talking about the weather risk affecting something else.  It is not the something else affecting weather risk. 


MR. DeROSE:  Equity thickness will have no impact whatsoever or the weather methodology.  


MR. VLAHOS:  It actually was the wrong way.  


MR. DeROSE:  If we could only control the weather by deemed equity ratios we would live in a warmer climate.  


MR. VLAHOS:  A new discovery. 


PROCEDURAL MATTERS:

MR. MILLAR:  Mr. Chair, I think there were some very minor housekeeping matters before we adjourn for the day.  Mr. Stevens wanted to address that. 


MR. STEVENS:  We were hoping, Mr. Chair, just while we're on the air and while people are listening we might speak to the schedule for the rest of the week just so that everybody has the same expectations as to what will be happening. 


It is the company's understanding that the rest of the questioning for degree days will likely take the balance of the day on Thursday, based on what we've been told.  


On Friday, the company proposes to begin with the deferral and variance accounts panel and the outstanding question, I guess, based on the estimates we have received is whether or not we should be starting with the O&M OD panel on Friday also.  We are in everybody's hands on this matter, but we just wanted to raise the fact that the schedule we circulated has both Monday and Tuesday mornings set aside for the equity thickness panel.  One of the witnesses on that panel is constrained in that he won't be able to responsibly sit as a witness for full days.  So we have asked that that panel can sit only until perhaps late lunch break.  


So the OD panel would be quite broken up if it was to start Friday.  It would start Friday, and then start again perhaps sometime on Monday afternoon and then again perhaps sometime Tuesday afternoon.  We are in everybody's hands as to whether that is the better course of action or the better course of action is to finish early on Friday.  


MR. KAISER:  Mr. Shepherd, Mr. DeRose, do you have any views on this?  


MR. SHEPHERD:  Mr. Chairman, I agree with Mr. Stevens that I think it would be not useful to start OD on Friday.  I think we will go well into the day in any case on Friday, and if it means we get Friday afternoon off to prepare, we have lots of other things to do.  


MR. KAISER:  All right.  Is that convenient for you, Mr. DeRose?  


MR. DeROSE:  Well we are fine with that.  I would simply observe that this week we have actually been moving quite rapidly through some pretty complex issues, and that said, IGUA does not have a particular large stake in the OD matter so it would probably be unfair for me say move on on the Friday afternoon because I probably wouldn't be...


MR. MILLAR:  We would be talking to moving opportunity development to Monday afternoon, is that the proposal?  


MR. STEVENS:  That is really the question at hand.  I understand one of the main people interested in the OD issue is Mr. Poch, who would have to be travelling in from Ottawa.  So I am sure he would appreciate some forewarning as to whether it is going to happen or not on Friday.  


MR. KAISER:  Let's do as Mr. Shepherd suggests.  Let's start it on Monday.  That makes sense.  Is that satisfactory? 


MR. STEVENS:  That is satisfactory.  So the company's plan would be to begin with equity thickness on Monday and go as long as we can with that.  If it doesn't finish by say a late lunch time, then we would propose to fill the gap in the afternoon with OD and go back to equity thickness on Tuesday morning.  


MR. KAISER:  All right.  9:30 tomorrow.  


MR. MILLAR:  Thursday, Mr. Chair.  


MR. KAISER:  Yes.  Thursday.  


-- Whereupon hearing adjourned at 4:25 p.m. 
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